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“Men wanted for hazardous journey, small wages, bitter cold, long months of complete darkness,
constant dangers, safe return doubtful. Honour and recognition in case of success.” Advertise-
ment placed by Earnest Shackleton in 1914. He received 5000 replies. An example of extreme
risk-seeking behaviour. Hedging with options is used to mitigate risk, and would not appeal to
members of Shackleton’s expedition.

1 The First Option Trade

Many people think that options and futures are recent inventions. However, options have a long history,
going back to ancient Greece.

As recorded by Aristotle in Politics, the fifth century BC philosopher Thales of Miletus took part in a
sophisticated trading strategy. The main point of this trade was to confirm that philosophers could become
rich if they so chose. This is perhaps the first rejoinder to the famous question “If you are so smart, why
aren’t you rich?” which has dogged academics throughout the ages.

Thales observed that the weather was very favourable to a good olive crop, which would result in a bumper
harvest of olives. If there was an established Athens Board of Olives Exchange, Thales could have simply
sold olive futures short (a surplus of olives would cause the price of olives to go down). Since the exchange
did not exist, Thales put a deposit on all the olive presses surrounding Miletus. When the olive crop was
harvested, demand for olive presses reached enormous proportions (olives were not a storable commodity).
Thales then sublet the presses for a profit. Note that by placing a deposit on the presses, Thales was actually
manufacturing an option on the olive crop, i.e. the most he could lose was his deposit. If had sold short
olive futures, he would have been liable to an unlimited loss, in the event that the olive crop turned out bad,
and the price of olives went up. In other words, he had an option on a future of a non-storable commodity.

2 The Black-Scholes Equation

This is the basic PDE used in option pricing. We will derive this PDE for a simple case below. Things get
much more complicated for real contracts.

2.1 Background

Over the past few years derivative securities (options, futures, and forward contracts) have become essential
tools for corporations and investors alike. Derivatives facilitate the transfer of financial risks. As such, they
may be used to hedge risk exposures or to assume risks in the anticipation of profits. To take a simple yet
instructive example, a gold mining firm is exposed to fluctuations in the price of gold. The firm could use a
forward contract to fix the price of its future sales. This would protect the firm against a fall in the price of
gold, but it would also sacrifice the upside potential from a gold price increase. This could be preserved by
using options instead of a forward contract.

Individual investors can also use derivatives as part of their investment strategies. This can be done
through direct trading on financial exchanges. In addition, it is quite common for financial products to include
some form of embedded derivative. Any insurance contract can be viewed as a put option. Consequently, any
investment which provides some kind of protection actually includes an option feature. Standard examples
include deposit insurance guarantees on savings accounts as well as the provision of being able to redeem a
savings bond at par at any time. These types of embedded options are becoming increasingly common and
increasingly complex. A prominent current example are investment guarantees being offered by insurance
companies (“segregated funds”) and mutual funds. In such contracts, the initial investment is guaranteed,
and gains can be locked-in (reset) a fixed number of times per year at the option of the contract holder. This
is actually a very complex put option, known as a shout option. How much should an investor be willing to
pay for this insurance? Determining the fair market value of these sorts of contracts is a problem in option
pricing.



Stock Price = $22
Option Price = $1

Stock Price = $20

Stock Price =$18
Option Price = $0

Figure 2.1: A simple case where the stock value can either be $22 or $18, with a European call option, K =
$21.

2.2 Definitions

Let’s consider some simple European put/call options. At some time T in the future (the expiry or exercise
date) the holder has the right, but not the obligation, to

e Buy an asset at a prescribed price K (the exercise or strike price). This is a call option.

e Sell the asset at a prescribed price K (the exercise or strike price). This is a put option.

At expiry time T, we know with certainty what the value of the option is, in terms of the price of the
underlying asset S,

Payoff = max(S — K,0) for a call
Payoff = max(K —S,0) for a put (2.1)

Note that the payoff from an option is always non-negative, since the holder has a right but not an obligation.
This contrasts with a forward contract, where the holder must buy or sell at a prescribed price.

2.3 A Simple Example: The Two State Tree

This example is taken from Options, futures, and other derivatives, by John Hull. Suppose the value of a
stock is currently $20. It is known that at the end of three months, the stock price will be either $22 or $18.
We assume that the stock pays no dividends, and we would like to value a European call option to buy the
stock in three months for $21. This option can have only two possible values in three months: if the stock
price is $22, the option is worth $1, if the stock price is $18, the option is worth zero. This is illustrated in
Figure [2:1]

In order to price this option, we can set up an imaginary portfolio consisting of the option and the stock,
in such a way that there is no uncertainty about the value of the portfolio at the end of three months. Since
the portfolio has no risk, the return earned by this portfolio must be the risk-free rate.

Consider a portfolio consisting of a long (positive) position of ¢ shares of stock, and short (negative) one
call option. We will compute 0 so that the portfolio is riskless. If the stock moves up to $22 or goes down
to $18, then the value of the portfolio is

Value if stock goes up = $226 — 1
Value if stock goes down = $18 —0 (2.2)



So, if we choose § = .25, then the value of the portfolio is

Value if stock goes up = $226 — 1 = $4.50
Value if stock goes down = $185 — 0 = $4.50 (2.3)

So, regardless of whether the stock moves up or down, the value of the portfolio is $4.50. A risk-free portfolio
must earn the risk free rate. Suppose the current risk-free rate is 12%, then the value of the portfolio today
must be the present value of $4.50, or

4.50 x e 122 = 4367
The value of the stock today is $20. Let the value of the option be V. The value of the portfolio is

20x .25 -V = 4.367
— V =.633

2.4 A hedging strategy

So, if we sell the above option (we hold a short position in the option), then we can hedge this position in
the following way. Today, we sell the option for $.633, borrow $4.367 from the bank at the risk free rate (this
means that we have to pay the bank back $4.50 in three months), which gives us $5.00 in cash. Then, we
buy .25 shares at $20.00 (the current price of the stock). In three months time, one of two things happens

e The stock goes up to $22, our stock holding is now worth $5.50, we pay the option holder $1.00, which
leaves us with $4.50, just enough to pay off the bank loan.

e The stock goes down to $18.00. The call option is worthless. The value of the stock holding is now
$4.50, which is just enough to pay off the bank loan.

Consequently, in this simple situation, we see that the theoretical price of the option is the cost for the seller
to set up portfolio, which will precisely pay off the option holder and any bank loans required to set up the
hedge, at the expiry of the option. In other words, this is price which a hedger requires to ensure that there
is always just enough money at the end to net out at zero gain or loss. If the market price of the option
was higher than this value, the seller could sell at the higher price and lock in an instantaneous risk-free
gain. Alternatively, if the market price of the option was lower than the theoretical, or fair market value, it
would be possible to lock in a risk-free gain by selling the portfolio short. Any such arbitrage opportunities
are rapidly exploited in the market, so that for most investors, we can assume that such opportunities are
not possible (the no arbitrage condition), and therefore that the market price of the option should be the
theoretical price.

Note that this hedge works regardless of whether or not the stock goes up or down. Once we set up this
hedge, we don’t have a care in the world. The value of the option is also independent of the probability that
the stock goes up to $22 or down to $18. This is somewhat counterintuitive.

2.5 Brownian Motion

Before we consider a model for stock price movements, let’s consider the idea of Brownian motion with drift.
Suppose X is a random variable, and in time ¢t — ¢t + dt, X — X + dX, where

dX = adt + odZ (2.4)
where adt is the drift term, o is the volatility, and dZ is a random term. The dZ term has the form

dZ = ¢Vt (2.5)



where ¢ is a random variable drawn from a normal distribution with mean zero and variance one (¢ ~ N (0, 1),
i.e. ¢ is normally distributed).
If F is the expectation operator, then

B(6)=0 E(¢*)=1. (2.6)
Now in a time interval dt, we have

E(dX) = FE(adt)+ FE(cdZ)

and the variance of dX, denoted by Var(dX) is

Var(dX) = E([dX — E(dX)]?)
= E([odZ]?)
= o3dt. (2.8)

Let’s look at a discrete model to understand this process more completely. Suppose that we have a
discrete lattice of points. Let X = X at t = 0. Suppose that at t = At,

X9 — Xo+ Ah ; with probability p
X9 — Xo—Ah ; with probability ¢ (2.9)
where p + ¢ = 1. Assume that

e X follows a Markov process, i.e. the probability distribution in the future depends only on where it is
now.

e The probability of an up or down move is independent of what happened in the past.
e X can move only up or down Ah.

At any lattice point Xy + iAh, the probability of an up move is p, and the probability of a down move is q.
The probabilities of reaching any particular lattice point for the first three moves are shown in Figure
Each move takes place in the time interval ¢ — t + At.

Let AX be the change in X over the interval t — ¢t + At. Then

E(AX) = (p—qAh
E([AX]?) = p(Ah)* 4+ q(—Ah)?
= (Ah)?, (2.10)

so that the variance of AX is (over t — t + At)

Var(AX) = E([AX]?) - [E(AX)]?
(Ah)? — (p — q)*(Ah)?
= dpg(Ah)? . (2.11)

Now, suppose we consider the distribution of X after n moves, so that t = nAt. The probability of j up
moves, and (n — j) down moves (P(n,j)) is

n! . X
P(n,j) = ml’]qnﬂ (2.12)
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Figure 2.2: Probabilities of reaching the discrete lattice points for the first three moves.

which is just a binomial distribution. Now, if X, is the value of X after n steps on the lattice, then

E(X, — Xo) = nE(AX)
Var(X, — Xo) = nVar(AX), (2.13)

which follows from the properties of a binomial distribution, (each up or down move is independent of

previous moves). Consequently, from equations (2.10) 2.13)) we obtain

E(Xn —Xo) = n(p—q)Ah
t

= E(P—Q)Ah
Var(X, — Xo) = ndpg(Ah)?

t 2
Ellpq(Ah) (2.14)

Now, we would like to take the limit at At — 0 in such a way that the mean and variance of X, after a
finite time ¢ is independent of At, and we would like to recover

dX = adt+odZ
EdX) = adt
Var(dX) = o?dt (2.15)

as At — 0. Now, since 0 < p,q < 1, we need to choose Ah = Const v At. Otherwise, from equation lj
we get that Var(X,, — Xo) is either 0 or infinite after a finite time. (Stock variances do not have either of
these properties, so this is obviously not a very interesting case).



Let’s choose Ah = o/ At, which gives (from equation 1l

(p— )Lt

p—q At

Var(X, — Xo) = tdpqo? (2.16)

E(X, - Xo) =

Now, for E(X,, — Xo) to be independent of At as At — 0, we must have

(p—q) = Const. VAL (2.17)
If we choose
p—q = VAL (2.18)
o
we get
1
p = =1+ 2VAY
2 o
1
¢ = S[1-2VAY (2.19)
2 o)
Now, putting together equations (2.16{2.19)) gives
E(X,—Xo) = at
2 o’
Var(X, — Xo) = to(1— ﬁAt)
= to® ; At—0. (2.20)

Now, let’s imagine that X (¢,) — X (o) = X,, — Xo is very small, so that X,, — Xy ~ dX and t,, — ¢y ~ dt, so
that equation (2.20) becomes
EdX) = a«adt
Var(dX) = o?dt. (2.21)

which agrees with equations ([2.742.8). Hence, in the limit as At — 0, we can interpret the random walk for
X on the lattice (with these parameters) as the solution to the stochastic differential equation (SDE)

dX = adt+odZ
dz = ¢\Vdt. (2.22)

Consider the case where o = 0,0 = 1, so that dX =dZ =~ Z(t;) — Z(ti—1) = Z; — Zi—1 = X; — Xi_1.
Now we can write

t
/0 dz = Alirﬁozi:(zi“ —Z)=(Zn—2) . (2.23)

From equation (2.20) (o = 0,0 = 1) we have

E(Zn —Zy) =0
Var(Z, — Zy) = t. (2.24)

Now, if n is large (At — 0), recall that the binomial distribution (2.12]) tends to a normal distribution. From
equation (2.24)), we have that the mean of this distribution is zero, with variance ¢, so that

(Zn—20) ~ N(O1)

= /0 iz (2.25)



In other words, after a finite time ¢, fg dZ is normally distributed with mean zero and variance ¢ (the limit
of a binomial distribution is a normal distribution).

Recall that have that Z; — Z; 1 = v/ At with probability p and Z; — Z;_1 = —V At with probability q.
Note that (Z; — Z;_1)? = At, with certainty, so that we can write
(Zi — Z;i1)* ~ (dZ)* = At . (2.26)

To summarize
e We can interpret the SDE

dX = adt+odZ
dZ = ¢\Vdt. (2.27)

as the limit of a discrete random walk on a lattice as the timestep tends to zero.
e Var(dZ) = dt, otherwise, after any finite time, the Var(X,, — Xg) is either zero or infinite.

e We can integrate the term dZ to obtain

/tdZ = Z(t) — Z(0)
0
~ N(0,%). (2.28)

Going back to our lattice example, note that the total distance traveled over any finite interval of time
becomes infinite,

E(AX]) = Ah (2.29)

so that the the total distance traveled in n steps is

Ah = —Ah
" At
to
= — 2.30
~ (2.30)
which goes to infinity as At — 0. Similarly,
Az
— = 4. 2.31
A7 00 (2.31)

Consequently, Brownian motion is very jagged at every timescale. These paths are not differentiable, i.e. é—f
does not exist, so we cannot speak of

dz
E(E) (2.32)
but we can possibly define
E(dx)
. 2.
o7 (2.33)

We can verify that taking the limit as At — 0 on the discrete lattice converges to the normal density.
Consider the data in Table[2.1] The random walk on the lattice was simulated using a Monte Carlo approach.
Starting at Xg, the particle was moved up with probability p , and down with probability (1 — p).
A random number was used to determine the actual move. At the next node, this was repeated, until we
obtain the position of X after n steps, X,,. This is repeated many times. We can then determine the mean
and variance of these outcomes (see Table[2.2). The mean and variance of eX have also been included, since
this is relevant for the case of Geometric Brownian Motion, which will be studied in the next Section. A
histogram of the outcomes is shown in Figure [2.5

The Matlab M file used to generate the walk on the lattice is given in Algorithm

10



T 1.0

o 2

« .10

KXinit 0
Number of simulations | 50000
Number of timesteps 400

Table 2.1:  Data used in simulation of discrete walk on a lattice.

Variable Mean | Standard Deviation
X(T) | 0.10093 0.20035
eX(T) .22813 1.1286

Table 2.2: Test results: discrete lattice walk, data in Table[2.1].

Probability Density: Discrete Walk on a Lattice

Normal Densit;

L L |
05 1 15 2

X o

Figure 2.3: Normalized histogram of discrete lattice walk simulations. Normal density with mean .1, standard
deviation .2 also shown.
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Vectorized M file For Lattice Walk

function [X_new] = walk_sim( N_sim,N,...
mu, T, sigma, X_init)

% N_sim number of simulations

% N number of timesteps

% X_init initial value

% T expiry time
%  sigma volatility
% mu drift

%  lattice factors

delt = T/N;’ timestep size

up = sigma*sqrt(delt);

down = - sigmaxsqrt(delt);

p=1./2.%(C 1. + mu/sigma*sqrt( delt ) );

X_new = zeros(N_sim,1);
X_new(1:N_sim,1) = X_init;

ptest = zeros(N_sim, 1);
for i=1:N % timestep loop
% now, for each timestep, generate info for

% all simulations

ptest(:,1) = rand(N_sim,1);

ptest(:,1) = (ptest(:,1) <= p); % =1 if up move
% = 0 if downmove
X_new(:,1) = X_new(:,1) + ptest(:,1)*up + (1.-ptest(:,1))*down;

% end of generation of all data for all simulations
% for this timestep
end %, timestep loop

(2.34)

2.6 Geometric Brownian motion with drift

Of course, the actual path followed by stock is more complex than the simple situation described above.
More realistically, we assume that the relative changes in stock prices (the returns) follow Brownian motion
with drift. We suppose that in an infinitesimal time dt, the stock price S changes to S + d.S, where

d
?S = pdt + odZ (2.35)
where p is the drift rate, o is the volatility, and dZ is the increment of a Wiener process,

dz = ¢Vt (2.36)

where ¢ ~ N(0,1). Equations (2.35) and (2.36) are called geometric Brownian motion with drift. So,
superimposed on the upward (relative) drift is a (relative) random walk. The degree of randomness is given

12
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Figure 2.4: Realizations of asset price following geometric Brownian motion. Left: low volatility case; right:
high volatility case. Risk-free rate of return r = .05.

by the volatility o. Figure gives an illustration of ten realizations of this random process for two different
values of the volatility. In this case, we assume that the drift rate pu equals the risk free rate.
Note that

E(dS) = E(oSdZ + pSdt)
= upSdt
since E(dZ) =0 (2.37)
and that the variance of dS is
Var[dS] = E(dSQ) — [E(dS)}2
= E(c%S%dZ?)
= o*S%dt (2.38)

so that o is a measure of the degree of randomness of the stock price movement.
Equation (2.35)) is a stochastic differential equation. The normal rules of calculus don’t apply, since for
example
az

T dt

—ooasdt—0 .

The study of these sorts of equations uses results from stochastic calculus. However, for our purposes, we
need only one result, which is Ito’s Lemma (see Derivatives: the theory and practice of financial engineering,
by P. Wilmott). Suppose we have some function G = G(S, t), where S follows the stochastic process equation
, then, in small time increment dt, G — G + dG, where

G = + ) dt +0Sdz (2.39)

§96  0*S* G oc e,
o5 2 9s” ot o3

An informal derivation of this result is given in the following section.

13



2.6.1 Ito’s Lemma
We give an informal derivation of Ito’s lemma (2.39). Suppose we have a variable S which follows

dS = a(S,t)dt + b(S, t)dZ (2.40)

where dZ is the increment of a Weiner process.
Now since

d7? = ¢*dt (2.41)

where ¢ is a random variable drawn from a normal distribution with mean zero and unit variance, we have
that, if F is the expectation operator, then

B(p)=0 B¢ =1 (2.42)
so that the expected value of dZ? is
E(dZ?) = dt (2.43)

Now, it can be shown (see Section@ that in the limit as dt — 0, we have that ¢2d¢ becomes non-stochastic,
so that with probability one
dZ* = dt asdt —0 (2.44)

Now, suppose we have some function G = G(S,t), then

2
dG = GgdS + Gdt + Gss% + ... (2.45)

Now (from (2.40]) )

(dS)? (adt +b dZ)?

a?dt? + ab dZdt + b*dZ> (2.46)
Since dZ = O(V/dt) and dZ? — dt, equation (2.46) becomes
(dS)? =b%dZ” + O((dt)*'?) (2.47)

or

(dS)? — b*dt asdt — 0 (2.48)
Now, equations([2.40}f2.45][2.48]) give

ds?
dG = Gst+tht+GSST+...

2
= Ggladt+bdZ)+ dt(Gy + Gss%)

b2
= GgbdZ + (aGg + GSSE + Gy)dt (2.49)
So, we have the result that if
dS = a(S,t)dt + b(S,t)dZ (2.50)
and if G = G(S,t), then
b2

Equation (2.39)) can be deduced by setting a = 1S and b = ¢S in equation ([2.51)).
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2.6.2 Some uses of Ito’s Lemma

Suppose we have
dS = pdt + odZ . (2.52)
If 4,0 = Const., then this can be integrated (from ¢ = 0 to t = t) exactly to give
S(t) = S(0)+ ut+o(Z(t) — Z(0)) (2.53)
and from equation
Z(t)—Z(0) ~ N(0,t) (2.54)

Note that when we say that we solve a stochastic differential equation exactly, this means that we have
an expression for the distribution of S(T).
Suppose instead we use the more usual geometric Brownian motion

dS = pSdt + 0SdZ (2.55)

Let F'(S) =log S, and use Ito’s Lemma

2. ¢2
dF = FsSodZ + (FspS + FssZ o+ F)dt
o2
= (u-— E)dt +odZ (2.56)
so that we can integrate this to get
2
F(t) = F(0)+ (1 — %)t +o(Z(t) — Z(0)) (2.57)
or, since S = e,
2
o
S(t) = S(0) exp(p — o)t + o (Z(t) — Z(0))] . (2.58)

2

Unfortunately, these cases are about the only situations where we can exactly integrate the SDE (constant
o, ).

2.6.3 Some more uses of Ito’s Lemma

We can often use Ito’s Lemma and some algebraic tricks to determine some properties of distributions. Let
dX = a(X,t)dt+b(X,t)dZ (2.59)

then if G = G(X), then
b2
dG = aGX+Gt+5GXX dt + Gxb dZ . (2.60)

If E[X] = X, then (b(X,t) and dZ are independent)

EldX] = dE[S]=dX
= Ela di] + Eb] E[dZ)
= EBlad, (2.61)
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so that

_— = E =a
o [a] =@
- ¢
X:E{/ adt} . (2.62)
0
Let G = E[(X — X)?] = var(X), then
dG = FEIdG)|
= E2(X - X)a—2(X - X)a+b*] dt + E[2b(X — X)|E[dZ]
= Ep*dt]+ E2(X — X)(a—a) dt], (2.63)
which means that
t t
Gvar(X)E[/ b? dt} +EU 2(a—a)(X — X) dt| . (2.64)
0 0
In a particular case, we can sometimes get more useful expressions. If
dS = pSdt+oSdz (2.65)
with u, o constant, then
E[dS] = dS=E[uS]dt
= uSdt, (2.66)
so that
dS = uSdt
S = Spett. (2.67)
Now, let G(S) = S?, so that E[G] = G = E[S?], then (from Ito’s Lemma)
dG = E[2uS?+ ¢%S?] dt + E[25%0|E[dZ)
= E[2uS*+025?] dt
= (2p+oh)Gdt, (2.68)
so that
G = GO€(2u+U2)t
E[S?] = S2euta)t (2.69)
From equations (2.67)) and (2.69)) we then have
var(S) = E[S%] - (E[S))*
= B[S} -85°
_ SgeQ“t(eozt —1)
= S%e7t—1). (2.70)

One can use the same ideas to compute the skewness, E[(S — S)3]. If G(S) = S3 and G = E[G(9)] = E[S?],
then

dG = E[uS-35%+02S8%/2-3-2S] dt + E[35%0S|E[dZ]

E[3uS® + 30%5?]

= 3(u+oHaG, (2.71)
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so that

G = B[S
Sge?’(“J“’z)t .
We can then obtain the skewness from
E[(S-5)% = E[S®—-258%5 2552+ 87

E[S®] — 2SE[S?] - S .

Equations (2.67] 2.72)) can then be substituted into equation ([2.73)) to get the desired result.

2.6.4 More on GBM with constant coefficients

Suppose

dS = pSdt+oSdZ
then we know from equation that

E[S] = S =S .

Let X =log.S, then from Ito’s Lemma we get

2

dX = (u—(;) dt + o dZ |
which can be integrated (assuming u, o are constants)

0.2
X = Xo+ (u—2)t+UZ(t) ,

(2.72)

(2.73)

(2.74)

(2.75)

(2.76)

(2.77)

where we have assumed (without loss of generality) that Z(0) = 0. In terms of S, equation (2.77)) becomes

g — Soe(u—az/Q)teUZ(t)_

Comparing equation (2.75) and (2.78)), this implies that

E[e7ZM] = el?/2)t
We can verify this directly. Let
Y = gWit)y=eV, W=2(t); dW =dZ .
Ito’s Lemma then gives
Y = g dt+gw dW+gWTW AW?

o2
= 04+0e”V dZ + 760W dt
o2

so that

(2.78)

(2.79)

(2.80)

(2.81)

(2.82)



which gives

v = Yoe(az/2)t
el /2)t (2.83)

where once again, we assume that Wy = Zy = 0. Finally, from the definition of Y we have
E[e7?20] = ¢lo7/21 (2.84)

which agrees with equation (2.79).

2.6.5 Integration by Parts
Let X(t), Y (t) be two stochastic variables, with X (¢;) = X; and Y (¢;) =Y}, then
(Xig1 = X)) (Yign = Yi) = Xip1Yipr — XY — Xi(Yigr = Y5) = Yi( X1 — Xi) (2.85)

Hence

1=N
> (Xip1 = X)) (Yip1 = Yi) = XyaVup — XaVi - STy Xi(Yier — V) = 2V YVi(Xi — Xo)

i=1

(2.86)
Let At — 0, then the sums in equation become Ito stochastic integrals
T T T
/0 ax(hdy (') = [XY]g — /0 X#dy (t') — /0 Y(t)dx ('), (2.87)
which we can write as the Ito integration by parts rule
dXY) = YdX+XdY +dX dY . (2.88)

Note the extra term dX dY in equation (2.88]) compared with the non-stochastic integration by parts rule.

2.7 The Black-Scholes Analysis

Assume
e The stock price follows geometric Brownian motion, equation (2.35)).

e The risk-free rate of return is a constant r.
e There are no arbitrage opportunities, i.e. all risk-free portfolios must earn the risk-free rate of return.

e Short selling is permitted (i.e. we can own negative quantities of an asset).

Suppose that we have an option whose value is given by V' =V (S,t). Construct an imaginary portfolio,
consisting of one option, and a number of (—(a")) of the underlying asset. (If (a’) > 0, then we have sold
the asset short, i.e. we have borrowed an asset, sold it, and are obligated to give it back at some future
date).

The value of this portfolio P is

P=V—(a"s (2.89)

In a small time dt, P — P + dP,
dP = dV — (a")dS (2.90)

Note that in equation (2.90) we not included a term (a")gS. This is actually a rather subtle point, since
we shall see (later on) that (a”) actually depends on S. However, if we think of a real situation, at any
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instant in time, we must choose (ah), and then we hold the portfolio while the asset moves randomly. So,
equation (2.90)) is actually the change in the value of the portfolio, not a differential. If we were taking a
true differential then equation (2.90) would be

dP = dV — (a)dS — Sd(a™)

but we have to remember that (a’) does not change over a small time interval, since we pick (o), and
then S changes randomly. We are not allowed to peek into the future, (otherwise, we could get rich without
risk, which is not permitted by the no-arbitrage condition) and hence (a”) is not allowed to contain any
information about future asset price movements. The principle of no peeking into the future is why Ito
stochastic calculus is used. Other forms of stochastic calculus are used in Physics applications (i.e. turbulent
flow).

Substituting equations and into equation gives

2 Q2

2

dP = oS (Vs — (o)) dZ + (;isvs + 722 Ves 4V — u(ah)5> dt (2.91)

We can make this portfolio riskless over the time interval dt, by choosing (a”*) = Vg in equation (2.91). This
eliminates the dZ term in equation (2.91)). (This is the analogue of our choice of the amount of stock in the
riskless portfolio for the two state tree model.) So, letting

(@) = Vs (2.92)

then substituting equation (2.92)) into equation (2.91)) gives

2Q2

2

dP = (Vt +Z Vss) dt (2.93)

Since P is now risk-free in the interval ¢ — ¢ 4 dt, then no-arbitrage says that

dP = rPdt (2.94)
Therefore, equations (2.93)) and (2.94) give
252
rPdt = (‘/;5 + 5 Vss> dt (2.95)
Since
P=V—(a")S=V-VsS (2.96)
then substituting equation (2.96]) into equation (2.95)) gives
5252
Vi + ) Vss +1rSVg —rV =0 (2.97)

which is the Black-Scholes equation. Note the rather remarkable fact that equation (2.97) is independent of
the drift rate p.

Equation (2.97) is solved backwards in time from the option expiry time ¢ = T' to the present ¢ = 0.
2.8 Hedging in Continuous Time

We can construct a hedging strategy based on the solution to the above equation. Suppose we sell an option
at price V' at ¢t = 0. Then we carry out the following

e We sell one option worth V. (This gives us V in cash initially).
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e We borrow (S2% — V) from the bank.
e We buy % shares at price S.

At every instant in time, we adjust the amount of stock we own so that we always have g—g shares. Note
that this is a dynamic hedge, since we have to continually rebalance the portfolio. Cash will flow into and
out of the bank account, in response to changes in S. If the amount in the bank is positive, we receive the
risk free rate of return. If negative, then we borrow at the risk free rate.

So, our hedging portfolio will be

e Short one option worth V.
e Long ‘g—‘g shares at price S.

e V-5 % cash in the bank account.

At any instant in time (including the terminal time), this portfolio can be liquidated and any obligations
implied by the short position in the option can be covered, at zero gain or loss, regardless of the value of S.
Note that given the receipt of the cash for the option, this strategy is self-financing.

2.9 The option price

So, we can see that the price of the option valued by the Black-Scholes equation is the market price of the
option at any time. If the price was higher then the Black-Scholes price, we could construct the hedging
portfolio, dynamically adjust the hedge, and end up with a positive amount at the end. Similarly, if the price
was lower than the Black-Scholes price, we could short the hedging portfolio, and end up with a positive
gain. By the no-arbitrage condition, this should not be possible.

Note that we are not trying to predict the price movements of the underlying asset, which is a random
process. The value of the option is based on a hedging strategy which is dynamic, and must be continuously
rebalanced. The price is the cost of setting up the hedging portfolio. The Black-Scholes price is not the
expected payoff.

The price given by the Black-Scholes price is not the value of the option to a speculator, who buys and
holds the option. A speculator is making bets about the underlying drift rate of the stock (note that the
drift rate does not appear in the Black-Scholes equation). For a speculator, the value of the option is given
by an equation similar to the Black-Scholes equation, except that the drift rate appears. In this case, the
price can be interpreted as the expected payoff based on the guess for the drift rate. But this is art, not
science!

2.10 American early exercise

Actually, most options traded are American options, which have the feature that they can be exercised at
any time. Consequently, an investor acting optimally, will always exercise the option if the value falls below
the payoff or exercise value. So, the value of an American option is given by the solution to equation
with the additional constraint

V(S,t) >

{ max(S — K,0) for a call (2.98)

max(K — 5,0) for a put

Note that since we are working backwards in time, we know what the option is worth in future, and therefore
we can determine the optimal course of action.
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In order to write equation (2.97) in more conventional form, define 7 = T — ¢, so that equation (2.97))
becomes
028?

vV, = 5 Ves +1rSVs — 1V

_ _ max (S — K,0) for a call
Vis,r=0) = { max(K — S,0) for a put
VO,7) = V,=—rV

vis=eom = {25 et (29)
If the option is American, then we also have the additional constraints
VST 2 { k50 foamt (2100
Define the operator
LV=V, - ("22 Vs 4 18Vs - V) (2.101)
and let V' (S,0) = V*. More formally, the American option pricing problem can be stated as
Lv > 0
V—-v* > 0
(V-VHLV = 0 (2.102)

3 The Risk Neutral World

Suppose instead of valuing an option using the above no-arbitrage argument, we wanted to know the expected
value of the option. We can imagine that we are buying and holding the option, and not hedging. If we
are considering the value of risky cash flows in the future, then these cash flows should be discounted at an
appropriate discount rate, which we will call p (i.e. the riskier the cash flows, the higher p).

Consequently the value of an option today can be considered to the be the discounted future value. This
is simply the old idea of net present value. Regard S today as known, and let V(S 4 dS, ¢ + dt) be the value
of the option at some future time ¢ + dt, which is uncertain, since S evolves randomly. Thus

1

VS = g BV(S+dS i+ ) (3.1)

where E(...) is the expectation operator, i.e. the expected value of V(S + dS,t + dt) given that V =V (S,t)
at t = t. We can rewrite equation (3.1)) as (ignoring terms of o(dt), where o(dt) represents terms that go to
zero faster than dt )

pdtV (S,t) = E(V(S.t) +dV) — V(S,1) . (3.2)

Since we regard V as the expected value, so that E[V(S,t)] = V(S,t), and then

E(V(S,t)+dV)—-V(S,t) = E(V), (3.3)
so that equation (3.2)) becomes
pdtV (S,t) = E(dV) . (3.4)
Assume that
dsS
< = pdt + odZ . (3.5)
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From Ito’s Lemma (2.39)) we have that

202
av = (Vt—l—U; Vss—FuSVS) dt +0SVs dZ . (3.6)
Noting that
EdZ) = 0 (3.7)
then
0252
E@dVv) = (Vt + 2 Vss + ,uSV5> dt . (3.8)

Combining equations (3.413.8) gives

2¢q2

o°S
Vi + 5

Ves +uSVs —pV =0. (3.9)

Equation is the PDE for the expected value of an option. If we are not hedging, maybe this is the
value that we are interested in, not the no-arbitrage value. However, if this is the case, we have to estimate
the drift rate u, and the discount rate p. Estimating the appropriate discount rate is always a thorny issue.

Now, note the interesting fact, if we set p = r and © = r in equation then we simply get the
Black-Scholes equation .

This means that the no-arbitrage price of an option is identical to the expected value if p = r and pu = r.
In other words, we can determine the no-arbitrage price by pretending we are living in a world where all
assets drift at rate r, and all investments are discounted at rate r. This is the so-called risk neutral world.

This result is the source of endless confusion. It is best to think of this as simply a mathematical fluke.
This does not have any reality. Investors would be very stupid to think that the drift rate of risky investments
is r. I’d rather just buy risk-free bonds in this case. There is in reality no such thing as a risk-neutral world.
Nevertheless, this result is useful for determining the no-arbitrage value of an option using a Monte Carlo
approach. Using this numerical method, we simply assume that

dS = rSdt + 0SdZ (3.10)

and simulate a large number of random paths. If we know the option payoff as a function of S at t = T,
then we compute

V(S,0) = e "TEq(V(S,T)) (3.11)

which should be the no-arbitrage value.

Note the Eg in the above equation. This makes it clear that we are taking the expectation in the risk
neutral world (the expectation in the Q measure). This contrasts with the real-world expectation (the P
measure).

Suppose we want to know the expected value (in the real world) of an asset which pays V(S,t =T) at
t =T in the future. Then, the expected value (today) is given by solving

2q2

g
Vt+2

Vss +puSVs=0. (3.12)
where we have dropped the discounting term. In particular, suppose we are going to receive V = S(t =T,

i.e. just the asset at ¢ = T. Assume that the solution to equation (3.12) is V' = Const. A(t)S, and we find
that

V = Const. SetT=1 (3.13)
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Noting that we receive V = S at t =T means that
Vo= SerTH (3.14)

Today, we can acquire the asset for price S(t = 0). At t = T, the asset is worth S(¢t = T'). Equation (3.14))
then says that

E[V(St=0),t=0)] = E[S(t=0)]=S5(t=0)e"D (3.15)
In other words, if
dS = Spdt+SodZ (3.16)
then (setting t = T)
E[S] = Set (3.17)

Recall that the exact solution to equation (3.16]) is (equation (2.58]))

0_2
S(t) = S(0) expl(n — T)t +0(2(2) — Z(O))] (3.18)

So that we have just shown that E[S] = Se*! by using a simple PDE argument and Ito’s Lemma. Isn’t this
easier than using brute force statistics? PDEs are much more elegant.

4 Monte Carlo Methods

This brings us to the simplest numerical method for computing the no-arbitrage value of an option. Suppose
that we assume that the underlying process is

g =rdt +odZ (4.1)

then we can simulate a path forward in time, starting at some price today S°, using a forward Euler
timestepping method (S* = S(t;))

St = S 4 S (rAt + o¢'VAL) (4.2)

where At is the finite timestep, and ¢’ is a random number which is N(0,1). Note that at each timestep,
we generate a new random number. After N steps, with T' = NAt, we have a single realized path. Given
the payoff function of the option, the value for this path would be

Value = Payoff(SV) . (4.3)
For example, if the option was a European call, then
Value = max(SY — K,0)
K = Strike Price (4.4)

Suppose we run a series of trials, m = 1,..., M, and denote the payoff after the m’th trial as payof f(m).
Then, the no-arbitrage value of the option is

Option Value = e " E(payoff)
1 m=M
~ e_TTM Z payof f(m) . (4.5)
m=1

Recall that these paths are not the real paths, but are the risk neutral paths.
Now, we should remember that we are
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1. approximating the solution to the SDE by forward Euler, which has O(At) truncation error.

2. approximating the expectation by the mean of many random paths. This Monte Carlo error is of size
O(1/v/M), which is slowly converging.

There are thus two sources of error in the Monte Carlo approach: timestepping error and sampling error.

The slow rate of convergence of Monte Carlo methods makes these techniques unattractive except when
the option is written on several (i.e. more than three) underlying assets. As well, since we are simulating
forward in time, we cannot know at a given point in the forward path if it is optimal to exercise or hold an
American style option. This is easy if we use a PDE method, since we solve the PDE backwards in time, so
we always know the continuation value and hence can act optimally. However, if we have more than three
factors, PDE methods become very expensive computationally. As well, if we want to determine the effects
of discrete hedging, for example, a Monte Carlo approach is very easy to implement.

The error in the Monte Carlo method is then

1
Error = O | max(At, —
(e 759)
At = timestep
M = number of Monte Carlo paths (4.6)

Now, it doesn’t make sense to drive the Monte Carlo error down to zero if there is O(At) timestepping error.
We should seek to balance the timestepping error and the sampling error. In order to make these two errors

the same order, we should choose M = O(ﬁ). This makes the total error O(At). We also have that

Complexity = O(i{f)

= ()

At = O((Complexity)_l/?’) (4.7

and hence

1
Error = O <( Complexity)1/3) . (4.8)

In practice, the convergence in terms of timestep error is often not done. People just pick a timestep,
i.e. one day, and increase the number of Monte Carlo samples until they achieve convergence in terms of
sampling error, and ignore the timestep error. Sometimes this gives bad results!

Note that the exact solution to Geometric Brownian motion has the property that the asset value
S can never reach S = 0 if S(0) > 0, in any finite time. However, due to the approximate nature of our
Forward Euler method for solving the SDE, it is possible that a negative or zero S can show up. We can
do one of three things here, in this case

e Cut back the timestep at this point in the simulation so that S is positive.
e Set S =0 and continue. In this case, S remains zero for the rest of this particular simulation.

e Use Ito’s Lemma, and determine the SDE for log S, i.e. if F' = log S, then, from equation (2.56)), we
obtain (with pu=1r)
o2
dFF = (r-— ?)dt +odZ (4.9)

so that now, if F/ < 0, there is no problem, since S = e, and if F < 0, this just means that S is very
small. We can use this idea for any stochastic process where the variable should not go negative.
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Usually, most people set S = 0 and continue. As long as the timestep is not too large, this situation is
probably due to an event of low probability, hence any errors incurred will not affect the expected value very
much. If negative S values show up many times, this is a signal that the timestep is too large.

In the case of simple Geometric Brownian motion, where r, 0 are constants, then the SDE can be solved
exactly, and we can avoid timestepping errors (see Section . In this case

S(T) = S(0) exp[(r — %2)T + opVT] (4.10)

where ¢ ~ N(0,1). I'll remind you that equation (4.10) is exact. For these simple cases, we should always
use equation (4.10). Unfortunately, this does not work in more realistic situations.
Monte Carlo is popular because

e It is simple to code. Easily handles complex path dependence.

e Easily handles multiple assets.

The disadvantages of Monte Carlo methods are

e It is difficult to apply this idea to problems involving optimal decision making (e.g. American options).
e It is hard to compute the Greeks (Vg, Vsg), which are the hedging parameters, very accurately.

e MC converges slowly.

4.1 Monte Carlo Error Estimators
The sampling error can be estimated via a statistical approach. If the estimated mean of the sample is

e,TT m=M

io= 5 D payoff(m) (4.11)

and the standard deviation of the estimate is

1 m=M 1/2
w = ( s > (e Tpayof fm) ~ m?) (4.12)

m=1
then the 95% confidence interval for the actual value V' of the option is

196w o 196w
i it s

Note that in order to reduce this error by a factor of 10, the number of simulations must be increased by
100.

The timestep error can be estimated by running the problem with different size timesteps, comparing the
solutions.

(4.13)

4.2 Random Numbers and Monte Carlo

There are many good algorithms for generating random sequences which are uniformly distributed in [0, 1].
See for example, (Numerical Recipes in C++., Press et al, Cambridge University Press, 2002). As pointed
out in this book, often the system supplied random number generators, such as rand in the standard C
library, and the infamous RANDU IBM function, are extremely bad. The Matlab functions appear to be
quite good. For more details, please look at (Park and Miller, ACM Transactions on Mathematical Software,
31 (1988) 1192-1201). Another good generator is described in (Matsumoto and Nishimura, “The Mersenne
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Twister: a 623 dimensionally equidistributed uniform pseudorandom number generator,” ACM Transactions
on Modelling and Computer Simulation, 8 (1998) 3-30.) Code can be downloaded from the authors Web
site.

However, we need random numbers which are normally distributed on [—o0, +00], with mean zero and
variance one (N(0,1)).

Suppose we have uniformly distributed numbers on [0, 1], i.e. the probability of obtaining a number
between x and x + dx is

plx)de = dr ; 0<z<1
= 0 ; otherwise (4.14)
Let’s take a function of this random variable y(x). How is y(x) distributed? Let p(y) be the probability

distribution of obtaining y in [y, y + dy]. Consequently, we must have (recall the law of transformation of
probabilities)

p(x)ldz| = p(y)|dy|
or
dx
p = — . 4.15
py) p(x) i (4.15)
Suppose we want p(y) to be normal,
5 e 4.16
ply) = ﬁ : (4.16)
If we start with a uniform distribution, p(z) =1 on [0, 1], then from equations (4.1544.16]) we obtain
d —y?/2
oL . (4.17)

cTy V2T

Now, for z € [0, 1], we have that the probability of obtaining a number in [0, z] is
/ de’ = =z, (4.18)
0

but from equation (4.17]) we have

dr’ = 76_(y,)2/2d ! 4.19
= . .
5 Y ( )

So, there exists a y such that the probability of getting a ¢’ in [—o0, y] is equal to the probability of getting
2’ in [0, ],

" Ve 4.20
= — , .
/O e (4.20)
or

Y e—(W)?/2 a
oo V2T

So, if we generate uniformly distributed numbers = on [0, 1], then to determine y which are N(0,1), we do
the following

(4.21)

xr =
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e Generate x

e Find y such that

Y N2
r = —/ e W 2qy (4.22)

We can write this last step as
y=F(x) (4.23)

where F(z) is the inverse cumulative normal distribution.

4.3 The Box-Muller Algorithm

Starting from random numbers which are uniformly distributed on [0, 1], there is actually a simpler method
for obtaining random numbers which are normally distributed.

If p(x) is the probability of finding « € [z, z + dx] and if y = y(x), and p(y) is the probability of finding
y € ly,y + dy], then, from equation (4.15) we have

Ip(z)dz| = [p(y)dy| (4.24)
or

. dx

ply) = p) a (4.25)

Now, suppose we have two original random variables x1,xs2, and let p(z;,x2) be the probability of
obtaining (x1,x2) in [z1, 21 + dz1] X [x2, 22 + dxs]. Then, if

1 = iz, x0)
yo = yo(x1,72) (4.26)
and we have that
N a(xla xQ)
p1,y2) = plx1,22) | 77—~ 4.27
( ) ( ) (Y1, y2) (4.27)
where the Jacobian of the transformation is defined as
Oz, Oz
Own,a) gy g Duz (4.28)
(Y1, y2) o oy

Recall that the Jacobian of the transformation can be regarded as the scaling factor which transforms dz; dxs
to dy; dys, i.e.

8(171, IQ)

dyy dys . 4.29
D, ga) | 2 (4.29)

d331 dl‘g = ‘

Now, suppose that we have 1, ze uniformly distributed on [0,1] x [0, 1], i.e.

p(z1,22) = U(x1)U(z2) (4.30)
where
Ux) = 1 ; 0<z<1
= 0 ; otherwise . (4.31)



We denote this distribution as 21 ~ U[0,1] and x5 ~ U[0, 1].
If p(x1,z2) is given by equation (4.30), then we have from equation (4.27)) that
a(xl ) .%'2)

o(y1,y2) (4.32)

P(y1,y2) = ’

Now, we want to find a transformation y; = y1 (21, 22), y2 = y2(21, x2) which results in normal distributions
for y1,y2. Consider

Y1 v/ —2log 1 cos 2wy
Yo = \/mml 2mxs (4.33)

or solving for (za,x2)

—1
Ty = exp <2(yf + y%))
Ty = 1 tan~ |22 . (4.34)
2m (7}
After some tedious algebra, we can see that (using equation (4.34))
8(:c1 ZQ) | 1 -
’ — e Y1 /2 e v3/2 4.35
el = = (4:3)

Now, assuming that equation (4.30) holds, then from equations (4.3214.35) we have

. 1 _ 1 _
p(yl,y2) = Ee y%/2ﬁe y§/2 (436)

so that (y1,y2) are independent, normally distributed random variables, with mean zero and variance one,
or

y1~N(0,1) ; y2~N(0,1). (4.37)

This gives the following algorithm for generating normally distributed random numbers (given uniformly
distributed numbers):

Box Muller Algorithm

Repeat
Generate uy ~ U(0,1), ug ~ U(0,1)
0 = 27muy, p = v/—2loguy

z1 = pcosB; zo = psinf
End Repeat

(4.38)

This has the effect that Z; ~ N(0,1) and Zy ~ N(0,1).
Note that we generate two draws from a normal distribution on each pass through the loop.
4.3.1 An improved Box Muller

The algorithm (4.38) can be expensive due to the trigonometric function evaluations. We can use the
following method to avoid these evaluations. Let

UlNU[O,l] ) UQNU[O,I]
V1:2U1—1 N ‘/2:2[]2_1 (439)
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which means that (V1,V3) are uniformly distributed in [—1,1] x [-1,1]. Now, we carry out the following
procedure

Rejection Method

Repeat
E(VE+VE<1)
Accept
Else
Reject
Endif
End Repeat

(4.40)

which means that if we define (V4,V3) as in equation (4.39), and then process the pairs (V,V3) using
algorithm (4.40) we have that (Vi,V:) are uniformly distributed on the disk centered at the origin, with
radius one, in the (V1, V2) plane. This is denoted by

(V1,V2) ~ D(0,1) . (4.41)
If (V4,V2) ~ D(0,1) and R? = V2 4+ V2, then the probability of finding R in [R, R + dR] is

27R dR
m(1)2
= 2RdR. (4.42)

p(R) dR =

From the fundamental law of transformation of probabilities, we have that

p(R*)d(R?) = p(R)dR

2R dR (4.43)
so that
2R
2 _
P = Ty
dR
= 1 (4.44)

so that R? is uniformly distributed on [0, 1], (R* ~ U|0, 1]).
As well, if § = tan~!(V2/V}), i.e. @ is the angle between a line from the origin to the point (V, V) and
the Vi axis, then 6 ~ UJ0, 27]. Note that

i

VVE VS

sinf = L (4.45)

N

cosf =

Now in the original Box Muller algorithm (4.38)),

p=+/—2loglUy ; Uy ~UI[0,1]

0=21U, ; U, ~U[0,1], (4.46)
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but § = tan=1(V5/V;y) ~ U|0,27], and R? = UJ0, 1]. Therefore, if we let W = R?, then we can replace 6, p
in algorithm (4.38) by
1 (V2
0 = tan'(—
an (V1>

p = +/—2logW . (4.47)
Now, the last step in the Box Muller algorithm (4.38) is

Zy = pcosf
Zy = psind (4.48)

but since W = R? = V2 + V2, then cosf = V1 /R, sinf = Va/R, so that

Vi
Z =
1 p\/—
Zy = pﬁ. (4.49)

This leads to the following algorithm

Polar form of Box Muller

Repeat
Generate Uy ~ U|0,1], Uz ~ U[0, 1].
Let
Vi = 20,-1
Vo = 20p—1
W= V242

If( W < 1) then

Zy = Vi —2logW/W
Zy = Vay/—2logW/W (4.50)
End If
End Repeat

Consequently, (Z7, Zs) are independent (uncorrelated), and Z; ~ N(0,1), and Zy ~ N(0,1). Because of the
rejection step (4.40]), about (1 — 7/4) of the random draws in [—1,+1] x [—1,41] are rejected (about 21%),
but this method is still generally more efficient than brute force Box Muller.

4.4 Speeding up Monte Carlo

Monte Carlo methods are slow to converge, since the error is given by

Error = O(W)

where M is the number of samples. There are many methods which can be used to try to speed up
convergence. These are usually termed Variance Reduction techniques.
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Perhaps the simplest idea is the Antithetic Variable method. Suppose we compute a random asset path
Sl = SUuAt+ StogiV AL

where ¢ are N(0,1). We store all the ¢%,i = 1, ..., for a given path. Call the estimate for the option price
from this sample path V. Then compute a second sample path where (¢¢) = —¢',i = 1,...,. Call this
estimate V. Then compute the average

_ Vt+Vv-

pooovEeve

2
and continue sampling in this way. Averaging over all the V, slightly faster convergence is obtained. Intu-
itively, we can see that this symmetrizes the random paths.
Let X* be the option values obtained from all the VT simulations, and X~ be the estimates obtained

from all the V'~ simulations. Note that Var(X ') = Var(X ™) (they have the same distribution). Then

Xt +X- 1 1 1
Var(———) = -Var +-Var(X™7)+ -Cov , X~
—; 4V Xt 4V X 20 Xt X

1 1
EVar(XJr) + §COU<X+,X_> (4.51)

which will be smaller than Var(X™) if Cov(X+, X ™) is nonpositive. Warning: this is not always the case.
For example, if the payoff is not a monotonic function of S, the results may actually be worse than crude
Monte Carlo. For example, if the payoff is a capped call

payoff = min(Ky, max(S — K1,0))
K2 > K1

then the antithetic method performs poorly.
Note that this method can be used to estimate the mean. In the MC error estimator (4.13]), compute the

standard deviation of the estimator as w = 1/ Var(X4%=).

However, if we want to estimate the distribution of option prices (i.e. a probability distribution), then
we should not average each V' and V™, since this changes the variance of the actual distribution.

If we want to know the actual variance of the distribution (and not just the mean), then to compute the
variance of the distribution, we should just use the estimates V*, and compute the estimate of the variance
in the usual way. This should also be used if we want to plot a histogram of the distribution, or compute
the Value at Risk.

4.5 Estimating the mean and variance

An estimate of the mean Z and variance s3, of M numbers z1, xa, ..., Tp/ is

| M
U T ;1(“ —a)’
M

Alternatively, one can use

1 M Al 2
2 _ 2 .
M= 31 sz ~ <Z a:,) (4.53)



which has the advantage that the estimate of the mean and standard deviation can be computed in one loop.
Something else to be aware of, is that doing a simple sum of many numbers is prone to accumulation
of roundoff errors. A simple remedy is to do pairwise accumulation of the sum. See, for example, Accurate
floating point summation, P. Linz, Comm. ACM, vol 13 (1970) 361-362, or The accuracy of floating point
summation,, N. Higham, STAM J. Sci. Computing, vol 14 (1993) 783-799.
In order to avoid roundoff, the following method is suggested by Seydel (R. Seydel, Tools for Computa-
tional Finance, Springer, 2002). Set

ap=z1 ; B1=0 (4.54)
then compute recursively
o = o+ L4 —iai—l
B = Biat T 1)(5“2.* ai)’ (4.55)
so that
T = Qapu
$2;, = Mﬂ X - (4.56)

4.6 Low Discrepancy Sequences

In a effort to get around the ﬁ, (M = number of samples) behaviour of Monte Carlo methods, quasi-Monte

Carlo methods have been devised.

These techniques use a deterministic sequence of numbers (low discrepancy sequences). The idea here
is that a Monte Carlo method does not fill the sample space very evenly (after all, its random). A low
discrepancy sequence tends to sample the space in a orderly fashion. If d is the dimension of the space, then
the worst case error bound for an LDS method is

Error = 0(“"%\?@{1) (4.57)

where M is the number of samples used. Clearly, if d is small, then this error bound is (at least asymptotically)
better than Monte Carlo.

LDS methods generate numbers on [0, 1]. We cannot use the Box-Muller method in this case to produce
normally distributed numbers, since these numbers are deterministic. We have to invert the cumulative
normal distribution in order to get the numbers distributed with mean zero and standard deviation one on
[—00, +00]. So, if F(x) is the inverse cumulative normal distribution, then

zrps = uniformly distributed on [0, 1]
yrps = F(zrps)is N(0,1) . (4.58)

Another problem has to do with the fact that if we are stepping through time, i.e.

STl = §" 4 S"(rAt + ¢oV At)
¢»=N(0,1) (4.59)
with, say, IV steps in total, then we need to think of this as a problem in N dimensional space. In other

words, the k — th timestep is sampled from the k& — th coordinate in this IV dimensional space. We are trying
to uniformly sample from this N dimensional space.
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Let & be a vector of LDS numbers on [0, 1], in N dimensional space

1

= x|2 . (4.60)

TN
So, an LDS algorithm would proceed as follows, for the j'th trial
e Generate 27 (the j’th LDS number in an N dimensional space).

o Generate the normally distributed vector ¢/ by inverting the cumulative normal distribution for each

component ‘
F(a)
. J
g = F(f2) (4.61)
F(a}y)
e Generate a complete sample path £k =0,.... N — 1
S = Sk SErAt+ 3], ,0VAY)
(4.62)

e Compute the payoff at S = S

The option value is the average of these trials.

There are a variety of LDS numbers: Halton, Sobol, Niederrieter, etc. Our tests seem to indicate that
Sobol is the best.

Note that the worst case error bound for the error is given by equation . If we use a reasonable
number of timesteps, say 50 — 100, then, d = 50 — 100, which gives a very bad error bound. For d large, the
numerator in equation dominates. The denominator only dominates when

M ~ ¢ (4.63)

which is a very large number of trials for d ~ 100. Fortunately, at least for path-dependent options, we have
found that things are not quite this bad, and LDS seems to work if the number of timesteps is less than
100 — 200. However, once the dimensionality gets above a few hundred, convergence seems to slow down.

4.7 Correlated Random Numbers

In many cases involving multiple assets, we would like to generate correlated, normally distributed random
numbers. Suppose we have i = 1, ..., d assets, and each asset follows the simulated path

SZL+1 = SI+ SM(rAt+ (25?01‘\/&)
(4.64)

where ¢ is N(0,1) and
E(¢7d7) = pij (4.65)

where p;; is the correlation between asset ¢ and asset j.
Now, it is easy to generate a set of d uncorrelated N(0,1) variables. Call these €, ..., 4. So, how do we
produce correlated numbers? Let

(Wij = pis (4.66)
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be the matrix of correlation coefficients. Assume that this matrix is SPD (if not, one of the random variables
is a linear combination of the others, hence this is a degenerate case). Assuming ¥ is SPD, we can Cholesky
factor ¥ = LL!, so that

pij = > LixLi, (4.67)
k

Let ¢ be the vector of correlated normally distributed random numbers (i.e. what we want to get), and let
€ be the vector of uncorrelated N(0,1) numbers (i.e. what we are given).

$1 €1
é= ¢|2 ce=| 2 (4.68)
bd €d
So, given €, we have
E(eie;) = 0y
where
b = 0; ifiAj
= 1; ifi=j .
since the ¢; are uncorrelated. Now, let
i = ZLz‘jﬁj (4.69)
J

which gives

it

Z Z Liijlelej
l

J

= Y Y LijaeLy, . (4.70)
l

J
Now,
E(¢ipr) = E Z;Lijflﬁjl/fk
J

= ZXZ:LME(QEJ')LZC
J

= ZXZ:LM%LZ@

= zz:LilLfk

= py (4.71)

It is easy to show that

E(¢}) = pu=1. (4.72)

So, in order to generate correlated N (0, 1) numbers:
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e Factor the correlation matrix ¥ = LL*
e Generate uncorrelated N (0, 1) numbers ;

e Correlated numbers ¢; are given from

4.8 Integration of Stochastic Differential Equations

Up to now, we have been fairly slack about defining what we mean by convergence when we use forward
Euler timestepping (4.2) to integrate

dS =upS dt+oS dZ . (4.73)
The forward Euler algorithm is simply
SHL = S 4 Si(uh+ ¢'Vh) (4.74)

where h = At is the finite timestep. For a good overview of these methods, check out (“An algorithmic
introduction to numerical simulation of stochastic differential equations,” by D. Higham, STAM Review vol.
43 (2001) 525-546). This article also has some good tips on solving SDEs using Matlab, in particular, taking
full advantage of the vectorization of Matlab. Note that eliminating as many for loops as possible (i.e.
computing all the MC realizations for each timestep in a vector) can reduce computation time by orders of
magnitude.

Before we start defining what we mean by convergence, let’s consider the following situation. Recall that

dZ = p\Vdt (4.75)

where ¢ is a random draw from a normal distribution with mean zero and variance one. Let’s imagine
generating a set of Z values at discrete times ¢;, e.g. Z(t;) = Z;, by

Zisw = Zi+¢VAL. (4.76)

Now, these are all legitimate points along a Brownian motion path, since there is no timestepping error here,
in view of equation (2.54). So, this set of values {Z, Z1, ..., } are valid points along a Brownian path. Now,
recall that the exact solution (for a given Brownian path) of equation (4.73)) is given by equation (2.58)

S(T) = 5(0) expl(u — T}t + 0 (Z(T) - Z(0))] (4.77)

where T is the stopping time of the simulation.

Now if we integrate equation using forward Euler, with the discrete timesteps At = ¢;,1 —t;, using
the realization of the Brownian path {Zy, Z1, ..., }, we will not get the exact solution . This is because
even though the Brownian path points are exact, time discretization errors are introduced in equation .
So, how can we systematically study convergence of algorithm ? We can simply take smaller timesteps.
However, we want to do this by filling in new Z values in the Brownian path, while keeping the old values
(since these are perfectly legitimate values). Let S(T)" represent the forward Euler solution (4.74) for a
fixed timestep h. Let S(T) be the exact solution . As h — 0, we would expect S(T)" — S(T), for a
given path.

4.8.1 The Brownian Bridge

So, given a set of valid Zj, how do we refine this path, keeping the existing points along this path? In
particular, suppose we have two points Z;, Z, at (t;,tx), and we would like to generate a point Z; at t;,
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with ¢; < t; < t,. How should we pick Z;? What density function should we use when generating Z;, given
that Z;, is known?

Let x,y be two draws from a normal distribution with mean zero and variance one. Suppose we have the
point Z(t;) = Z, and we generate Z(t;) = Z;, Z(tx) = Zi, along the Wiener path,

Zy = Zit+zJtj—t; (478)
Z Zj + y\/tk —tj (479)

ZkZZi—‘rl‘\/tj—ti—‘ry\/tk—tj . (4.80)

So, given (x,y), and Z;, we can generate Z;, Z,. Suppose on the other hand, we have Z;, and we generate
Zj. directly using

Zk = Zl +Z\/tk *ti y (481)

where z is N(0,1). Then how do we generate Z; using equation (4.78)? Since we are now specifying that
we know Zj, this means that our method for generating Z; is constrained. For example, given z, we must

have that, from equations (4.80) and (4.81))
Z\/tk 7ti — X tj 7t1‘

= 4.82
Y o1, (4.82)
Now the probability density of drawing the pair (z,y) given z, denoted by p(x,y|z) is
p(@)p(y)
p(z,ylz) = —= 4.83
(@ale) = PO (4.59)

where p(..) is a standard normal distribution, and we have used the fact that successive increments of a
Brownian process are uncorrelated.

From equation (4.82)), we can write y = y(x, 2), so that p(z,y|z) = p(z, y(z, 2)|2)

_ p@)p(y(z, 2))

_ \/12? exp {;(:ﬂ +yP - zﬂ (4.84)

or (after some algebra, using equation (4.82))

1 1 9 2}
x|z) = exp |[—=(z — az
Wel) = e |glo - a9?o
I
tp —t;
e —1;
- 4.85
5= (485)
so that z is normally distributed with mean az and variance 32. Since
Zy — Z;
L (4.86)
tr —1;

we have that x has mean

Be) = Y21z, -27) (4.87)

tr —t;
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Figure 4.1:  Effect of adding more points to a Brownian path using a Brownian bridge. Note that the small

timestep points match the coarse timestep points. Left: each coarse timestep is divided into 16 substeps.
Right: each coarse timestep divided into 64 substeps.

and variance

ty — t;

E(z - B(x))?] (4.88)
ty — 1
Now, let
—F th—1;
= —(Zr— 2Z; 4.89
TS oy e (459

where ¢ is N(0,1). Clearly, x satisfies equations (4.87) and (4.89). Substituting equation (4.89) into (4.78)

gives
th —t; ti —t; (tj —ti)(te — t;)
Z' — J Zz J Z J J
’ (tk—ti> +<tk—ti> k+¢\/ (tx — ti)

where ¢ is N(0,1). Equation is known as the Brownian Bridge.

Figure shows different Brownian paths constructed for different timestep sizes. An initial coarse path
is constructed, then the fine timestep path is constructed from the coarse path using a Brownian Bridge. By
construction, the final timestep path will pass through the coarse timestep nodes.

Figure shows the asset paths integrated using the forward Euler algorithm fed with the Brow-
nian paths in Figure In this case, note that the fine timestep path does not coincide with the coarse
timestep nodes, due to the timestepping error.

(4.90)

4.8.2 Strong and Weak Convergence

Since we are dealing with a probabilistic situation here, it is not obvious how to define convergence. Given
a number of points along a Brownian path, we could imagine refining this path (using a Brownian Bridge),
and then seeing if the solution converged to exact solution. For the model SDE (4.73]), we could ask that

E[|S(T) - S™(T)|]] < Const. k" (4.91)
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Figure 4.2:  Brownian paths shown in Figure used to determine asset price paths using forward Euler
timestepping . In this case, note that the asset paths for fine and coarse timestepping do not agree at
the final time (due to the timestepping error). Eventually, for small enough timesteps, the final asset value
will converge to the exact solution to the SDE. Left: each coarse timestep is divided into 16 substeps. Right:
each coarse timestep divided into 64substeps.

where the expectation in equation (4.91)) is over many Brownian paths, and h is the timestep size. Note
that S(T') is the exact solution along a particular Brownian path; the same path used to compute S"(T).
Criterion (4.91)) is called strong convergence. A less strict criterion is

|E[S(T)] — E [S"(T)]| < Const. h" (4.92)

It can be shown that using forward Euler results in weak convergence with v = 1, and strong convergence
with v = .5.

Tableshows some test data used to integrate the SDE using method . A series of Brownian
paths was constructed, beginning with a coarse timestep path. These paths were systematically refined using
the Brownian Bridge construction. Table [1.2] shows results where the strong and weak convergence errors
are estimated as

N
Strong Error = %Z [1S(T); — Sh(T)iH (4.93)
1 = 1 &
Weak Error = |+ Z [S(T)] - % Z [S™M(T)] |, (4.94)

where S(T); is the solution obtained by forward Euler timestepping along the i’th Brownian path, and
S(T); is the exact solution along this same path, and N is the number of samples. Note that for equation
(4.73)), we have the exact solution

N

lim — Y [S(T)] = Soe'” (4.95)

but we do not replace the approximate sampled value of the limit in equation (4.94) by the theoretical limit
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Table 4.1:  Data used in the convergence tests.

Timesteps | Strong Error (4.91) | Weak Error (4.92)
72 .0269 .00194
144 .0190 .00174
288 .0135 .00093
576 .0095 .00047

Table 4.2:  Convergence results, 100,000 samples used. Data in Table []]]

(4.95). If we use enough Monte Carlo samples, we could replace the approximate expression

1 N
lim *Z[S(T)i]

N—oco N

by Spe*T, but for normal parameters, the Monte Carlo sampling error is much larger than the timestepping
error, so we would have to use an enormous number of Monte Carlo samples. Estimating the weak error
using equation will measure the timestepping error, as opposed to the Monte Carlo sampling error.
However, for normal parameters, even using equation requires a large number of Monte Carlo samples
in order to ensure that the error is dominated by the timestepping error.

In Table we can see that the ratio of the errors is about v/2 for the strong error, and about two for
the weak error. This is consistent with a convergence rate of v = .5 for strong convergence, and v = 1.0 for
weak convergence.

4.9 Matlab and Monte Carlo Simulation
A straightforward implementation of Monte Carlo timestepping for solving the SDE

dS = uSdt+oSdZ (4.96)

in Matlab is shown in Algorithm (4.97). This code runs very slowly.
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Slow.m

randn(’state’,100);

T = 1.00; % expiry time

sigma = 0.25; % volatility

mu = .10; % P measure drift

S_init = 100; % initial value

N_sim = 10000; % number of simulations
N = 100; % number of timesteps
delt = T/N; %  timestep

drift = muxdelt;

sigma_sqrt_delt = sigma*sqrt(delt);
S_new = zeros(N_sim,1);

for m=1:N_sim
S = S_init;
for i=1:N 7% timestep loop

S

S + Sx( drift + sigma_sqrt_delt*randn(1l,1) );

w0
]

max(0.0, S );
% check to make sure that S_new cannot be < 0O

end Y timestep loop
S_new(m,1) = S;
end % simulation loop

n_bin = 200;
hist(S_new, n_bin);

stndrd_dev = std(S_new);
disp(sprintf (’standard deviation: %.5g\n’,stndrd_dev));

mean_S = mean(S_new) ;
disp(sprintf (’mean: ¥%.5g\n’,stndrd_dev));

(4.97)

Alternatively, we can use Matlab’s vectorization capabilities to interchange the timestep loop and the
simulation loop. The innermost simulation loop can be replaced by vector statements, as shown in Algorithm
(4.98). This runs much faster.

40



Fast.m

randn(’state’,100);
%

T = 1.00; % expiry time

sigma = 0.25; % volatility

mu = .10; % P measure drift

S_init = 100; % initial value

N_sim = 10000; %  number of simulations
N = 100; % number of timesteps
delt = T/N; %  timestep

drift = mux*delt;
sigma_sqrt_delt = sigma*sqrt(delt);

S_old = zeros(N_sim,1);
S_new = zeros(N_sim,1);

S_0ld(1:N_sim,1) = S_init;
for i=1:N 7% timestep loop

% now, for each timestep, generate info for
% all simulations

S_new(:,1) = S_old(:,1) +...
S_old(:,1) .x( drift + sigma_sqrt_delt*randn(N_sim,1) );

S_new(:,1) = max(0.0, S_new(:,1) );
% check to make sure that S_new cannot be < 0O

S_old(:,1) = S_new(:,1);
b
% end of generation of all data for all simulations
% for this timestep

end Y, timestep loop

n_bin = 200;
hist(S_new, n_bin);

stndrd_dev = std(S_new);
disp(sprintf (’standard deviation: %.5g\n’,stndrd_dev));

mean_S = mean(S_new);
disp(sprintf(’mean: 9%.5g\n’,stndrd_dev));

(4.98)
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5 The Binomial Model: Overview

We have seen that a problem with the Monte Carlo method is that it is difficult to use for valuing American
style options. Recall that the holder of an American option can exercise the option at any time and receive
the payoff. In order to determine whether or not it is worthwhile to hold the option, we have to compare the
value of continuing to hold the option (the continuation value) with the payoff. If the continuation value is
greater than the payoff, then we hold; otherwise, we exercise.

At any point in time, the continuation value depends on what happens in the future. Clearly, if we
simulate forward in time, as in the Monte Carlo approach, we don’t know what happens in the future, and
hence we don’t know how to act optimally. This is actually a dynamic programming problem. These sorts
of problems are usually solved by proceeding from the end point backwards. We use the same idea here. We
have to start from the terminal time and work backwards.

5.1 A Binomial Model Based on the Risk Neutral Walk

Recall that we can determine the no-arbitrage value of an option by pretending we live in a risk-neutral
world, where risky assets drift at » and are discounted at r. If we let X = log S, then the risk neutral process

for X is (from equation (2.56) )

2
X = (r—%)dt+adz. (5.1)

Now, we can construct a discrete approximation to this random walk using the lattice discussed in Section
In fact, all we have to do is let let a = r — %2, so that equation is formally identical to equation
(2.4). In order to ensure that in the limit as At — 0, we get the process , we require that the sizes of
the random jumps are AX = ov/At and that the probabilities of up (p) and down (g) moves are

po= %[1+%\/A7}
1 r oo
= i+ (5-5) v
¢ = %[1—%\/55}
= i-(C-29)va, (5:2)

where we have denoted the risk neutral probabilities by p” and ¢" to distinguish them from the real proba-
bilities p, q.

Now, we will switch to a more common notation. If we are at node j, timestep n, we will denote this
node location by X7'. Recall that X =log S, so that in terms of asset price, this is 57" = eXi

Now, consider that at node (j,n), the asset can move up with probability p” and down with probability

q". In other words
St = S;L:ll ; with probability p”
st = S;H'l ;  with probability ¢"

(5.3)
Now, since in Section [2.5| we showed that AX = o\/At, so that (S = e¥)
Sii = Sjneam
Sitl = gremVAl (5.4)
or
SPo= §Qe@iTmeVA L i—0,n (5.5)
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o

Figure 5.1: Lattice of stock price values

So, the first step in the process is to construct a tree of stock price values, as shown on Figure [5.1
Associated with each stock price on the lattice is the option value V;*. We first set the value of the option
at T'= NAt to the payoff. For example, if we are valuing a put option, then

N N 5
VY = max(K -S5;,0);5=0,..,N (5.6)

Then, we can use the risk neutral world idea to determine the no-arbitrage value of the option (it is the
expected value in the risk neutral world). We can do this by working backward through the lattice. The
value today is the discounted expected future value

European Lattice Algorithm

n —rA YN ry/mn
‘/j = e t(p V7+J’11+q‘/J+1)
n=N-1,...,0
j=0,...,n (5.7)

Rolling back through the tree, we obtain the value at S today, which is V.
If the option is an American put, we can determine if it is optimal to hold or exercise, since we know the
continuation value. In this case the rollback (5.7)) becomes

American Lattice Algorithm

(ijn)c _ e—rAt (PTVJ'TEI _’_qrv'jn+1)
V]’ = max ((V}-”)C,max(K — SJT-L,O))
n=N-1,..0
ji=0,..,n (5.8)

which is illustrated in Figure |5.1
The binomial lattice method has the following advantages

e It is very easy to code for simple cases.

43



Vn+]_

j+1

Vn+1

Figure 5.2: Backward recursion step.

e [t is easy to explain to managers.
e American options are easy to handle.
However, the binomial lattice method has the following disadvantages

e Except for simple cases, coding becomes complex. For example, if we want to handle simple barrier
options, things become nightmarish.

e This method is algebraically identical to an explicit finite difference solution of the Black-Scholes
equation. Consequently, convergence is at an O(At) rate.

e The probabilities p”,q" are not real probabilities, they are simply the coefficients in a particular dis-
cretization of a PDE. Regarding them as probabilities leads to much fuzzy thinking, and complex
wrong-headed arguments.

5.2 A No-arbitrage Lattice

We can also derive the lattice method directly from the discrete lattice model in Section Suppose we
assume that

dS = pSdt + 0SdZ (5.9)

and letting X = log S, we have that

2
dX = (u— %)dt +odZ (5.10)

so that o = p — "; in equation lj Now, let’s consider the usual hedging portfolio at t = nAt, S = ST,

n o __ n h n
Pl =Vi' = (a")S}, (5.11)
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where V" is the value of the option at t = nAt, S = S7. At t = (n+ 1)At,
St = S}Z‘ff ;  with probability p
St = SJT-L+1 ;  with probability ¢
n+1 _ aon a\/E
SiiT = 5Sje
gntl — gne—ovVAat
J

J

so that the value of the hedging portfolio at t =n + 1 is

P]?l_:'ll = VjTilf(ozh)ngll ;  with probability p (5.12)
PPt — Rt (a")S7H ; with probability g . (5.13)

Now, as in Section [2.3] we can determine (o) so that the value of the hedging portfolio is independent of
p,q. We do this by requiring that

p]?fll = Pj"“ (5.14)
so that
V@S = s

which gives

n+1 n+1
Vi -V,

+1
(" = Z——21 - (5.15)
S?H o S;l
Since this portfolio is risk free, it must earn the risk free rate of return, so that
_ _—rAtpn+l
Pjn = e’ Pjn+1
—rAt pn+1
e P (5.16)

Now, substitute for P} from equation (5.11), with P;fll from equation (5.13), and (o) from equation (5.15)

gives

ijn _ e—rAt (pr*vvjrilil + qr*‘/Jn+1)
erAt _ e—am
rE
b= VAT _ omov/AtL
g =1-p". (5.17)

Note that p™, ¢"* do not depend on the real drift rate i, which is expected. If we expand p™, ¢"* in a Taylor
Series, and compare with the p”, ¢" in equations (5.2), we can show that

po= P+ 0((A*?)

7t = ¢ +O(A). (5.18)
After a bit more work, one can show that the value of the option at t = 0, V{ using either p™, ¢"* or p", q"
is the same to O(At), which is not surprising, since these methods can both be regarded as an explicit

finite difference approximation to the Black-Scholes equation, having truncation error O(At). The definition
p™*,q¢"* is the common definition in finance books, since the tree has no-arbitrage.
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What is the meaning of a no-arbitrage tree? If we are sitting at node S?

7, and assuming that there are
only two possible future states

St = Syill ;  with probability p

St = S;H'l ;  with probability ¢

then using (o) from equation guarantees that the hedging portfolio has the same value in both future
states.

But let’s be a bit more sensible here. Suppose we are hedging a portfolio of RIM stock. Let At = one
day. Suppose the price of RIM stocks is $10 today. Do we actually believe that tomorrow there are only two
possible prices for Rim stock

Sup = 10e7VA!
Sioun = 10e77VAL?

(5.19)

Of course not. This is obviously a highly simplified model. The fact that there is no-arbitrage in the context
of the simplified model does not really have a lot of relevance to the real-world situation. The best that
can be said is that if the Black-Scholes model was perfect, then we have that the portfolio hedging ratios
computed using either p”, ¢" or p"*, ¢"* are both correct to O(At).

5.3 A Drifting Lattice

All of the lattice methods we have discussed so far can be described in the following general way.

S = S’;‘jll = Sju; with probability p
SP = S;LH = S}'d ; with probability (1 — p)
Si = Squld" 7, (5.20)

where u, d are the up and down multipliers. For example, the lattice of Section [5.1] can be described by

u = (oVAL
i = 1
u
1 r o
p = 2{1+(J—2) \/At}, (5.21)

u = eoVAt
_ 1
o
a = 6T’At
a—d
= . 5.22
p " (5.22)

A problem with parameters 1' or 1} is that if rAt > o/ At, then p > 1, which is obviously undesirable.
In fact, this leads to an unstable recursion. This can be avoided by using a drifting lattice.
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Recall our random walk on a lattice in Section Let X7 = log(S7), so we will first determine our
lattice parameters for X and then use Ito’s Lemma to convert this to the GBM case. Recall that

Xl X +oVAt; with probability p

J+1
X;L'H - X7 —oV/At ; with probability (1 — p)
p_;{HZ@} . (5.23)
Define
AXF = (X"PYXT) - XD
— {oVAL —oVAT} . (5.24)
Recall that
E[AX]] = oAt
Var[AX}] = oAt (5.25)

and that the walk on the discrete lattice converges to the solution of the SDE
dX = adt+odZ (5.26)

as At — 0. Now, suppose that the drift & = 0, then from equation (5.23) p = 1/2, and the walk converges
to the SDE

dX = odZ ; At—0. (5.27)

We would like to leave p = 1/2, but change the lattice so that we recover the original drift rate. Consider
the following

X;ff = X} +oVAt+aAt
Xj’_”‘l = X7 —oVAt+aAt
AXT = {oV At + aAt,—oV At + aAt} . (5.28)

Consequently, (noting that we leave p = 1/2)

E[AXT] = p [m/E + aAt} +(1-p) [—a\/E +alt
= aAt. (5.29)
In addition
Var[AX?] = E[(AXD)?] - (E[aX]])?
- p [(m/Kt + aAt)Q] 4 (1-p) [(—a\/E: + aAt)Z] — (aAt)?
= o?At. (5.30)

Consequently, the walk with p = 1/2 and X;"H,X;lel given by equation 1) converges (as At — 0) to
the solution of the SDE

dX = adt+odZ. (5.31)
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T 1.0

o 3

So (initial price) 100
r = .02

K 100
Option Type Put

Table 5.1: Data used in lattice tests

Now, we can price options by taking the expectation in the risk neutral world. Assuming the underlying
asset follows GBM, then in the risk neutral process for the price S of the asset is given by

ds
Let X =log S, then from Ito’s Lemma we have
o2
dX = <r — 2>dt +o0dZ . (5.33)

This corresponds the risk neutral walk on the lattice with parameters

2

a = r—Z
B 2
X7 = logsS} . (5.34)

Now, substitute equation (5.34)) into equation ([5.28)) to obtain

St = S;fll = S}u ; with probability p

SP = S’;LH = S}d ; with probability (1 —p)

S
u = exploVAL + (r — 0% /2) At]
d = exp|[—o VAL + (r — 0?/2)At] . (5.35)

Consequently, we can use the usual lattice backwards recursion with parameters (5.35)), and this will converge
to the correct price.

Compared to the lattice with parameters (5.22)), the lattice with parameters (5.35)) will be stable for any
values of r, o, At. However, the lattice constructed using parameters (5.35)) is unbalanced, in the sense that
Siud # S7.

5.3.1 Numerical Comparison: No-arbitrage Lattice and Drifting Lattice

We use the test data in Table Table [5.2 shows a convergence study for both lattice methods. We expect
that the error in the lattice method is O(At). In other words

Viree(At, S, t) = V(S t) + C1 At + Co(At)? (5.36)
where C1 is independent of At. This suggests that

i Vviree((At)/2,50,t = 0) — Viree(At, S§,t = 0)
a0 Viree((At) /4,59, = 0) — Viree((At) /2, 85t = 0)

— 2. (5.37)
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Timesteps \ Value \ Change \ Ratio
American Put: No-arbitrage lattice (5.22))
500 11.0093931
1000 11.0113180 0.0037

2000 11.0122835 | 9.6550e-04 3.80
4000 11.0127632 | 4.7970e-04 2.01
8000 11.0130028 | 2.3960e-04 2.00
16000 11.0131227 1.1990e-04 2.00
European Put: No arbitrage lattice ([5.22)
500 10.8355351
1000 10.8384915 0.0029564

2000 10.839970 0.001478 2.00
4000 10.8407094 7.394e-04 2.00
8000 10.8410790 3.6960e-4 2.00

16000 10.8412639 1.8489e-04 1.99
American Put: Drifting lattice (5.35)

500 11.0114885
1000 11.0157093 0.001882
2000 11.0133918 -0.002317 -0.81225
4000 11.0139094 | 5.17599e-04 -4.476
8000 11.0134913 | -4.1809e-04 -1.2380
16000 11.0133705 | -1.20799e-04 3.46

European Put: Drifting Lattice (5.35))

500 10.8383929
1000 10.8435056 0.00511
2000 10.8413199 -0.002185 -2.344
4000 10.8420495 | 7.2909e-04 -2.996
8000 10.8416523 -3.972e-04 -1.835
16000 10.8415488 | -1.0349e-04 3.8

Table 5.2: Option value at S = 100, t = 0, data in Table [5.1] Change is the change from the previous
solution computed using 1/2 the timesteps. Ratio is ratio of successive changes.

We can see from Table [5.2] that for sufficiently small A¢, this appears to be true for the no-arbitrage
lattice parameters. However, convergence seems to be somewhat erratic for the drifting lattice parameters
. A lattice method can be viewed as an explicit finite difference method. Due to the fact that the
payoff has a discontinuous derivative at the strike, finite difference theory suggests that in order to achieve
a good rate of convergence, there should always be a lattice node at the strike. If we use an even number
of timesteps, then this is true for a no-arbitrage lattice. However, this is not true for a drifting lattice. We
suspect that this explains the poor convergence for this case.

To verify the importance of having a node at the strike, let’s use the no-arbitrage parameters , and
price a European put option with the parameters in Table except that we set Sy = 92. In general, in
this case, there will not be a node at the strike. The results are shown in Table The convergence is very
erratic.

5.4 Smoothing the Payoff

As we can see from the numerical results in Section [5.3.1] it is sometimes not possible to ensure that the
lattice has a node at the strike, which causes erratic convergence behaviour.
From the analysis of finite difference methods for PDEs, it is known that good convergence can usually
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Timesteps Value \ Change \ Ratio
European Put: No-arbitrage lattice (5.22))
500 14.5868102
1000 14.5907463 | 0.00393609
2000 14.5887935 | -0.0019528 -2.01
4000 14.5885792 | -2.14299e-04 | 9.11
8000 14.5886970 | 1.17799e-04 | - 1.81
16000 14.5885398 | -1.57200e-04 | -0.749

Table 5.3:  Option value at S = 92, t = 0, data in Table 5.1} Change is the change from the previous
solution computed using 1/2 the timesteps. Ratio is ratio of successive changes.

be restored if the payoff is smoothed appropriately.

For simplicity, we will derive the smoothing technique for the case of the no-arbitrage lattice (5.22]).
The same final expressions will also be valid for the drifting lattice parameters . For the no-arbitrage
lattice, with N = T'/(At),

SN = §heimNeval (5.38)
so that, letting X]N = log(SjN), then
XN, = XYV +20VAt
XY, = XY -20VAt. (5.39)

Let g(X) represent the payoff function. For example,

max(e® — K,0) Call
X) = 5.40
9(%) {maX(K —eX,0) Put ’ (5.40)

with strike K. Now, a simple way to smooth the payoff is take its average value around node X ]N . Let g(x)
denote the smoothed payoff. Then

1 XN +oVAt

_— x) dr . 5.41
2o/ S 9(@) (5.41)

9(Xj) =

Let u=X — XJN, then equation 1) becomes

=g = [ b (5.42)
J J 20VAL J_oyAi J ' ’

For a put, the smoothed payoff P(X jN ) would be
1 +oVAt

P(X]N) = YovVAL) /s max(K — eXJNe“7O) du
1 +ovVAL N
= — max(K — S;'e*,0) du , (5.43)
20V AL J_ovaL J
and the smoothed call payoff C'(X ) is
R 1 +oVAt
C(xyY) = VA s max (S e" — K,0) du . (5.44)
—0 t

50



For a put, from equation (5.43)),

max(K — 5} e*,0) = 0 ; ue€ [—oVAL, +0VAt]
SNe=oVAl S K (5.45)
On the other hand,
max(K — SNe*,0) = K—SNe" ; ue[-oVAt, +oVAY
SNetoVAl < K (5.46)
In this case,
1 VA (K — S]-Ve“> du = 1 <K20\/E — SN (e"m - e‘”m))
20V At —oVAL J 20V AL J
- K-SV <M> (5.47)
J 20\/A7t
If SJNe*”‘/E <K< SJNe‘“/E then
1 +oVAL
Nl max (K — Sjj-ve“70) du
1 log(K/S}Y) .
:m - (K—Sje>du
_ 2;&( [bg(K/sN) +oVAL } SN [K/sN —WED . (5.48)
Putting this all together
0 SNe=oVAL > K
ij _ JK - SN<U\/;\/E—UN) S]Ne“’m <K

720\1/5 (K [log(K/SJN) + 0\/&} — S]N [(K/S]N) —e At]) S]Ne_”m <K< S’]Ne”m

(5.49)
Similarly, the smoothed call payoff C’jJV is
0 SNetoVAl < K
éjN _ SJN <ea¢i_\/z—:m> -K S]Ne*"m > K
. (sN [ VAL _ (K/SN)] - [af 1og(K/sN)D SNe=oVAL < | < N eoVAL
(5.50)

Now, let’s repeat the test shown in Table this time using the smoothed payoffs. The results are shown
in Table The convergence is much improved, and is now close to first order.

As another check, we repeat the test for the American option in Table using the Drifting lattice
with the smoothed payoff. These results are given in Table for the case Sp = 100. Again, the
convergence is close to first order, and is much smoother than without smoothing.
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Table 5.4:

Timesteps \ Value \ Change \ Ratio
European Put: No-arbitrage lattice ([5.22)
500 14.5921428
1000 14.5902654 | -0.0018774
2000 14.5893256 | -0.00093979 | 1.997
4000 14.5888575 | -0.00046810 | 2.007
8000 14.5886207 | -0.00023749 | 1.971
16000 14.5885031 | -0.0001169 | 2.031
American Put: No-arbitrage lattice (5.22))
500 14.8598750
1000 14.8573440 -0.00253
2000 14.8559674 | -0.001376 1.839
4000 14.8552981 | -0.0006693 | 2.057
8000 14.8549594 | -0.0003387 | 1.976
16000 14.8547869 | -0.0001725 | 1.963

Option value at S = 92, t = 0, data in Table Change is the change from the previous

solution computed using 1/2 the timesteps. Ratio is ratio of successive changes. Smoothed payoff.

Table 5.5:

Timesteps \ Value \ Change \ Ratio
American Put: Drifting lattice (]5.35[)
500 11.0190437

1000 11.0162151 | -0.002828599
2000 11.0147342 | -0.001480900 | 1.910
4000 11.0140015 | -0.0007327 | 2.021
8000 11.0136218 | -0.0003797 | 1.929
16000 11.0134323 | -0.000189499 | 2.003

Option value at S = 100, ¢t = 0, data in Table Change is the change from the previous

solution computed using 1/2 the timesteps. Ratio is ratio of successive changes. Smoothed payoff. Drifting

lattice.
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Timesteps \ Value \ Change ‘ Extrapolated
American Put: Drifting lattice (5.35)

500 11.0190437
1000 11.0162151 | -0.002828599 | 11.0133865
2000 11.0147342 | -0.001480900 | 11.0132532
4000 11.0140015 | -0.0007327 11.0132687
8000 11.0136218 | - 0.0003797 11.0132421
16000 11.0134323 | -0.000189499 | 11.0132428
32000 11.0133381 | -9.419999¢-5 11.0132439
64000 11.0132903 | -4.78000e-5 11.0132425

Table 5.6: Option value at S = 100, ¢ = 0, data in Table[5.1} Change is the change from the previous solution
computed using 1/2 the timesteps. Extrapolation refers to Richardson extrapolation (5.54). Smoothed
payoff. Drifting lattice.

5.4.1 Richardson extrapolation

From Table ([5.5) it seems we have a smoothly converging set of values for different timesteps At. Let Pa¢
be the lattice result with a timestep of size At. Then

PAt == Pemact + O(At) 3 (551)
where P, qct is the exact solution. For At small, we can approximate equation (5.51)) by
Pat = Pogact + CAL+ O((AL)?) (5.52)

where C' is assumed to be a constant independent of At. Ignoring the O((At)?) term in equation (5.52)), we
can write equation (5.52)) for two different timestep sizes

PAt = Pezact + CAt
At
PAt/Q = Peract + C? 5 (553)

or, eliminating C from equations (5.53) gives
Peract = PAt/Q + (PAt/Z - PAt) . (554)

Of course, we will not get the real exact solution, but we should end up with a better estimate than P /5.
Table [5.6] shows the results of applying Richardson extrapolation for a sequence of runs with decreasing
timesteps. Note that the extrapolated solution at N = 2000 appears to have about six digits correct,
compared to the non-extrapolated result (N = 2000) which has about four digits correct.

5.5 Matlab Implementation

Here is the Matlab implementation of a European option, using the no-arbitrage lattice parameters, using
loops.
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TreeSlow.m

% Compute Black-Scholes option value using a binomial tree
% European case
% uses loops

S0 = 100; % SO - current stock price

K=100; % K - strike

T =1.0; % T - expiry time

r = .02; % r - interest rat

sigma = .3; % sigma - volatility

opttype = 1; % opttype - 0 for a call, otherwise a put

Nsteps = 10000; J Nsteps - number of timesteps

delt = T/Nsteps;

% tree parameters

exp(sigma * sqrt(delt) );
1./u;

exp( r*delt );

(a - d/(u - d;

T o
nwn

% payoff at t=T
W= zeros(Nsteps+1,1);

% W(j+1,1) corresponds to node S_{j}"N
yA j=0,...,Nsteps

for j=0: Nsteps
W(j+1,1) = SO*u”(j)*d~ (Nsteps -j);
% offest by one since
% matlab arrays start at 1
end

%vector operations

if ( opttype == 0)

W =max( W - K, 0);
else

W=max( K - W, 0);
end

% backward recursion
for n=Nsteps-1:-1:0
for j=0:n 7 matlab arraya start at 1
W(j+1,1) = exp(-r*delt)*( p*W(j+2,1) + (1-p)*W(j+1,1) );
end
end

value = W(1);

disp(sprintf(’Tree Value: %.9g \n’,value));
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It is, of course, more efficient to vectorize Matlab code, i.e. avoid using explicit loops, as in TreeFast.m.

TreeFast.m

%

% Compute Black-Scholes option value using a binomial tree
% European case

% vectorized code

S0 = 100; % SO - current stock price

K=100; % K - strike

T=1.0; % T - expiry time

r = .02; % r - interest rate

sigma = .3; % sigma - volatility

opttype = 1; % opttype - O for a call, otherwise a put
Nsteps = 10000; % Nsteps - number of timesteps

delt = T/Nsteps;
% tree parameters

= exp(sigma * sqrt(delt) );
=1./u;

= exp( rxdelt );
=(a-d/(u-d;

T Qe
[

% payoff at t=T

W = S0*d." ([Nsteps:-1:0]’) .*u.” ([0:Nsteps]’);
% W is column vector of size Nsteps+l X 1
if ( opttype == 0)
W =max( W - K, 0);
else
W =max( K - W, 0);
end

% backward recursion
for i=Nsteps:-1:1
W = exp(-r*delt)*( p*W(2:i+1) + (1-p)*W(1l:i) );
end

value = W(1);

disp(sprintf (’Tree Value: %.9g \n’,value));

5.5.1 American Case

Implementing the American case requires the payoff at each node in the tree. This can be done efficiently
using vector statements. For example, since S]”jll = S}'u, then we generate the asset prices at timestep n in

terms of the asset prices at timestep n + 1, using a vector statement.
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Code Fragment: American Option

S = SO0xd.”~ ([Nsteps:-1:0]’) .*u.”~([0:Nsteps]’); % column vector
% S at t=N

for i=Nsteps:-1:1
W = exp(-rxdelt)*( p*W(2:i+1) + (1-p)*W(1:i) );
S = S(2:i+1,1)/u; % S at timestep i
% add American Check

end

5.5.2 Discrete Fixed Amount Dividends

In real life, fixed (not proportional) dividends are usually announced in advance of the dividend date.
Implementing this in a binomial tree is a source of much confusion. Many textbooks get this wrong. For a
discussion of various approaches, and their problems, see (Back to basics: a new approach to discrete dividend
problem, Wilmott Magazine (2003), Volume 9, Haug, Haug and Lewis; Efficient Pricing of Derivatives
on Assets with Discrete Dividends, Applied Mathematical Finance (2006) Vol 13, pages 265-284, M. H.
Vellekoop, J. W. Nieuwenhuis).

Some common suggestions are:

e Use a non-recombining tree (very slow)
e Use an escrowed dividend model (does not converge to the correct solution in some cases).

We go back to basics here. Suppose the announced dividend at tp is D*. Let S(t},) be the value of the
stock price the instant after the dividend is paid, and S(¢5) be the value of the stock just before ¢p. Then,
by no-arbitrage

S(th) =S(tp)—D*. (5.55)

But equation (5.55) is not quite right. The actual dividend paid cannot be more than the stock price
(otherwise there is an arbitrage opportunity). So, we modify equation ((5.55))

S(th) = S(tp) —min(D* ,S(ty)). (5.56)
Let V(S,t) be the value of an option. By no-arbitrage, we must have
V(S(tp).tp) = V(S(th) . th) - (5.57)

We simply apply equation at any dividend date. Of course, S (tE) may not correspond to a node
in the tree, so we have to interpolate to get the value we need. If we use linear interpolation, this introduces
an error of size O(At), which is the same order as the usual O(At) lattice error. A function which does this
operation is shown in dividend.m.
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T 1.0

o 2

So (initial price) | 100
r .05

K 100

Option Type Put
American Yes
Dividend date tp 0.5
Dividend value D* | 5.0

Table 5.7: Data used in discrete dividend example.

Timesteps | Value | Change | Extrapolated
American Put: No-arbitrage lattice (]5.22[)
2000 8.44264346
4000 8.44181828 | -0.00082517 | 8.44099311
8000 8.44142316 | -0.00039511 | 8.44102805
16000 8.44120877 | -0.00021439 | 8.44099438

Table 5.8: Discrete dividend example. Option value at S = 100, ¢ = 0, data in Table Change is the
change from the previous solution computed using 1/2 the timesteps. Extrapolation refers to Richardson
extrapolation (5.54]). Smoothed payoff.

dividend.m
function W_out = dividend( W_in, S, div_value)
% W_in:

% S
% div_value:

value of option at t~+
asset prices
discrete dollar dividend

W_out: option value at t~-

assume American constraint applied in caller

S_min = min(S);
S_ex = S - div_value; % ex dividend stock value
S_ex = max( S_ex, S_min); % make sure that

% dividend payment does

% not cause S < S_min
W_out = interpl( S, W_in, S_ex);

5.5.3 Discrete Dividend Example
The parameters for this example are given in Table Computational results are shown in Table
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5.6 Dynamic Programming

Note that in equation we were able to determine the optimal strategy for exercising an American option
by working backwards through the lattice, and comparing the value of immediate exercise with the value of
continuing to hold. This is an example of the Dynamic Programming Principle.

This idea was originally developed by Richard Bellman. Here is a quote from his address to the American
Mathematical society in 1953:

“An optimal policy has the property that, whatever the initial state and initial decision, the
remaining decisions must constitute an optimal policy given the state resulting from that first
decision.”

This can be stated more succinctly as

Principle of Optimality From any point on an optimal trajectory, the remaining trajectory is
optimal for the corresponding problem initiated at that point.

Here is a classic example of the application of dynamic programming. Suppose you desire to marry the
richest person you meet. We make the assumptions that

e If you ask anyone to marry you, they will immediately accept.
e You are allowed to meet only N persons.
e The wealth of each person is randomly uniformly distributed in [0, 1].

What is the optimal strategy to maximize the expected wealth of your marriage partner?

One way to solve this problem would be think about what happens when you meet the first person. You
could then compare that person’s wealth with what you might expect to get later on if you rejected the first
person. But, what you expect to get later on is a complicated mixture of all the possible decisions you could
make later. This becomes very difficult to work out.

This is where the Principle of Optimality comes to the rescue. Let’s consider the simple problem of what
to do if you encounter potential partner N — 1. At this stage, you only have two choices

e Ask N — 1 to marry you.
e Marry partner N.

What should you do? If you marry partner N, then the expected wealth of N is .5. Thus, you should marry
N — 1 if his/her wealth is more than .5, otherwise marry N. The probability that partner N — 1 has wealth
greater than .5 is .5. You thus marry partner N — 1 about 1/2 the time, and 1/2 the time you will marry
partner N. The expected wealth of partner N — 1, given that you marry him/her is (.5 +1)/2 = .75.

Let Vv be the expected value of a partner at step N. In this case Vy = .5. Let Wy_1 be the wealth of
a partner you marry at step N — 1 (assuming you stop at step N — 1). Let Wy_; be the expected wealth
of your partner at step N — 1 assuming you act optimally. More precisely

WN—l = E[WN_1|WN_1 >VN] (5.58)

where E[] is the expectation operator. Let p be the probability that Wx_1 > V. Your expected partner
wealth at step N — 1 is thus

VN1 = pX WN,1 +(1 —p) X VN (559)
= HX.TH54+.5%x.5
— 625 (5.60)

Note that Vy_1 is the expected partner wealth assuming you act optimally at step N — 1.
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Now, writing down equation (5.59)) at step N — 2 gives
Vg = pXWn_a+(1—p)x VN
p= P’I“Ob[WN,Q > VNfl]
WN,Q = E[WN,2|WN,2 > VNfl] (561)

Since Viy_1 = .625, we have p = (1—.625) = .375, and W y_o = (.625+1)/2 = .8125. Your expected partner
wealth at step N — 2 is then

Vn_og = .375x WNfz +.625 x Vn_1
= .375 x .8125 + .625 x .625
— 6953125 (5.62)

Again, note that Viy_s is the expected partner wealth assuming you act optimally at steps N — 2, N — 1.
We can continue working backwards to step N — 3, N — 4 and so on. In general

Vi = pxWi+(1-p)xVip
p = Prob[Wy, > Vi41]
Wy = E[Wi|[Wi > Vi), (5.63)
where
Vi = [E[Wealth of partner, at step k, assuming optimal strategy
used at steps k, k + 1,...]
Wi = Wealth of partner k assuming it is optimal to stop at step k . (5.64)

This algorithm is shown in Figure [5.3] If N = 10, then the expected partner wealth is about .861.

6 More on Ito’s Lemma

In Section [2.6.1] we mysteriously made the infamous comment
...it can be shown that dZ? — dt as dt — 0

In this Section, we will give some justification this remark. For a lot more details here, we refer the
reader to Stochastic Differential Equations, by Bernt Oksendal, Springer, 1998.
We have to go back here, and decide what the statement

dX = adt+cdZ (6.1)
really means. The only sensible interpretation of this is
t t
X(t) - X(0) = / (X (s), 5)ds + / (X (s), $)dZ(s) - (6.2)
0 0
where we can interpret the integrals as the limit, as At — 0 of a discrete sum. For example,
t j=N-1
/0 (X (s),8)dZ(s) = AI%IBO 2 ¢;AZ;
¢j = c(X(t5),t;)
Zj = Z(t;)
AZj = Z(tj41) — Z(t;)
At =t —t,
N =t/(At) (6.3)
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Vv

° k+1
W, <V
Ko V,,, = Value of continuing
to step (k+1)
V, e
“ W, = Value of stopping
atstep k
Wk > Vk+1
Stop
° Vk+1
(1-p)
Vk
p

p=Prob(W,>V,,,)
L]
E[W,|W>V,,,]

Figure 5.3: The dynamic programming algorithm. Vj; is the value of continuing, assuming the optimal
strategy is followed at steps k+ 1,k + 2, ...

In particular, in order to derive Ito’s Lemma, we have to decide what

t
/ c(X(s),s) dZ(s)? (6.4)
0
means. Replace the integral by a sum,
¢ j=N-1
c(X(s),s) dZ(s)*> = lim c(X;,t))AZ? . (6.5)
/0 At—=0 jgo I

Note that we have evaluated the integral using the left hand end point of each subinterval (the no peeking
into the future principle).
From now on, we will use the notation

j=N-1
= . (6.6)
J J=0
Now, we claim that
¢ ¢
/ c(X(s),8)dZ%(s) = / (X (s),s)ds (6.7)
0 0
or
dim ;CJAZ] lim j c;At (6.8)
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which is what we mean by equation (6.7). i.e. we can say that dZ? — dt as dt — 0.
Now, let’s consider a finite At, and consider the expression

E Y ¢Az; = ciAt (6.9)
J J

If equation tends to zero as At — 0, then we can say that (in the mean square limit)

dimy | LaaZi| = fim 2 et
t
= / c(X(s),s) ds (6.10)
0
so that in this sense
t t
/ c(X,s) dZ* = / c(X,s) ds (6.11)
0 0
and hence we can say that
dz? — dt (6.12)

with probability one as At — 0.
Now, expanding equation gives

2
E D ¢Az; = ciit = Y E[¢(AZ] - At)ei(AZ} - At)] (6.13)
J J ij
Now, note the following
e The increments of Brownian motion are uncorrelated, i.e. Cov[AZ; AZ;] = 0, i # j, which means

that Cov [AZ} AZ?| =0, or E [(AZ} — At)(AZ? — At)] = 0,0 #j.
o ¢; =c(t;, X(Z;)), and AZ; are independent.

It then follows that for ¢ < j

E [¢j(AZ; — At)e;(AZ; — At)] = Eleic;(AZ} — At E[(AZ] — At))]
= 0. (6.14)
Similarly, if ¢ > j
E[c;(AZ} — At)e;(AZ} — At)] = Elcic;(AZ] — A E[(AZ] — At)]
= 0. (6.15)

So that in all cases
E[¢j(AZ; — At)e;(AZ; — At)] = 6;E [} (AZ] — At)*] . (6.16)
It also follows from the above properties that

E[c}(AZ] — At?] = Elc] E[(AZ] — At)’] (6.17)
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since ¢; and (AZ; 2 At) are 1ndependent

Using equations (6.16 , then equation (6.13]) becomes

> E[cj(AZ] - At) ¢i(AZ] - At)] Z E[c}] E[(AZ} - AY?] . (6.18)

Now,

ZE [(AZ? - ZE E[AZ!] —2AtE [AZ] + (At)?) . (6.19)

Recall that AZ is N (0, At) ( normally distributed with mean zero and variance At) so that

E[(AZ)?] = At
E[(AZ)'Y] = 3(At)? (6.20)
so that equation becomes
E[AZ}] —2MtE [AZY] + (At)? = 2(At)? (6.21)
and
S E[]] E[(AZ? - At?] = 2> E[c]|(At)?
= 2At (Z E[cf]At)
= O(At) l (6.22)
so that we have
>
E (> ¢Az; = ciit = O(At) (6.23)

or

lim F
At—0

(ZCJAZJZ— /Otc(s,X(s))ds)Q] = 0 (6.24)

so that in this sense we can write

dz* — dt ; dt—0. (6.25)

7 Derivative Contracts on non-traded Assets and Real Options

The hedging arguments used in previous sections use the underlying asset to construct a hedging portfolio.
What if the underlying asset cannot be bought and sold, or is non-storable? If the underlying variable is
an interest rate, we can’t store this. Or if the underlying asset is bandwidth, we can’t store this either.
However, we can get around this using the following approach.
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7.1 Derivative Contracts

Let the underlying variable follow
dS = a(S,t)dt +b(S,t)dZ, (7.1)

and let F' = F(S,1), so that from Ito’s Lemma
b2
dFF = aFs + 5F55—|—Ft dt +bFsdZ, (7.2)

or in shorter form

dF = pdt+o*dZ
b2
w=aFg+ EFSS + F}

o* =bFy . (7.3)

Now, instead of hedging with the underlying asset, we will hedge one contract with another. Suppose we
have two contracts Fy, Fy (they could have different maturities for example). Then

dFy = dt+ojdZ
dFy = pedt+o5dZ
pi = a(Fi)s + %(Fi)ss + (F5)e
ol =b(F)s ; i=1,2 . (7.4)
Consider the portfolio II
II=n1F +noFy (7.5)
so that
dll = nq dF) +ne dFs
= ny(p1 dt+ o7 dZ) + no(us dt + o dZ)
= (nip1 + nops) dt + (n1oy + neo3) dZ . (7.6)
Now, to eliminate risk, choose
(n1o] 4+ ng03) =0 (7.7)
which means that II is riskless, hence
dll = rIldt, (7.8)
so that, using equations , we obtain
(nipg +nope) = r(niFy +nokFy). (7.9)
Putting together equations and gives
M1 i17“Fl H2 EQTFQ ] [ Z; ] - [ 8 } ' (7.10)
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Now, equation ([7.10]) only has a nonzero solution if the two rows of equation ([7.10]) are linearly dependent.
In other words, there must be a Ag = Ag(S,t) (independent of the type of contract) such that

M1 — TFl = )\Sdik
uo —rFy = Agoj . (7.11)
Dropping the subscripts, we obtain
—rF
= As (7.12)
o

Substituting u,o* from equations (7.3]) into equation (|7.12)) gives
b2
Ft+5Fss+(a—)\gb)FS—rF:0 . (7.13)

Equation ([7.13)) is the PDE satisfied by a derivative contract on any asset S. Note that it does not matter
if we cannot trade S.
Suppose that F» = S is a traded asset. Then we can hedge with S, and from equation ([7.11)) we have

o —1rS = Agos (7.14)

and from equations (7.1)) and (7.3)) we have

*

09 =
o = a (7.15)
and so, using equations (|7.11) and (7.15)) , we have that
—rS
As = 2T (7.16)
b
and equation (|7.13)) reduces to
b2
Ft-f—EFss-‘r?“SFs—?"F:O . (7.17)
Suppose
po= Fu
o = Fo (7.18)
so that we can write
dFF = Fu'dt+ Fo'dZ (7.19)
then using equation ([7.18]) in equation ([7.12)) gives
o= r+Aigo’ (7.20)

which has the convenient interpretation that the expected return on holding (not hedging) the derivative
contract F' is the risk-free rate plus extra compensation due to the riskiness of holding F'. The extra return
is Ago’, where Ag is the market price of risk of S (which should be the same for all contracts depending on
S) and ¢’ is the volatility of F. Note that the volatility and drift of F' are not the volatility and drift of the
underlying asset S.
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If we believe that the Capital Asset Pricing Model holds, then a simple minded idea is to estimate
>\S = pS]y])\M (721)

where Ajps is the price of risk of the market portfolio, and pgas is the correlation of returns between S and
the returns of the market portfolio.

Another idea is the following. Suppose we can find some companies whose main source of business is
based on S. Let g; be the price of this companies stock at ¢ = t;. The return of the stock over t; — t;_1 is

qi—1

R =

Let RM be the return of the market portfolio (i.e. a broad index) over the same period. We compute 3 as
the best fit linear regression to

R; = a+pBRM
which means that
Cov(R, RM)
— - 7.22
p Var(RM) (7.22)
Now, from CAPM we have that
E(R) = r+B[BRY)-r] (7.23)

where F(...) is the expectation operator. We would like to determine the unlevered 8, denoted by £*, which
is the 8 for an investment made using equity only. In other words, if the firm we used to compute the
above has significant debt, its riskiness with respect to S is amplified. The unlevered 8 can be computed by

E

u o _ .24
= a5’ (7.24)
where

D = long term debt

FE = Total market capitalization

T. = Corporate Tax rate . (7.25)

So, now the expected return from a pure equity investment based on S is
E(R") =r+ B“[ERM)-r] . (7.26)

If we assume that F' in equation ([7.19)) is the company stock, then

W = B(RY)
r+p* [E(RM) —r] (7.27)
But equation says that
o= r+rso. (7.28)
Combining equations gives
Aso’ = BY[ERM)—r1] . (7.29)
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Recall from equations ([7.3)) and ([7.18) that

* . FO,/
o* = bFS ,
or
bFs
= == 7.30
o 2 (7.30)

Combining equations (|7.2917.30) gives
g = L 2 (7.31)

In principle, we can now compute Ag, since

e The unleveraged g is computed as described above. This can be done using market data for a specific
firm, whose main business is based on S, and the firms balance sheet.

e b(S,t)/S is the volatility rate of S (equation (7.1)).

e [E(RM) —r] can be determined from historical data. For example, the expected return of the market
index above the risk free rate is about 6% for the past 50 years of Canadian data.

e The risk free rate r is simply the current T-bill rate.

e Fg can be estimated by computing a linear regression of the stock price of a firm which invests in
S, and S. Now, this may have to be unlevered, to reduce the effect of debt. If we are going to now
value the real option for a specific firm, we will have to make some assumption about how the firm will
finance a new investment. If it is going to use pure equity, then we are done. If it is a mixture of debt
and equity, we should relever the value of Fg. At this point, we need to talk to a Finance Professor to
get this right.

7.2 A Forward Contract

A forward contract is a special type of derivative contract. The holder of a forward contract agrees to buy or
sell the underlying asset at some delivery price K in the future. K is determined so that the cost of entering
into the forward contract is zero at its inception.

The payoff of a (long) forward contract expiring at ¢ = T is then

V(S,r=0) = S(T)-K. (7.32)
Note that there is no optionality in a forward contract.
The value of a forward contract is a contingent claim. and its value is given by equation ([7.13])
2

b
Vit 5 Vss + (a=Asb)Vs =1V =0. (7.33)

Now we can also use a simple no-arbitrage argument to express the value of a forward contract in terms
of the original delivery price K, (which is set at the inception of the contract) and the current forward price
f(S,7). Suppose we are long a forward contract with delivery price K. At some time ¢t > 0, (7 < T'), the
forward price is no longer K. Suppose the forward price is f(.5, 7), then the payoff of a long forward contract,
entered into at (7) is

Payoff = S(T)— f(S(7),7) .
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Suppose we are long the forward contract struck at ¢ = 0 with delivery price K. At some time t > 0, we
hedge this contract by going short a forward with the current delivery price f(S,7) (which costs us nothing
to enter into). The payoff of this portfolio is

S—-K-(S-f)=f-K (7.34)
Since f, K are known with certainty at (S, 7), then the value of this portfolio today is
(f—K)e ™. (7.35)
But if we hold a forward contract today, we can always construct the above hedge at no cost. Therefore,
V(s,t) = (f—-K)e . (7.36)

Substituting equation ([7.36)) into equation ([7.33]), and noting that K is a constant, gives us the following
PDE for the forward price (the delivery price which makes the forward contract worth zero at inception)
2
Jr = S fss + (@ = Asb)fs (7.37)
with terminal condition

f(S,7=0)=5 (7.38)

which can be interpreted as the fact that the forward price must equal the spot price at t = T.

Suppose we can estimate a,b in equation , and there are a set of forward prices available. We can
then estimate Ag by solving equation and adjusting Ag until we obtain a good fit for the observed
forward prices.

7.2.1 Convenience Yield

We can also write equation (7.37)) as

2
ft+%fss+(7“—5)5fs =0 (7.39)

where ¢ is defined as

a—)\sb

§—=r—
" S

. (7.40)

In this case, we can interpret § as the convenience yield for holding the asset. For example, there is a
convenience to holding supplies of natural gas in reserve.

7.2.2 Volatility of Forward Prices

From equation ([7.37)) we have that the forward price for a contract expiring at time T, at current time ¢,
spot price S(t) is given by

f(8:t) = E®S(D)] (7.41)
where S follows the risk neutral process
dS = (a—Agb)dt+bdZ . (7.42)

In other words. the forward price is the risk neutral expected spot price at expiry.
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Now, using Ito’s Lemma and assuming the risk neutral spot process ([7.42)) gives

2
af = (fi+ %fss + (a— Asb)fs) dt + fsb dZ . (7.43)

But since f satisfies equation (7.37)), equation ([7.43]) becomes
df = fsbdZ
= o6fdZ, (7.44)
where the effective volatility of the forward price is

fsb
2.

Note that from equation ([7.44)), the forward price has zero drift.

5’:

(7.45)

8 Discrete Hedging

In practice, we cannot hedge at infinitesimal time intervals. In fact, we would like to hedge as infrequently as
possible, since in real life, there are transaction costs (something which is ignored in the basic Black-Scholes
equation, but which can be taken into account and results in a nonlinear PDE).

8.1 Delta Hedging

Recall that the basic derivation of the Black-Scholes equation used a hedging portfolio where we hold Vg
shares. In finance, Vg is called the option delta, hence this strategy is called delta hedging.
As an example, consider the hedging portfolio P(t) which is composed of

e A short position in an option —V(¢).
e Long a(t)"S(t) shares
e An amount in a risk-free bank account B(t).
Initially, we have
P(0)=0 = =V(0)+a(0)"S(0)+ B(0)

o = VS
B(0) = V(0) — a(0)"5(0)

The hedge is rebalanced at discrete times ¢;. Defining

ol = Vs(Si, ti)

?

then, we have to update the hedge by purchasing «; — a;_1 shares at ¢ = t;, so that updating our share
position requires

S(ti)(aff — o)

in cash, which we borrow from the bank if (o —a ;) > 0. If (e —a ;) < 0, then we sell some shares and
deposit the proceeds in the bank account. If At =¢; —¢;_1, then the bank account balance is updated by

At h h
Bi =e' Bi,1 — Si(ai — 0%‘71)

68



At the instant after the rebalancing time ¢;, the value of the portfolio is
P(ti) = —V(ti) + a(ti)hS(ti) + B(tl)

Since we are hedging at discrete time intervals, the hedge is no longer risk free (it is risk free only in the
limit as the hedging interval goes to zero). We can determine the distribution of profit and loss ( P& L) by
carrying out a Monte Carlo simulation. Suppose we have precomputed the values of Vg for all the likely (S, )
values. Then, we simulate a series of random paths. For each random path, we determine the discounted
relative hedging error
e—rT*P(T*)
error = VSt =0) (8.1)

After computing many sample paths, we can plot a histogram of relative hedging error, i.e. fraction of Monte
Carlo trials giving a hedging error between E and EF+AFE. We can compute the variance of this distribution,
and also the value at risk (VAR). VAR is the worst case loss with a given probability. For example, a typical
VAR number reported is the maximum loss that would occur 95% of the time. In other words, find the value
of E along the x-axis such that the area under the histogram plot to the right of this point is .95x the total
area.

As an example, consider the case of an American put option, T' = .25, 0 = .3, r = .06, K = Sy = 100. At
t =0, Sy = 100. Since there are discrete hedging errors, the results in this case will depend on the stock drift
rate, which we set at g = .08. The initial value of the American put, obtained by solving the Black-Scholes
linear complementarity problem, is $5.34. Figure m shows the results for no hedging, and hedging once
a month. The x-axis in these plots shows the relative P & L of this portfolio (i.e. P & L divided by the
Black-Scholes price), and the y-axis shows the relative frequency.

Actual P& L

lative P& L = ?
Relative P& Black-Scholes price 2

Note that the no-hedging strategy actually has a high probability of ending up with a profit (from the
option writer’s point of view) since the drift rate of the stock is positive. In this case, the hedger does
nothing, but simply pockets the option premium. Note the sudden jump in the relative frequency at relative
P&L = 1. This is because the maximum the option writer stands to gain is the option premium, which
we assume is the Black-Scholes value. The writer makes this premium for any path which ends up S > K,
which is many paths, hence the sudden jump in probability. However, there is significant probability of a
loss as well. Figure also shows the relative frequency of the P&L of hedging once a month (only three
times during the life of the option).

In fact, there is a history of Ponzi-like hedge funds which simply write put options with essentially no
hedging. In this case, these funds will perform very well for several years, since markets tend to drift up on
average. However, then a sudden market drop occurs, and they will blow up. Blowing up is a technical term
for losing all your capital and being forced to get a real job. However, usually the owners of these hedge
funds walk away with large bonuses, and the shareholders take all the losses.

Figure shows the results for rebalancing the hedge once a week, and daily. We can see clearly here
that the mean is zero, and variance is getting smaller as the hedging interval is reduced. In fact, one can
show that the standard deviation of the hedge error should be proportional to v/At where At is the hedge
rebalance frequency.

As another example, it is interesting to examine the stock, bond, and portfolio values along a single
stochastic path. Figure[8:3]shows these values for hedging one year put, at a very high rebalancing frequency.

8.2 Gamma Hedging

In an attempt to account for some the errors in delta hedging at finite hedging intervals, we can try to use
second derivative information. The second derivative of an option value Vgg is called the option gamma,
hence this strategy is termed delta-gamma hedging.
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Figure 8.1: Relative frequency (y-axis) versus relative P&L of delta hedging strategies. Left: no hedging,
right: rebalance hedge once a month. American put, T'= .25, ¢ = .3, r = .06, u = .08, K = Sy = 100. The
relative P&L is computed by dividing the actual P&L by the Black-Scholes price.
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Figure 8.2: Relative frequency (y-axis) versus relative P&L of delta hedging strategies. Left: rebalance hedge
once a week, right: rebalance hedge daily. American put, T'= .25, 0 = .3, r = .06, u = .08, K = Sy = 100.
The relative P&L is computed by dividing the actual P&L by the Black-Scholes price.
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Hedging Portfolio Positions: One Stochastic Path
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Figure 8.3: Values of components of the hedging portfolio along a single stochastic path. One year put.
K =100, r = .02, 0 = .20, real world drift .10. Rebalanced 10000 times.

A gamma hedge consists of
e A short option position —V(¢).

e Long a"S(t) shares
e Long [ another derivative security 1.

e An amount in a risk-free bank account B(t).

Now, recall that we consider a”, 3 to be constant over the hedging interval (no peeking into the future),
so we can regard these as constants (for the duration of the hedging interval).

The hedge portfolio P(t) is then

P(t) = -V + oS+ BI + B(t)

Assuming that we buy and hold o’ shares and S of the secondary instrument at the beginning of each
hedging interval, then we require that

OP ov A ol

% = —% + o + ,B% = O
a*p v %I
Z - - T — =0 8.3
H5? 05?2 + ’8852 (83)

Note that
o If 3 =0, then we get back the usual delta hedge.

e In order for the gamma hedge to work, we need an instrument which has some gamma (the asset S has
second derivative zero). Hence, traders often speak of being long (positive) or short (negative) gamma,
and try to buy/sell things to get gamma neutral.

So, at t = 0 we have
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Figure 8.4: Relative frequency (y-axis) versus relative P&L of gamma hedging strategies. Left: rebalance
hedge once a week, right: rebalance hedge daily. Dotted lines show the delta hedge for comparison. American
put, T'= .25, ¢ = .3, r = .06, u = .08, K = 100, Sy = 100. Secondary instrument: European put option,
same strike, T' = .5 years. The relative P&L is computed by dividing the actual P&L by the Black-Scholes
price.

The amounts o, 3; are determined by requiring that equation (8.3) hold

—(Vs)i+al +Bi(Is); = 0
—(Vss)i + Billss)i = 0 (8.4)

The bank account balance is then updated at each hedging time ¢; by
P —ally) = LB — Biv)

We will consider the same example as we used in the delta hedge example. For an additional instrument,
we will use a European put option written on the same underlying with the same strike price and a maturity
of T=.5 years.

Figure [8.4] shows the results of gamma hedging, along with a comparison on delta hedging. In principle,
gamma hedging produces a smaller variance with less frequent hedging. However, we are exposed to more
model error in this case, since we need to be able to compute the second derivative of the theoretical price.

Bi = erAtBifl—Si(Oé

8.3 Vega Hedging

The most important parameter in the option pricing is the volatility. What if we are not sure about the
value of the volatility? It is possible to assume that the volatility itself is stochastic, i.e.

dS = uSdt+vSdzZ;
dv = k(0 —v)dt + oy\/vdZs (8.5)

where 1 is the expected growth rate of the stock price, /v is its instantaneous volatility,  is a parameter
controlling how fast v reverts to its mean level of 6, o, is the “volatility of volatility” parameter, and Z;, Z
are Wiener processes with correlation parameter p.

If we use the model in equation , the this will result in a two factor PDE to solve for the option price
and the hedging parameters. Since there are two sources of risk (dZ;,dZ5), we will need to hedge with the
underlying asset and another option (Heston, A closed form solution for options with stochastic volatility
with applications to bond and currency options, Rev. Fin. Studies 6 (1993) 327-343).

Another possibility is to assume that the volatility is uncertain, and to assume that

Omin < 0 < Omaz,
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and to hedge based on a worst case (from the hedger’s point of view). This results in an uncertain volatil-
ity model (Avellaneda, Levy, Paris, Pricing and Hedging Derivative Securities in Markets with Uncertain
Volatilities, Appl. Math. Fin. 2 (1995) 77-88). This is great if you can get someone to buy this option at
this price, because the hedger is always guaranteed to end up with a non-negative balance in the hedging
portfolio. But you may not be able to sell at this price, since the option price is expensive (after all, the
price you get has to cover the worst case scenario).

An alternative, much simpler, approach (and therefore popular in industry), is to construct a vega hedge.
We assume that we know the volatility, and price the option in the usual way. Then, as with a gamma
hedge, we construct a portfolio

e A short option position —V (¢).

e Long a"S(t) shares
e Long [ another derivative security I.

e An amount in a risk-free bank account B(t).
The hedge portfolio P(t) is then

P(t) = -V 4+ oS+ BI + B(t)

Assuming that we buy and hold o’ shares and 3 of the secondary instrument at the beginning of each
hedging interval, then we require that

op oV, Ol

5 = “as T P =0

oP ov ol

9w = o0 Pos =" (50)

Note that if we assume that o is constant when pricing the option, yet do not assume o is constant when
we hedge, this is somewhat inconsistent. Nevertheless, we can determine the derivatives in equation
numerically (solve the pricing equation for several different values of o, and then finite difference the solu-
tions).

In practice, we would sell the option priced using our best estimate of o (today). This is usually based on
looking at the prices of traded options, and then backing out the volatility which gives back today’s traded
option price (this is the implied volatility). Then as time goes on, the implied volatility will likely change.
We use the current implied volatility to determine the current hedge parameters in equation . Since
this implied volatility has likely changed since we last rebalanced the hedge, there is some error in the hedge.
However, taking into account the change in the hedge portfolio through equations should make up for
this error. This procedure is called delta-vega hedging.

In fact, even if the underlying process is a stochastic volatility, the vega hedge computed using a constant
volatility model works surprisingly well (Hull and White, The pricing of options on assets with stochastic
volatilities, J. of Finance, 42 (1987) 281-300).

8.4 A Stop-Loss Strategy

A simple minded idea for hedging options is based on the following idea. Suppose the writer has sold one call
option with strike K. Assume that Sy < K, i.e. the initial asset price is less than K. As soon as S = K + ¢,
€ < 1, the writer borrows K + ¢ and buys the stock. As soon as S = K — ¢, the writer sells the stock. If
S < K at expiry, the writer holds no stock, and does not owe the holder of the option anything. If S > K
at expiry, the writer sells the stock at price .S, gives the holder S — K, and pays back the loan of K used to
buy the stock.

This looks like a good strategy. As far as a loan to buy the stock, the worst case for the financing cost
of this would be K(e"? — 1), which will be small if 7T < 1. In addition, note that buying occurs at price
K + ¢, and selling occurs at price K — ¢, resulting in a transaction cost of 2¢ for each buy-sell trade. But if
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T .3846

o 2

o (real world drift) 13
So (initial price) 49
r = .05

K 50

Option Type Call
Early Exercise No

Table 8.1: Data used in the stop loss hedging strategy test.
Hedging Frequency 100 200 400 800
Mean -0.047345 | -0.04373 | -0.040295 | -0.040762
Standard Deviation | 0.78175 0.77473 0.76954 0.77247
VAR (95%) 1523 | -1.512 | -1.5059 | -1.5043
CVAR (95%) -2.0122 -1.9983 -1.9847 -1.9974

Statistics for the profit and loss, relative to the Black-Scholes price of 2.4005. Assumes 2.4005

received in cash initially.

we monitor the strategy closely, we can make € as small as we like. Consequently, this strategy should cost
less than the Black-Scholes price. We should be able to make millions.

Consider the following example, from the Hull book, with the data in Table A Monte Carlo strategy
was used to simulate this strategy (80,000 simulations). Table shows the results in terms of the relative
hedging error for various numbers of rebalancing times. It is assumed that the hedger receives the
Black-Scholes price in cash initially. Hence, a positive mean would indicate a relative profit compared to the
Black-Scholes strategy.

From this table, we can see that the expected cost of the strategy is actually larger than the Black-Scholes
strategy (the expected relative P&L is negative), and no matter how many times the hedge is rebalanced,
the standard deviation seems to be about .77. This strategy is very bad.

Why does this not work? No matter where we start, there is a finite probability of crossing the strike
price. The problem can be traced to the fact that we buy at K 4 ¢ and sell at K —e. As we make the hedging
interval smaller, we can make € smaller, but Brownian motion is infinitely jagged on any scale. Hence the
number of times we buy and sell as the asset crosses S = K becomes larger as the hedging interval becomes
smaller. Recall from equation that the total distance traveled by a particle undergoing Brownian
motion, for a finite time, is infinite.

The probability density for the relative hedging error (8.1)) is shown in Figure

8.4.1 Profit and Loss: probability density, VAR and CVAR

Note that Figure[8.5|shows the probability density instead of the relative frequency. This is a more desirable
way to show the results.

Suppose P’ represents the P&L from the it simulation. Then, we can construct a histogram of the
results by first specifying a series of bins, and counting the number of occurrences in each bin. Suppose the
k'" bin lies in the interval [a, b] of the x-axis. Then a histogram will show a bar indicating the number of
occurrences of the P in the interval [a,b]. Now

Number of occurrences in bin [a, b]

Probla < x <b] ~ (8.7)

Total number of simulations
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Figure 8.5: Probability density (y-axis) versus relative P&L of the stop loss strategy. The relative P&L is
computed by dividing the actual P&L by the Black-Scholes price.

Let p(x) dx be the probability of P € [z, x + dx], so

Number of occurrences in bin [a, b]

p(a)(b —a) ~

Total number of simulations (8:8)

so that

1 Number of occurrences in bin [a, b]

p(a) ~ ( (8.9)

b—a) Total number of simulations

Note that the Matlab functions histc(X,EDGES) , bar(X,Y, ’hist’) are useful for producing probability
density plots.

A useful way to measure tail risk, is to compute the Value at Risk (VAR) and the Conditional VAR
(CVAR). Given an approximate probability density p(x), the y% VAR is the point on the x-axis where

= y
= . .1
[ vty iz = (3.10)

Typically, y = 95%,99%. VAR can be interpreted as “ y% of the time, we end up with at least VAR”.
Another measure of tail risk is CVAR. This is defined as

VAR & p(zx) dx

CVAR = FSAR— : (8.11)

o b() dz

The y% CVAR can be interpreted as the mean of the worst (100 — y)% scenarios. In Matlab, VAR can be
easily computed by sorting the array of outcomes P?. CVAR is then computed by averaging. It is interesting
to note that CVAR can be computed in another way without first computing VAR.

8.4.2 Another way of computing CVAR

It is possible to compute CVAR without first computing VAR. We can compute CVAR in terms of a nice
optimization problem, which makes the CVAR computation robust.
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Let VAR, be the value of VAR at the confidence level a. For example, typically o = .95 or @ = .99. If
p(z) is the density function of the P&L at time T, then

VAR,
/ plz)der = 1-a, (8.12)
and
VAR
S xp(ax) dx
CVAR, = =
“ 11—«
fY{iRO‘ x p(x) dz
= VAR . (8.13)
f_oo p(x) dz
Now, consider the function
1 .
fla) = sup{y + 17E[m1n(x - y,O)]}
Y -«
1 y
- - - d
sgp{w T 700(95 y)p(z) I}
= supg(y,a), (8.14)
y
where
1 Y
gy@) = y+o— [ (@-yple)de, (8.15)

and where x = X(T), i.e. the value of the P&L at t =T, and E[-] is the expectation. Consequently,

% _ 1—11a/_:p(x)dx. (8.16)
Now, note that if y = VAR,
1 VAR,
1_1—04/,00 (@) dz =0, (8.17)

from equation (8.12]), hence the point y = VAR, is a local maximum or minimum of g(y,a). If y < VAR,
then

y
/ p(z)de < (1—a), (8.18)
hence (from equations (8.16|and [3.18]))
99
%99 > 0 .y<VAR, , 8.19
oy 2 0 Y (8.19)
and similarly, if y > VAR,, then
y
/ p(z) de > (1—a), (8.20)
—o0
hence from equations (8.16) and (8.20)),
99
= < 0 ;y>VAR, . 8.21
9y = 0 (8.21)
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As a result, the point y = VAR, is a global maximum of g(y, «), so that (noting equation (8.13))

—

1 VAR,
supg(y,«) = VAR, + T / (x = VAR,)p(x) dx
y

— 00

1 VAR,
= / x p(z) dx

l—a /f_

[V g p(a) d

[V AR p (@) da

— CVAR,. (8.22)

8.5 Collateralized deals

To avoid counterparty risk, it is common to enter into a Collateralized deal.

Consider a seller of an option who hedges (H), and a buyer (B) who does not hedge. H sells an option
worth V' (¢) to B.

We assume that everyone borrows/lends at the rate r, but the arguments below can be generalized to
different rates.

We assume the existence of a collateral account II(t). Mathematically, the collateral account is a virtual
bookkeeping entry, since we assume that rehypothecation is allowed, so that any cash flows which flow due
to collateral posting can be re-used by the receiver of these cash flows, to, for example, reduce borrowing.

If the collateral account is negative, then this means that we owe this amount to the poster of the
collateral.

We assume full collateralization. This can also be generalized to the partial collateralization case.

8.5.1 Hedger

The hedger’s portfolio is

Py = —V+4+aS+Byg+1c
V = Price of option
S = price of underlying
«a = number of units of underlying
By = hedger’s bank account

Il = collateral account (8.23)

For definiteness, we will consider an example where V(¢) > 0 and Il > 0, i.e. the case where H sells an
option worth V' to B. However, this need not be the case in general.
At t =0, B pays H for the option:

Py = —V(0)+0-S5(0)+ By (0) + I (0)
B (0) =+V(0)
I (0) =0
a(0) =0 (8.24)

For all times ¢ + At (this is also valid for ¢ = 0, At = 0%, so that the equations below are valid for
t+At=0".
e H receives interest on the collateral and gets interest on By

b= B (t)e" ™ + e (t)rAt (8.25)
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e H rebalances the delta hedge by buying a(t + At) shares at price S(t + At),
=By — (a(t + At) — a(t)S(t + At) (8.26)

e H transfers the change in collateral to B. H first transfers cash to B, and then the virtual bookkeeping
account Il is updated.
Byu(t+At) = By —(V(t+ At) —Te(t))
By — (V(t+ At) = V(1))
Me(t+ At) = Ie(t) + (V(E+ At) — (1))
= V(t+ At) (8.27)

Note that at ¢ = 07, H transfers the value of the option back to B, then borrows —(0)S(0) to start the
delta hedge.

a(0™) = Vs(0)
By = —a(0%)S(0)
Hc(0T) = +V(0) (8.28)
so that
Py (0T) = -V (0) + «(0%)S(0) —a(07)S(0)+V(0) (8.29)
share position By RHZJ

so that Py = 0. This will hold at all future times, after cash flows have been exchanged. From H’s point of
view, if B defaults, then the long collateral position Il cancels the short option position,

net position owed to H

—_—N—
Pult)= —VHO+VE) +a)SE) +(—a(t)S(1)) (8.30)

and the stock position can be liquidated to cancel the bank loan. Note that all the above arguments are
valid if V' < 0, i.e. we can either be long or short the option.

8.5.2 Buyer B
We assume that the buyer does not hedge. The buyer’s portfolio is
Py = +V+Bg—Il¢
V = Price of option
Bp = buyer’s bank account
Il = collateral account (8.31)
For all times ¢ + At (this is also valid for ¢ = 0, At = 0T, so that this also holds for ¢t + At = 0%.

e B gets interest on Bp and pays interest to H on the collateral
By = Bp(t)e™! — e (t)rAt (8.32)

e B receives the change in collateral from H, which is immediately deposited in Bg. The collateral
bookkeeping entry Il is updated.
Bp(t+At) = Bg+ (V(t+ At) —Ic(t))
B+ (V(t+ At) — V(t))]
He(t+ At) = Te(t) + (V(E+ At) — He(t))
= V(t+ At) (8.33)
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We also write equations (8.32- as

Be(t+ At) = Bp(t) + Be(t)rAt — V() rAt + (V(t + At) = V(¢)) . (8.34)
Note that at ¢ = 0, we have

Bsg = —V(0)
e (0f) = 0 (8.35)

i.e. the B borrows from the bank account to buy the option from H, so that

Pp(0) =+V(0) + (—:(0)) +\Hq: (8.36)

At t = 07, H posts collateral to B. B then immediately uses the cash to payoff the loan, and posts a virtual
amount to the collateral account, i.e. this amount is owed to H.

P5(07) = +V(0) + ??’“ +(—K0(0)) (8.37)

so that Pg = 0.
Note that Bp satisfies (from equation (8.34)))

dBg dVv
W = ’I"BB — TV + E (838)
collateral interest ~~~
change in posted collateral
It can be easily verified that the solution to this equation is (Bg(0") = 0)
Bp(t) = V(t)—V(0)e (8.39)

At any time, after the cash flows have been exchanged, if H defaults, then the collateral account cancels
out the long option position,

net owed to B net value to B
Pg(t) = +V(t) + (=V () + (V(t) — V(0)e™) (8.40)
IIc Bs

and B is left with V(¢) — V(0)e", i.e. the value of the option less the cost of borrowing to fund the initial
option price. This is effectively the transaction which occurred at t = 07, so B does not care if H defaults.

9 Jump Diffusion
Recall that if

dS = puSdt+oS dZ (9.1)

then from Ito’s Lemma we have

dllogS] = [pn— %2] dt +o dZ. (9.2)
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Now, suppose that we observe asset prices at discrete times t¢;, i.e. S(¢;) = S;, with At = t;,11 —¢;. Then

from equation (9.2)) we have

log Siy1 — log S;

~

where ¢ is N(0,1). Now, if At is sufficiently small,
(19.3) can be approximated by

Sit1
S;
2

[n— %] At + oV At

log(——)
(9.3)

then At is much smaller than v/ At, so that equation

log( P2 g1+ SELES)
~ opVAL. (9.4)
Define the return R; in the period ¢;41 — ¢; as
R, = % (9.5)
so that equation becomes
log(14+ R;) =~ R;=0o¢pVAL

Consequently, a plot of the discretely observed returns of S should be normally distributed, if the as-
sumption is true. In Figure we can see a histogram of log monthly returns from the T'S X composite
index for the period 1979 — 20124. The histogram has been scaled to zero mean and unit standard deviation.
A standard normal distribution is also shown. Note that for real data, there is a higher peak, and fatter tails
than the normal distribution. This means that there is higher probability of zero return, or a large gain or
loss compared to a normal distribution.

Probability Density

0.6

Il observed density
=== Standard normal density

0.5

-5 -4 -3 -2

-1 0 1 2
Return scaled to zero mean, unit standard deviation

Figure 9.1: Probability density functions for the TSX composite log monthly returns 1979 — 2014, scaled to
zero mean and unit standard deviation and the standardized Normal distribution.

As At — 0, Geometric Brownian Motion (equation (9.1))) assumes that the probability of a large return
also tends to zero. The amplitude of the return is proportional to v/At, so that the tails of the distribution
become unimportant.

But, in real life, we can sometimes see very large returns (positive or negative) in small time increments.
It therefore appears that Geometric Brownian Motion (GBM) is missing something important.
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9.1 The Poisson Process

Consider a process where most of the time nothing happens (contrast this with Brownian motion, where

some changes occur at any time scale we look at), but on rare occasions, a jump occurs. The jump size does

not depend on the time interval, but the probability of the jump occurring does depend on the interval.
More formally, consider the process dg where, in the interval [¢,¢ + dt],

dg = 1 ; with probability \dt
= 0 ; with probability 1 — Adt. (9.6)

Note, once again, that size of the Poisson outcome does not depend on dt. Also, the probability of a jump
occurring in [¢,t + dt] goes to zero as dt — 0, in contrast to Brownian motion, where some movement always
takes place (the probability of movement is constant as dt — 0), but the size of the movement tends to zero
as dt — 0. For future reference, note that

Eldg] = MAdt-14+(1—Xdt)-0
= A\dt (9.7)
and
Var(dg) = E[(dq— El[dq])?]
= E[(dg— X dt)?]
= (1=Xdt)?> XNdt+ (0—Xdt)?-(1—\dt)
= MAdt+0((dt)?) . (9.8)

Now, suppose we assume that, along with the usual GBM, occasionally the asset jumps, i.e. S — JS,
where J is the size of a (proportional) jump. We will restrict J to be non-negative.
Suppose a jump occurs in [¢,t + dt], with probability Adt. Let’s write this jump process as an SDE, i.e.

[dS)jump = (J — 1)S dg
since, if a jump occurs
Safter jump — Sbefore jump + [ds]jump

= Spefore jump + (J — 1)Spefore jump
= JSbefore jump (9.9)
which is what we want to model. So, if we have a combination of GBM and a rare jump event, then
dS = pSdt+oSdZ+(J—1)S dq (9.10)
Assume that the jump size has some known probability density g(.J), i.e. given that a jump occurs, then the

probability of a jump in [J,J 4+ dJ] is g(J) dJ, and

+o0 [e'e]
/ oIy dJ = / o(J) AT =1 9.11)
0

— 00

since we assume that g(J) = 0 if J < 0. For future reference, if f = f(J), then the expected value of f is

Bl = [ el a1 (0.12)

The process is basically geometric Brownian motion (a continuous process) with rare discontinuous
jumps. Some example realizations of jump diffusion paths are shown in Figure (9.2

Figure [9.3| shows the price followed by a listed drug company. Note the extreme price changes over very
small periods of time.
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Figure 9.2: Some realizations of a jump diffusion process which follows equation (9.10).
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Figure 9.3: Actual price of a drug company stock. Compare with simulation of a jump diffusion in Figure
9.2
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9.2 The Jump Diffusion Pricing Equation

Now, form the usual hedging portfolio

P = V-aS§. (9.13)
Now, consider
[dP]total = [dP]Brownian + [dp}jump (914)
where, from Ito’s Lemma
0252
[dP]Brownian = [Vi+ 5 Vssldt + [Vs — o] (uS dt + oS dZ) (9.15)
and, noting that the jump is of finite size,
[dP]jump = [V(JS,t) =V (S,t)] dg—a(J—1)S dg. (9.16)

If we hedge the Brownian motion risk, by setting o = Vg, then equations (9.1449.16)) give us

2q2

P = [Vt+025

Vasldt + [V(JS,t) — V(S,)]dg — Vs(J —1)S dg . (9.17)

So, we still have a random component (dg) which we have not hedged away. Let’s take the expected value
of this change in the portfolio, e.g.

2Q2

Bap) = Wi+ 22

Vssldt + E[V(JS,t) — V(S,t)|Eldg] — VsSE[J — 1] E[dq] (9.18)

where we have assumed that probability of the jump and the probability of the size of the jump are inde-
pendent. Defining E(J — 1) = &, then we have that equation (9.18)) becomes

0252

2

E@dP) = [Vi+ Vissldt + E[V(JS,t) — V(S, )]\ dt — VsSk\ dt . (9.19)

Now, we make a rather interesting assumption. Assume that an investor holds a diversified portfolio of
these hedging portfolios, for many different stocks. If we make the rather dubious assumption that these
jumps for different stocks are uncorrelated, then the variance of this portfolio of portfolios is small, hence
there is little risk in this portfolio. Hence, the expected return should be

E[dP] = rPdt. (9.20)
Now, equating equations (9.19and (9.20)) gives

202
vit+Z Vs + Vs[rS — SkN] = (r + )V + B[V (JS, A =0. (9.21)
Using equation (9.12) in equation ((9.21)) gives
2Q2 o]
Vit T Vis + Vs[rS — Skd] = (r+ W)V + /\/ g(NV(JIS,t)dJ =0. (9.22)
0

Equation (9.22)) is a Partial Integral Differential Equation (PIDE).
A common assumption is to assume that g(J) is log normal,

_ (og()=)?
g(J) = eXp( Gl ) (9.23)
V2ryJ
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where, some algebra shows that
E(J-1)=r=exp(i+7%/2) 1. (9.24)

Now, what about our dubious assumption that jump risk was diversifiable? In practice, we can regard
o, fi,7, A as parameters, and fit them to observed option prices. If we do this, (see L. Andersen and J.
Andreasen, Jump-Diffusion processes: Volatility smile fitting and numerical methods, Review of Derivatives
Research (2002), vol 4, pages 231-262), then we find that o is close to historical volatility, but that the fitted
values of A, i are at odds with the historical values. The fitted values seem to indicate that investors are
pricing in larger more frequent jumps than has been historically observed. In other words, actual prices seem
to indicate that investors do require some compensation for jump risk, which makes sense. In other words,
these parameters contain a market price of risk.

Consequently, our assumption about jump risk being diversifiable is not really a problem if we fit the
jump parameters from market (as opposed to historical) data, since the market-fit parameters will contain
some effect due to risk preferences of investors.

One can be more rigorous about this if you assume some utility function for investors. See (Alan Lewis,
Fear of jumps, Wilmott Magazine, December, 2002, pages 60-67) or (V. Naik, M. Lee, General equilibrium
pricing of options on the market portfolio with discontinuous returns, The Review of Financial Studies, vol
3 (1990) pages 493-521.)

9.3 An Alternate Derivation of the Pricing Equation for Jump Diffusion

We will give a pure hedging argument in this section, in order to derive the PIDE for jump diffusion. Initially,
we suppose that there is only one possible jump size J, i.e. after a jump, S — JS, where J is a known
constant. Suppose

dS = a(S,t)dt+b(S,t)dZ + (J —1)S dg, (9.25)

where dg is the Poisson process. Consider a contract on S, F'(S,t), then

b2
dF = |aFs+ o Fss+ Fy| dt +bFsdZ + [F(JS,t) = F(S,t)] da, (9.26)

or, in more compact notation

dFF = pdt+o" dZ+ AF dg
p=aFs+ ngs + F
c* =bFg
AF =[F(JS,t) — F(S,t)] . (9.27)
Now, instead of hedging with the underlying asset, we will hedge one contract with another. Suppose we
have three contracts Fi, Fy, F3 (they could have different maturities for example).
Consider the portfolio I1
II = nFy +noFy +nsks (9.28)
so that
dll = ny dFy +ng dFy + ng dF3
= ny(p dt + o] dZ + AF| dq)
—‘r’I’LQ(,UQ dt + 0'; dZ + AF, dq)
+ng(us dt + o5 dZ + AF5 dq)
= (nip + nopo + napsz) dt
+(n1o] + n20os +nzoy) dZ
+(n1AF) + noAF; + 7”L3AF3) dq . (9.29)

84



Eliminate the random terms by setting

(nlAFl —|—TL2AF2 +1’L3AF3) = O
(n1o] +neos +nzos) = 0. (9.30)

This means that the portfolio is riskless, hence

dil = rIldt, (9.31)
hence (using equations (9.2949.31))
(nipn + nopz +napz) = (naF1 +nolfa +n3F)r . (9.32)
Putting together equations (9.30) and (9.32)), we obtain
o os o3 ny 0
AFl AFQ AFg n9 = 0 (933)
ﬂl—TFl /LQ—'I"FQ Mg—’f’Fg ns 0

Equation (9.33]) has a nonzero solution only if the rows are linearly dependent. There must be Ag(S,t), As(S, 1)
such that

(,Ll,l*’r’Fl) == ABO’T*)\JAFl
(/.Lg —’I“FQ) = /\30'5 _)\JAFQ
(,U3 — ’I“F3) = )\BUE; — )\JAFS . (934)

(We will show later on that A\; > 0 to avoid arbitrage). Dropping subscripts, we have
(,u—TF) = )\BU* —/\JAF (935)

and substituting the definitions of u,c*, AF, from equations (9.27)), we obtain

b2
F + §Fss + (a — Agb)Fs —rF + M\ [F(JS,t) — F(S,t)]=0. (9.36)
Note that Ay will not be the real world intensity of the Poisson process, but J will be the real world jump
size.
In the event that, say, F3 = .5 is a traded asset, we note that in this case

o3 = b
B3 = a
AF; = (J-1)S. (9.37)
From equation ((9.34)) we have that
(,ug - ’I“Fg) = /\BO';: - )\JAFg 5 (938)
or, using equation (9.37]),
a—Agb = rS— )\J(J - I)S . (9.39)

Substituting equation (9.39) into equation (9.36) gives

2
Fi + %Fss +Ir =M (J = 1)]SFs —rF + Aj[F(JS,t) — F(S,t)] =0 . (9.40)
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Note that equation ((9.36)) is valid if the underlying asset cannot be used to hedge, while equation (9.40) is
valid only if the underlying asset can be used as part of the hedging portfolio.
Let 7=T —t, and set a = 0,b = 0,7 = 0 in equation (9.36)), giving

E, = MjJF(JS,7)—F(S,1). (9.41)
Now, suppose that
F(S,7=0) = 0; ifS>K
1, ifS<K. (9.42)

Now, consider the asset value S* > K, and let J = K/(2 x* S*). Imagine solving equation (9.41) to an
infinitesimal time 7 = ¢ < 1. We will obtain the following value for F',

F(S*e) =~ e\j. (9.43)

Since the payoff is nonnegative, we must have Ay > 0 to avoid arbitrage.
Now, suppose that there are a finite number of jump states, i.e. after a jump, the asset may jump to to
any state J;.S

S —=JS ; i=1,..,n. (9.44)

Repeating the above arguments, now using n + 2 hedging instruments in the hedging portfolio

1=n—+2
-3 nr (9.45)
=1

so that the diffusion and jumps are hedged perfectly, we obtain the following PDE

2 i=n

b )
Fy 4 5 Fss + (= Agb)Fs —1F + Y Nj[F(J;8.1) = F(S.4)] = 0 . (9.46)
=1

If we can use the underlying to hedge, then we get the analogue of equation (9.40)

2 i=n i=n
F; + %FSS +(rS =Y NyS(Ji = 1))Fs —rF + > Xj[F(J;8,t) — F(S,1)] = 0. (9.47)
i=1 i=1
Now, let
)\i
p(Ji) = #z
Dim1 Ay
o= YN (9.48)
i=1
then we can write equation (9.46|) as
b2 i=n
Fi+ 5 Fss + (a— Apb)Fs —rF + " > p(J)F(JiS,t) = F(S,1)] = 0. (9.49)
i=1

Note that since A\, > 0, p(J;) > 0, and A* > 0.
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Taking the limit as the number of jump states tends to infinity, then p(J) tends to a continuous distri-
bution, so that equation ((9.49)) becomes

2

Fy+ %Fss + (a— Apb)Fs — rF + \* / p()F(JS,t) — F(S,t)] dJ =0 . (9.50)
0

It is convenient to rewrite equation (9.50) in a slightly different form. Suppose we redefine A\p as follows

A = Mg+ A*M (9.51)
where
Bl —1] = /OOO p()(J = 1) dJ . 9.52)
Substituting equation into equation gives
F+ %Fss +(a—Ngb— XNE[J —1]S)Fs —rF + \* /000 p(J)[F(JS,t) — F(S,t)] dJ =0. (9.53)

Note that in the case that Fsg = 0 (which would normally be the case for S — o0), then equation (9.53))
reduces to

b2
Fy+ 5 Fss + (a— Apb)Fs —rF =0, (9.54)

so that the term A*E[J — 1]S in the drift term cancels the integral term, leaving the equation independent
of \*. This is very convenient for applying numerical boundary conditions. The PIDE (9.53]) can also be
written as

2 00
Fi+ %Fss +(a— Ngb)Fg — rF + \* / PII[E(JS,t) — F(S,t) — (J — 1)SFs] dJ =0 (9.55)
0

which is valid for infinite activity processes.
In the case where we can hedge with the underlying asset S, we obtain

Fy+ gFSS +(r = NE[J —1])SFs — rF + \" /mp(J) [F(JS,t) — F(S,t)] dJ =0 . (9.56)
0

Note that A\* and p(J) are not the real arrival rate and real jump size distributions, since they are based
on hedging arguments which eliminate the risk. Consequently, A\*, p(J) must be obtained by calibration to
market data.

9.4 Simulating Jump Diffusion
Let’s rewrite equation (9.10) as

ds
S—t = pdt+odZ+(J,—1)dq. (9.57)
-
where
dg = 1 ; with probability \dt
= 0 ; with probability 1 — Adt. (9.58)

and where S;- denotes the value of S immediately before a possible jump occurs, S; is the value immediately
after a jump occurs, and J; represents a possible jump size at time ¢.
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In other words, if a jump occurs at time ¢, then equation ((9.57) can be interpreted as
St = Si-J¢. (9.59)

It will be easier to consider X; = log S;. Suppose no jump occurs in [t,t + dt], then equation (9.57)) can
be written as (using Ito’s Lemma)

dX; = (p—0%/2)dt+odZ . (9.60)

If a jump occurs in [t,t 4+ dt], then equation (9.59) implies

Xy = Xi- +logd;
dX: = X; — X,
Putting together equations and (9.61)) gives
dX; = (u—0?/2)dt+ o dZ +logJ; dq (9.62)
or writing this in terms of Sy, we get
S, = Stfe( (u—02/2) dt+o(Z(t+dt)—Z(t)) )Jt (9.63)

where we assume that only one possible jump can occur in [¢t,¢ + dt], and that J; = 1 if no jump occurs in
[t,t 4 dt].
A common assumption is that

logJ; ~ N(us,0%) (9.64)

i.e. that J; is lognormal, with mean p; and variance 03.

9.4.1 Compensated Drift

Recall equation
% = pdt+odZ+(J;—1)dgq. (9.65)
Now
E{th} = pdt+0+ E[J; — 1]E[dq]
= pudt+ E[J,— 1A dt, (9.66)

where we assume that dg and J; are independent. It is usual to redefine the drift term in terms of the
compensated drift p,

Boo= pe— AR
Kk =E[J,—1]. (9.67)
Now, with definition (9.67)), equation (9.65)) becomes
dSy
5 (e — M&) dt + 0 dZ + (J, — 1) dg , (9.68)
-
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and

E[ngt] = (fte — A&) dt + 0+ \k dt
o
= pedt. (9.69)
In this way
ds
E{t} = e dt | (9.70)
S,

so that p. dt is the expected return in [¢,¢ + dt].
If log J; ~ N (s, 0%), then

k = exp(c3/2+p;)—1. (9.71)
In terms of X; = log S, process (9.68)) is

dX; = (pe—0%/2 = k) dt + o dZ +log J; dg (9.72)

9.4.2 Contingent Claims Pricing

If we are interested in pricing a contingent claim, then we should compute the expected value in the risk
neutral world. The requirement is then that

d
E {St} =p.dt =rdt (9.73)
Sy-

where r is the risk free rate.
The stochastic process in the risk neutral world is then

dS

oo = (r=A%Q)dt+odZ+(J2 1) dg, (9.74)
-

where A2, k2, JtQ are all risk adjusted quantities.

9.5 Matlab Code: Jump Diffusion

We give Matlab code for simulation jump diffusions, assuming process (9.72)), with jump size given by (9.64)
in (9.76).
We are assuming that

YAV R | (9.75)

so that the probability of having more than one jump in [t,t + dt] is negligible.
Note that there are more efficient ways of simulating jump diffusions, for special cases (i.e. volatility
constant), but algorithm ((9.76)) is very simple and can be easily generalized.
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Vectorized M file For Jump Diffusion

randn(’state’,100);
rand(’state’, 10);

T = 1.00; % expiry time
sigma = 0.25; % volatility

mu = .10; % P measure drift
S_init = 100; % initial value

% jump size: log normal distribution

lambda = .1 ; %jump size arrival rate
jump_vol = .40; ; %stdrd dev of jump size
jump_mean = -.9; %mean of jump size
N_sim = 100000; % number of simulations
N = 250; % number of timesteps
delt = T/N; %  timestep

% compensated drift E[J-1]
kappa = exp(.5*jump_vol*jump_vol + jump_mean) - 1.;
%  compensated drift for X = log(S)

drift = (mu - sigma*sigma/2.0 - lambdaxkappa);

% X = log(8)

X_old(1:N_sim,1) = log(S_init);
X_new(1:N_sim,1) zeros(N_sim, 1);

jump_chek = zeros(N_sim, 1);
jump_size = zeros(N_sim, 1);
jump_mask = zeros( N_sim, 1);

for i=1:N % timestep loop
jump_chek(:,1) = rand(N_sim,1);
jump_mask(:,1) ( jump_chek(:,1) <= lambdaxdelt);

jump_size(:,1) = jump_mean + jump_vol*randn(N_sim,1);
jump_size = jump_size.*jump_mask;

X_new(:,1) = X_old(:,1) + drift*delt +sigma*sqrt(delt)*randn(N_sim,1) +...
jump_size(:,1);
X_old(:,1) = X_new(:,1);

end %, timestep loop
S(:,1) = exp( X_new(:,1) );

n_bin = 200;
hist(S, n_bin);

stndrd_dev = std(S);
disp(sprintf(’standard deviation: %.5g\n’,stndrd_dev));

90

mean_S = mean(S);
disp(sprintf(’mean: %.5g\n’,mean_S));

(9.76)




Code assumes that the timestep is small, which means that the probability of a jump occurring in
a step is ~ A At. However, it is more accurate the determine the number of jumps which occur in [¢, ¢ + At]
where At is not necessarily small, using a Poisson distribution of the number of jumps. Code fragment (9.77)
can do this job, but note that this is not vectorized.

Code Fragment M file For Jump Diffusion: Finite At

for i=1:N % timestep loop

Num_jumps = poissrnd(lambda*delt,N_sim,1);
% Nx1 vector, number of jumps in this step

jump_size(1:N_sim, 1) = 0.0;
for j=1:N_sim
jump_size(j,1) = sum( normrnd(jump_mean,
jump_vol, 1, Num_jumps(j,1)) ,2 );
% sum of jumps for this path
end

X_01d(:,1) + driftxdelt + ...
sigma*sqrt (delt)*randn(N_sim,1) +...
jump_size(:,1);

X_new(:,1)

X_old(:,1) = X_new(:,1);

end

(9.77)

9.6 Poisson Distribution

Suppose we want to write our own code for sampling the number of jumps which occur in [t, ¢ + At] from a
Poisson distribution. We can use the fundamental law of transformation of probabilities, and use the discrete
cumulative distribution function. Suppose that the intensity of the Poisson process is A and the timestep is
At. Then, the probability that the number of jumps N in [t,¢ + At] is at most k is

AAt
r(N < k) Z —aar AAH7 (9.78)
7=0

Therefore, we can sample the number of jumps in [¢, t+At] from a Poisson distribution using the following
pseudo code described in Algorithm

p=e M cum=p;U~U[0,1]; N=0
while cum < U do
N:=N-+1
p:=p(AAL)/N
cum :=cum—+p
end while
return (N)

Algorithm 9.1: An algorithm for generating the number of jumps in [¢t,¢ + At], sampled from a Poisson
distribution with intensity .
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10 Regime Switching

Of course, volatility is not constant in the real world. It is possible to combine jumps in the asset price with
jumps in volatility and stochastic volatility. This leads to a two factor pricing PIDE for the option price.

A simpler approach is to assume that the volatility jumps between a number of regimes or volatility
states. Let the value of a contingent claim be given by F(o,S,t), where we have allowed the volatility o to
vary. Suppose

dS = adt+bdZ+ (Js—1)S dg
do = (J,—1)o dq, (10.1)

where dg is a Poisson process and dZ is the increment of a Weiner process. Here a = a(o, S,t), b = b(0, S, t).
Note that the same dq drives the jump in S and the jump in o. Following the same steps as in deriving

equation ({9.27) we obtain

dFF = pdt+o0*dZ+ AF dq
b2
MZCLFs—FEFSS—FFt

o = bFS

AF = [F(J,0,JsS5,t) — F(0,S5,t)] . (10.2)
We follow the same steps as in the derivation of the jump diffusion PIDE in equations (9.2949.36)), i.e. we
construct a hedge portfolio with three contracts Fi, Fy, F3, and we do not assume that we can trade in the

underlying. Eliminating the random terms gives rise to the analogue of equation (9.33)) and hence a solution
exists only if one of the equations is a linear combination of the other equations, which results in

(w—rF) = Ago*—A;AF (10.3)

and substituting the definitions of o*, u from equation (10.2)) gives

2
Pt %Fss (0= Agb)Fs — 1F + Ay [F(Jo0, JsS,t) — F(a, $,8)] = 0 . (10.4)

In the event that, say, F3 = .S is a traded asset, we note that in this case

o5 = b

3z = a
AF; = (Js—1)S. (10.5)

Substituting equation (10.5)) into equation (10.3) gives
a—Agb = rS—-XA;(Js—1)S. (10.6)

Substituting equation ([10.6)) into equation (10.4)) gives

b2
F + EFSS + [7‘ —As(Js — 1)]SFS —rF 4+ )\J[F(JUO', JsS,t) — F(o, S, t)] =0. (10.7)
Note that if Jg = 1 (no jump in S, but a regime switch) then the term A;(Js — 1) disappears in the drift
term.
We can repeat the above arguments with jumps from a given regime with volatility o to several possible
regimes J o, 7 =1,...,p. Each possible transition o — J’o is driven by a Poisson process dg*. We assume
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that dg* and d¢’ are independent. In this case, we have
= . .
dS = adt+bdZ+Y (J5—1)S dg'
i=1
1=p ,
do = Z(Jg —1)o dq*, (10.8)

i=1
Following the by now familiar steps, we obtain
b2
Fi+ < Fss + (a = Apb)Fs —rF + > Xj[F(Jio, J5S,t) — F(0,8,1)] =0 . (10.9)

7

Note that in general X = \y(0,S), J. = Ji(0,S), Ji = Ji(0,5), and Ap = Ap(0,S). Now, suppose we

have only a finite number of possible regimes o, kK =1,...,p. Let
b(ok, S, t) = by
Ng(ow, ) = Ng(9))
F(og,S,t) = FR(St)
Mooy, S,t) = Ak
Ji(og, S,t) = JE
Ji(op, S,t) = JE7. (10.10)

Rewriting equation (10.9)) using equation (10.10) gives

b2 )
FF + Ekng + (ar — Npbe)FE§ — rF* + 3 " NI FY(JE7S 1) — F¥(S,4)] =0 . (10.11)

If we can hedge with the underlying, then the usual arguments give

ar — Ngby = rS=) M7U(IET - 1)S (10.12)

Substituting equation (10.12)) into equation (10.11)) gives

b? o ,
FF + Ekng + (= NTUIETT = 1)SFE — PR+ Y O NTIFU(IETIS, 8) — FR(S, 1)) =0 . (10.13)
If we have only a small number of regimes, we are effectively solving a small number of coupled 1-d PDEs.

In principle, the Jg k=i 51 are P measure parameters, while the /\Lk}_”' is a Q measure parameter. Often, we
choose

b(c,S,t) = oS
by = oS . (10.14)

We can also determine the oy, Jg ki )\kﬁl by calibration to market prices.

11 Mean Variance Portfolio Optimization
An introduction to Computational Finance would not be complete without some discussion of Portfolio
Optimization. Consider a risky asset which follows Geometric Brownian Motion with drift

s

< = pwdt+odZ, (11.1)
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where as usual dZ = ¢V/dt and ¢ ~ N (0,1). Suppose we consider a fixed finite interval At, then we can

write equation (11.1)) as

R = 409
AS

R="22

S

p' = pAt

o =oVAt, (11.2)

where R is the actual return on the asset in [¢,t + At], i’ is the expected return on the asset in [t, ¢ + At],
and o’ is the standard deviation of the return on the asset in [t,t + At].
Now consider a portfolio of N risky assets. Let R’ be the return on asset 7 in [t, ¢ + At], so that
R = pi+ol¢; (11.3)

Suppose that the correlation between asset ¢ and asset j is given by p;; = E[¢;¢;]. Suppose we buy z; of
each asset at t, to form the portfolio P

i=N
i=1
Then, over the interval [¢,t + At]
i=N
i=1
i=N
AP = LL‘iSiRi
i=1
i=N
AP .
— = wiRZ
P i=1
g
w; = 7]5; : (11.5)
21 S
In other words, we divide up our total wealth W = Z:iv x;S; into each asset with weight w;. Note that

i=N
2y wi =1L
To summarize, given some initial wealth at ¢, we suppose that an investor allocates a fraction w; of this

wealth to each asset i. We assume that the total wealth is allocated to this risky portfolio P, so that

i=N
P = Z 37151
i=1
i=N
Ry==—0% = > wR'. (11.6)
i=1
The expected return on this portfolio R, in [t,t + At] is

i=N
By = > wi. (1L7)
=1
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while the variance of R, in [¢,t + At] is

i=N j=
Var(R WW; o0 i - (11.8)
i=1 j=1

11.1 Special Cases

Suppose the assets all have zero correlation with one another, i.e. p;; = 0,Vi # j (of course p;; = 1). Then
equation ([11.8) becomes

i=N
Var(R,) = (0h)? (w;)? . (11.9)
i=1
Now, suppose we equally weight all the assets in the portfolio, i.e. w; = 1/N,Vi. Let max;o} = o},,., then
] =N
Var(R,) = N2 2(02)2
i=1
_ NOha)?
< e

= oLy, a1

so that in this special case, if we diversify over a large number of assets, the standard deviation of the
portfolio tends to zero as N — oo.
Consider another case: all assets are perfectly correlated, p;; = 1,Vi, j. In this case

i=N j=N
_ . A
Var(R,) = E wiw;o;0;

= wjo; (11.11)
j=1

so that if sd(R) = y/Var(R) is the standard deviation of R, then, in this case

j=N
w;o’ (11.12)
j=1

which means that in this case the standard deviation of the portfolio is simply the weighted average of the
individual asset standard deviations.

In general, we can expect that 0 < |p;;| < 1, so that the standard deviation of a portfolio of assets will
be smaller than the weighted average of the individual asset standard deviation, but larger than zero.

This means that diversification will be a good thing (as Martha Stewart would say) in terms of risk versus
reward. In fact, a portfolio of as little as 10 — 20 stocks tends to reap most of the benefits of diversification.

11.2 The Portfolio Allocation Problem

Different investors will choose different portfolios depending on how much risk they wish to take. However,
all investors like to achieve the highest possible expected return for a given amount of risk. We are assuming
that risk and standard deviation of portfolio return are synonymous.
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Let the covariance matrix C' be defined as
[Clij =Ci5 = UZ{U;-Pij (11.13)

and define the vectors i = [y}, ph, ..., w'y]t, @ = [w1, wa, ..., wy]t. In theory, the covariance matrix should be
symmetric positive semi-definite. However, measurement errors may result in C' having a negative eigenvalue,
which should be fixed up somehow.

The expected return on the portfolio is then

R,=w"f1, (11.14)
and the variance is
Var(R,) = w'Cw . (11.15)

We can think of portfolio allocation problem as the following. Let « represent the degree with which
investors want to maximize return at the expense of assuming more risk. If a — 0, then investors want
to avoid as much risk as possible. On the other hand, if @« — oo, then investors seek only to maximize
expected return, and don’t care about risk. The portfolio allocation problem is then (for given «) find w
which satisfies

min @' Cw — aw' i (11.16)
w
subject to the constraints

dwi o= 1 (11.17)
o N (11.18)

Constraint (11.17)) is simply equation (11.6]), while constraints (11.18)) may arise due to the nature of the

portfolio. For example, most mutual funds can only hold long positions (w; > 0), and they may also be
prohibited from having a large position in any one asset (e.g. w; < .20). Long-short hedge funds will not
have these types of restrictions. For fixed «a, equations constitute a quadratic programming
problem.

Let

Li< wy <U; ; i=1

sd(R,) = standard deviation of R,

Var(R,) (11.19)

We can now trace out a curve on the (sd(R,), R,) plane. We pick various values of a, and then solve the

quadratic programming problem ((11.16§11.18]). Figure shows a typical curve, which is also known as
the efficient frontier. The data used for this example is

.15 [ 20 .05 -—.01
o= .20 ; C= .05 30 .015
.08 | | —-01 .015 .1
0] [ oo
L=1]0 ; U=| > (11.20)
0 | | o0

We have restricted this portfolio to be long only. For a given value of the standard deviation of the
portfolio return (sd(R;)), then any point below the curve is not efficient, since there is another portfolio
with the same risk (standard deviation) and higher expected return. Only points on the curve are efficient
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Figure 11.1: A typical efficient frontier. This curve shows, for each value of portfolio standard deviation
SD(R,), the maximum possible expected portfolio return R,. Data in equation (11.20).

in this manner. In general, a linear combination of portfolios at two points along the efficient frontier will be
feasible, i.e. satisfy the constraints. This feasible region will be convex along the efficient frontier. Another
way of saying this is that a straight line joining any two points along the curve does not intersect the curve
except at the given two points. Why is this the case? If this was not true, then the efficient frontier would
not really be efficient. (see Portfolio Theory and Capital Markets, W. Sharpe, McGraw Hill, 1970, reprinted
in 2000).

Figure [[1.2] shows results if we allow the portfolio to hold up to .25 short positions in each asset. In other
words, the data is the same as in except that

—25
L=1|-25|. (11.21)
—.25

In general, long-short portfolios are more efficient than long-only portfolios. This is the advertised advantage
of long-short hedge funds.

Since the feasible region is convex, we can actually proceed in a different manner when constructing the
efficient frontier. First of all, we can determine the maximum possible expected return (o = oo in equation

({I1.16)),

S
Li<w; <U; ; i=1,...N (11.22)

which is simply a linear programming problem. If the solution weight vector to this problem is ()42, then

the maximum possible expected return is (R,)™* = !, .

Then determine the portfolio with the smallest possible risk, (o = 0 in equation (11.16) )

min @' Cw
o

Li < w; < Ul‘ ; 1= 1, ,N . (1123)
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Figure 11.2: Efficient frontier, comparing results for long-only portfolio ((11.20) and a long-short portfolio
(same data except that lower bound constraint is replaced by equation (11.21)).

If the solution weight vector to this quadratic program is given by @Wp;n, then the minimum possible portfolio
return is (R,)™" = wy,;,fi. We then divide up the range [(R,)™"", (R,)™"] into a large number of discrete
portfolio returns (Rp)k; k = 1,..., Npis. Let e = [1,1,...,1]%, and

ot
A= [ » } . BF= { (Bp) ] (11.24)
e 1
then, for given (R,); we solve the quadratic program
min o' Cw
Aw = B*
with solution vector (@) and hence portfolio standard deviation sd((R,)r) = /(w)LC(w);. This gives us

a set of pairs (sd((Rp)k), (Rp)k), k=1, ..., Nps.

11.3 Adding a Risk-free asset

Up to now, we have assumed that each asset is risky, i.e. o, > 0,Vi. However, what happens if we add a
risk free asset to our portfolio? This risk-free asset must earn the risk free rate v’ = rAt, and its standard
deviation is zero. The data for this case is (the risk-free asset is added to the end of the weight vector, with
r’ =.03).

15 [ 20 .05 —.01 0.0
20| L 05 30 015 00
F=1 08| > %7 | 01 015 .1 00
03 | | 00 00 00 00
0 ] [ oo
0 00
L=\ s U= 2 (11.26)
—OO_ _OO
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Figure 11.3: The efficient frontier from Figure (all risky assets), and the efficient frontier with the same
assets as in Figure except that we include a risk free asset. In this case, the efficient frontier becomes
a straight line, shown as the capital market line.

where we have assumed that we can borrow any amount at the risk-free rate (a dubious assumption).

If we compute the efficient frontier with a portfolio of risky assets and include one risk-free asset, we get
the result labeled capital market line in Figure In other words, in this case the efficient frontier is a
straight line. Note that this straight line is always above the efficient frontier for the portfolio consisting of
all risky assets (as in Figure . In fact, given the efficient frontier from Figure we can construct the
efficient frontier for a portfolio of the same risky assets plus a risk free asset in the following way. First of all,
we start at the point (0,7') in the (sd(R,), R,) plane, corresponding to a portfolio which consists entirely
of the risk free asset. We then draw a straight line passing through (0,7’), which touches the all-risky-asset
efficient frontier at a single point (the straight line is tangent the all-risky-asset efficient frontier). Let the
portfolio weights at this single point be denoted by wj;. The portfolio corresponding to the weights wps
is termed the market portfolio. Let (R,)n = wh,ji be the expected return on this market portfolio, with
corresponding standard deviation sd((Rp)ar). Let w, be the fraction invested in the risk free asset. Then,

any point along the capital market line has

R, = wr' +(1—w)(Ry)m
sd(Rp) = (1—w) sd((Rp)m) - (11.27)

If w, > 0, then we are lending at the risk-free rate. If w, < 0, we are borrowing at the risk-free rate.

Consequently, given a portfolio of risky assets, and a risk-free asset, then all investors should divide their
assets between the risk-free asset and the market portfolio. Any other choice for the portfolio is not efficient.
Note that the actual fraction selected for investment in the market portfolio depends on the risk preferences
of the investor.

The capital market line is so important, that the equation of this line is written as R, = '+ Ay sd((R,)),
where Aj; is the market price of risk. In other words, all diversified investors, at any particular point in
time, should have diversified portfolios which plot along the capital market line. All portfolios should have
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the same Sharp ratio

Y . (11.28)

11.4 Criticism

Is mean-variance portfolio optimization the solution to all our problems? Not exactly. We have assumed
that u',o’ are independent of time. This is not likely. Even if these parameters are reasonably constant,
they are difficult to estimate. In particular, ' is hard to determine if the time series of returns is not very
long. Remember that for short time series, the noise term (Brownian motion) will dominate. If we have a
long time series, we can get a better estimate for p/, but why do we think y’ for a particular firm will be
constant for long periods? Probably, stock analysts should be estimating p/ from company balance sheets,
sales data, etc. However, for the past few years, analysts have been too busy hyping stocks and going to
lunch to do any real work. So, there will be lots of different estimates of i/, C', and hence many different
optimal portfolios.

In fact, some recent studies have suggested that if investors simply use the 1/N rule, whereby initial
wealth is allocated equally between N assets, that this does a pretty good job, assuming that there is
uncertainty in the estimates of u’, C.

We have also assumed that risk is measured by standard deviation of portfolio return. Actually, if I am
long an asset, I like it when the asset goes up, and I don’t like it when the asset goes down. In other words,
volatility which makes the price increase is good. This suggests that perhaps it may be more appropriate to
minimize downside risk only (assuming a long position).

Perhaps one of the most useful ideas that come from mean-variance portfolio optimization is that diver-
sified investors (at any point in time) expect that any optimal portfolio will produce a return

R, = r’ + )\MO'I/)
R, = Expected portfolio return
r’ = risk-free return in period At
Ay = market price of risk

o, = Portfolio volatility , (11.29)

where different investors will choose portfolios with different o), (volatility), depending on their risk prefer-
ences, but Ay is the same for all investors. Of course, we also have

Ry = 7+ uohy, . (11.30)

Note: there is a whole field called Behavioural Finance, whose adherents don’t think much of mean-
variance portfolio optimization.

Another recent approach is to compute the optimal portfolio weights using using many different perturbed
input data sets. The input data (expected returns, and covariances) are determined by resampling, i.e.
assuming that the observed values have some observational errors. In this way, we can get an some sort of
optimal portfolio weights which have some effect of data errors incorporated in the result. This gives us an
average efficient frontier, which, it is claimed, is less sensitive to data errors.

11.5 Individual Securities

Equation (11.30) refers to an efficient portfolio. What is the relationship between risk and reward for
individual securities? Consider the following portfolio: divide all wealth between the market portfolio, with
weight wj; and security ¢, with weight w;. By definition

wy +w; = 1, (11.31)
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and we define

RM = expected return on the market portfolio
R = expected return on asset i
oy = s.d. of return on market portfolio
o, = s.d. of return on asset i
Cim = 0NOipiM
= Covariance between ¢ and M (11.32)

Now, the expected return on this portfolio is

R,=FE[R, = w; R + wy RM
= w;R'+ (1 —w;)RM (11.33)
and the variance is
Var(R,) = (05,)* = w;(07)* + 2wiwn Ci ar + wiy (o)
= wi(o))? +2wi(1 —w;)Cinr + (1 —w;)?(ohy)? (11.34)

For a set of values {w;}, equations (11.33}[11.34) will plot a curve in expected return-standard deviation
plane (R, a;,) (e.g. Figure[11.3)). Let’s determine the slope of this curve when w; — 0, i.e. when this curve
intersects the capital market line at the market portfolio.

(o)

2(0) 5 P2 = 2wi(o))? 4+ 2(1 — 2w;)Ciar + 2(w; — 1)(0hy)?
w;
R
= R'— RM | 11.35
3w,~ ( )
Now,
J— 8E
OR, T
oo’ - 8(0;)
(o7) ot
_ (7~ RY) (o) (11.36)
wi(0})? + (1 = 2w;)Cinr + (wi — 1) (o) '
Now, let w; — 0 in equation (|11.36f), then we obtain
OR, _ (R — RM)(oy) (11.37)
d(ay,) Cim — (ohy)? '

But this curve should be tangent to the capital market line, equation at the point where the capital
market line touches the efficient frontier. If this curve is not tangent to the capital market line, then this
implies that if we choose w; = +e, then the curve would be above the capital market line, which should not
be possible (the capital market line is the most efficient possible portfolio). This assumes that positions with
w; < 0 in asset ¢ are possible.

Assuming that the slope of the R, portfolio is tangent to the capital market line gives (from equations

[I30[1L37)

B (@B
@) T G —(oh? (11.38)
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Figure 11.4: Return on Rogers Wireless Communications versus return on TSE 300. Each point represents
pairs of daily returns. The vertical axis measures the daily return on the stock and the horizontal axis that
of the TSE300.

or
R = 7”/+5¢(R7M—7”/)
_ Cim
= o

The coefficient f3; in equation ([11.39) has a nice intuitive definition. Suppose we have a time series of returns

(11.39)

(RY), = Return on asset i, in period k
(RM)r, = Return on market portfolio in period k . (11.40)

Typically, we assume that the market portfolio is a broad index, such as the TSX 300. Now, suppose we try
to obtain a least squares fit to the above data, using the equation

R~ a; +b;RM . (11.41)
Carrying out the usual least squares analysis (e.g. do a linear regression of R’ vs. RM), we find that
Cim
b = —» (11.42)
(o)?
so that we can write
R~ a; + B;RM . (11.43)

This means that f3; is the slope of the best fit straight line to a ((R")x, (RM)}) scatter plot. An example is
shown in Figure Now, from equation ((11.39) we have that

R = 1 +Bi(RM —v) (11.44)
which is consistent with equation (11.43]) if
R = o +BRM +¢
a; =7"(1-73)
Ele;, RM] =0, (11.45)
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since
E[R1=R = a;+BRM. (11.46)

Equation (11.46)) has the interpretation that the return on asset ¢ can be decomposed into a drift component,
a part which is correlated to the market portfolio (the broad index), and a random part uncorrelated with
the index. Make the following assumptions

Eleiej]] = 0 ; i#j
= e ; i=]j (11.47)
e.g. that returns on each each asset are correlated only through their correlation with the index. Consider

once again a portfolio where the wealth is divided amongst N assets, each asset receiving a fraction w; of
the initial wealth. In this case, the return on the portfolio is

i=N
R, = w; R’
=1
i=N 71‘:N
=1 i=1
and
i=N j=N i=N
sd(Rp) = \|(0h)2 ) Y wiwiBif + Y wie?
\ i=1 j=1 i=1

i=N 2 =N
= | (0h)? (szﬂz) + ) wie? (11.49)
] =1

Now, if w; = O(1/N), then

> wlel (11.50)

i=N
sd(Rp) ~ oy |> wifi (11.51)
i=1
Note that if we write
R = 7+ No| (11.52)
then we also have that
R = 7' +Bi(RM —¢) (11.53)
so that the market price of risk of security i is
(T —
A = Bil : ) (11.54)
;

which is useful in real options analysis.
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1 year | 2 years | 5 years | 10 years | 20 years | 30 years | 30 year bond
yield
-2% -5% 10% 8% 7% 6% 3%

Table 12.1: Historical annualized compound return, XYZ Mutual Equity Funds. Also shown is the current
yield on a long term government bond.

12 Some Investing Facts

12.1 Stocks for the Long Run?

Conventional wisdom states that investment in a diversified portfolio of equities has a low risk for a long
term investor. However, in a recent article (”Irrational Optimism,” Fin. Anal. J. E. Simson, P.Marsh, M.
Staunton, vol 60 (January, 2004) 25-35) an extensive analysis of historical data of equity returns was carried
out. Projecting this information forward, the authors conclude that the probability of a negative real return
over a twenty year period, for a investor holding a diversified portfolio, is about 14 per cent. In fact, most
individuals in defined contribution pension plans have poorly diversified portfolios. Making more realistic
assumptions for defined contribution pension plans, the authors find that the probability of a negative real
return over twenty years is about 25 per cent.

Let’s see if we can explain why there is this common misconception about the riskiness of long term
equity investing. Table shows a typical table in a Mutual Fund advertisement. From this table, we are
supposed to conclude that

e Long term equity investment is not very risky, with an annualized compound return about 3% higher
than the current yield on government bonds.

e If S is the value of the mutual fund, and B is the value of the government bond, then

B(T) = B(0)e™
r=.03
S(T) ~ S(0)e*T
a = .06, (12.1)
for T large, which gives
S(T=30)
S(0) . 18-9 _ .9
m = e =€ =~ 246, (122)
B(0)

indicating that you more than double your return by investing in equities compared to bonds (over the
long term).

A convenient way to measure the relative returns on these two investments (bonds and stocks) is to
compare the total compound return

S(T
Compound return: stocks = log [S((()))] =aoT
B(T
Compound return: bonds = log [B(O))} =rT, (12.3)
or the annualized compound returns
1 S(T
Annualized compound return: stocks = T log [S((O)) =«
1 B(T
Annualized compound return: bonds = T log [B((O))} =r. (12.4)
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Figure 12.1:  Histogram of distribution of returns T =5 years. p = .08,0 = .2, 100,000 simulations. Left:
annualized return 1/T 1og[S(T)/S(0)]. Right: return log[S(T)/S(0)].

If we assume that the value of the equity portfolio S follows a Geometric Brownian Motion

dS = pSdt+oSdZ (12.5)
then from equation (2.57) we have that
S(T) o2 9
1 —— | ~N({(p— —=—)T,0°T 12.6
og(s(o)) (0 =5)T,0°T) (12.6)

i.e. the compound return in is normally distributed with mean (u — %2)T and variance o2T, so that the
variance of the total compound return increases as T' becomes large.
Since var(aX) = a*var(X), it follows that

% 1og (ig))) ~ V(- )07 (127

so that the the variance of the annualized return tends to zero at T becomes large.

Of course, what we really care about is the total compound return (that’s how much we actually have at
t =T, relative to what we invested at ¢ = 0) at the end of the investment horizon. This is why Table
is misleading. There is significant risk in equities, even over the long term (30 years would be long-term for
most investors).

Figure shows the results of 100,000 simulations of asset prices assuming that the asset follows
equation , with 4 = .08,0 = .2. The investment horizon is 5 years. The results are given in terms of
histograms of the annualized compound return (equation ) and the total compound return ((equation
(112.3)).

Figure shows similar results for an investment horizon of 30 years. Note how the variance of the
annualized return has decreased, while the variance of the total return has increased (verifying equations
(112.6H12.7)).

Assuming long term bonds yield 3%, this gives a total compound return over 30 years of .90, for bonds.
Looking at the right hand panel of Figure [12.2]shows that there are many possible scenarios where the return
on equities will be less than risk free bonds after 30 years. The number of scenarios with return less than
risk free bonds is given by the area to the left of .9 in the histogram.
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Figure 12.2:  Histogram of distribution of returns T = 30 years. p = .08,0 = .2, 100,000 simulations. Left:
annualized return 1/T 1og[S(T)/S(0)]. Right: return log[S(T)/S(0)],

a | Pr(S(T)) < aE[S(T))
1.0 0.61
0.9 0.53
0.8 0.45
0.7 0.35
0.6 0.25
0.5 0.16

Table 12.2: T = 30 years, 0 = 0.10, i = 0.04. For example, there is a 25% chance that the realized value
of S(T') is less than 60% of the expected value.

12.1.1 GBM is Risky
Consider an investment which follows Geometric Brownian Motion

as

g = pdt+odZ . (12.8)

GBM has a very large relative standard deviation for long times, even for moderate volatilities. From

equations (2.67]- , we have

E[S] = Soel’bt
standard deviation[S(t)] =y (12.9)

E[S(?)]

Figure m shows some Monte Carlo simulations (30 realizations) along with the mean path. You can
see that there is a large spread compared to the mean path. Figure shows the probability density of
S(T)/E[S(T)].

Table shows the probabilities of underperforming the mean path. This is something which financial
planners never tell you. As well, there is standard method for determining the financial health of a pension
plan called going concern valuation. Essentially, this method assumes that the plan investments will follow
the mean path. You can see from table that this is an extremely risky idea.
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Figure 12.3: Thirty Monte Carlo realized Geometric Brownian Motion paths, compared with mean path.
o =.10, p=.04, T = 30 years.
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Figure 12.4: Probability density of S(T)/E[S(T)]. This is a log-normal density, which is highly skewed.
o = .10, p = .04, T = 30 years. The median of this distribution is always less than the mean.
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12.2 Volatility Pumping

Consider an investment with value S(t;) = S;. We consider some discrete sets of times t1,..,t,. Let the
value of the the investment at ;.1 be S;y1 = X;S; The total relative gain G is

Gt = S,/8
— X1 X5 X, . (12.10)

The average compound return A,.; is given by

1

Aret n—1 log(S’ﬂ/Sl)
1 i=n—1
= log X; 12.11
— D logX; (12.11)

i=1

Suppose the X; are random, independent, and identically distributed. Then the expected average compound
return is

E[Aret]

= E[log(X)] (12.12)

where E[log(X)] is the expected value of log(X;), which is the same for any period, since we have assumed
that the gains X; are independent and identically distributed. Suppose we have an investment a which has
the gain distribution

1
X = 2 ; with probability 5
1 . e, L
= 5 with probability 3 (12.13)
The expected average compound return of a is is
1 1 1
El(Aret)?] = =log(2)+ =log(=
[(Ared)”] 5 10g(2) + 5 log(3)
= 0 (12.14)

Suppose we have investment b, has the gain distribution
X = 1 ; with probability 1 . (12.15)
Clearly b has expected average compound return of zero as well, i.e.

E[(4;e)"] = 0 (12.16)

However, consider the following strategy. At the beginning of each period, we divide our total wealth
equally into investment a and investment b. This is a rebalancing strategy. Now, let’s work out our expected
average compound return F[(A,.;)ftebalance]

1 1 1 1 1
E[(Aret)Rebalcmce] _ 5 10g(§ + 1) + 5 10g(§ + Z)

~ 6% . (12.17)

Let’s summarize this result. We have constructed a portfolio consisting of two assets, a and b. Each
of these assets has zero average compound return. However, the rebalancing strategy generates an average
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compound return of 6%. This is a bit surprising. This is the whole idea behind the well known strategy
of frequently rebalancing a portfolio. This allows us to buy low, sell high, and generate a positive average
compound return, even though the components of the portfolio may individually have zero expected average
compound return.

We can formalize this idea in continuous time in the next section.

12.2.1 Constant Proportions Strategy

Suppose we have n assets S;;,i = 1,..,n which follow

Suppose our investment strategy at time ¢ is to invest n;(¢) in each asset. Note that n,(¢) is a function of
time in general. As usual, we cannot peek into the future, i.e. we have to pick n;(t), and then let the asset
evolve randomly in ¢t — ¢ 4+ dt. At t + dt, we can then rebalance our portfolio.

Let

= Zni(t)Si(t) (12.19)

be the value of our portfolio at ¢t. Since P = P(S1, ...,.S,), we will need the multidimensional version of Ito’s
Lemma. To keep things general here, suppose that

G = Gt 5,..,5)
E[lede] = pPik dt (12.20)

where p;i is the correlation between dZ; and dZy. Then

dG = |:Gt + Z ak + = Z 85 a5, bkbmpkm:| dt + Z 7{);@ dZy, . (12.21)

We will be interested in the log return on our portfolio. Consider G = log P(t). Using Ito’s Lemma
(12.21)) for the case where a; = p;S; and b; = 0;S;, then

Gy = 0

Nk

Gsk = ?

NEMNm
Gsism = ~p3 - (12.22)
Combining equations (12.21112.22), gives
Nk Se 1 NN Sk SOk Om Pm NgNESkOk

dG = _ = = dt ——— dZ . 12.23

Now, suppose we choose a constant proportions strategy, i.e we rebalance at every time so that we have a
constant weight w; in each asset,

P(t)
S wi=1. (12.24)
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Note that w; is independent of ¢, since we rebalance at every opportunity. We can then write equation

(12.23) as (using equation (12.24))

1
dG = [Z Wi b — 3 Zwkwmakampkm} dt + Zwkak dz, . (12.25)
k k

k,m

Equation ((12.25)) has the exact solution
Git) = G0)+

{Z Wi bl — % Z wkwmakampkm] t+ Z wror(Zk(t) — Z,(0)) . (12.26)
k k,m k

Now, let’s look at what happens for the special case

i = po;Vi
o = o ;Vi
1 .
w, = — ;Vi. (12.27)

n

Recall that G(t) = log(P(t), so that, using equation (12.27)), equation (12.26]) becomes

1og<]]j((é))> - [u -~ 022—7112 k}% pkm] t+ % ;(Zk(t) — Z1,(0)) (12.28)
so that |
(i) - -5
As well,

var[log(];((é)))] = {02<n12 ;npkm>]t. (12.30)

Recall that for a single asset which follows Geometric Brownian Motion
dS = pSdt+oSdZ (12.31)
with constant y, o, then (from equation (2.58))

1og(§(((t)))> = (u- %Z)t +o(Z(t) — Z(0)) (12.32)

so that the mean and variance of the log return are

()] - -

var[log(%)} = o’t. (12.33)
Since
%Zpkm <1 (12.34)
km
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then, in this special case,
ole(mm)] = #les(so)
var [log(%)} < war {log( S(é >} (12.35)

so that in this case, using a constant weight portfolio, even if all the assets in the portfolio have the same
drift, then the portfolio has a larger drift. Note that the variance of the portfolio is also usually reduced as
well (the usual diversification result).

This enhanced drift is sometimes called volatility pumping, since the effect is large if the volatility is large.
Note that for a single asset, the drift of the log return is reduced to u — "72 by the volatility. The constant
weight portfolio reduces the effect of the volatility on the drift term.

12.2.2 Leveraged Two Times Bull/Bear ETFs

Recently, new ETF's (exchange traded fund) have been marketed which allow investors to receive
e Twice the daily return of the index (Bull version).
e Twice the daily negative return of the index (Bear version).

Are these ETFs a good idea? Here is an interesting fact. Suppose you hold equal amounts of both Bull
and Bear versions. Then, after a finite period of time (say one year), what is your expected gain? You might
think it would be zero. However, if the market is very volatile, you can end up losing on both ETFs.

We can use the analysis of Section to examine these ETFs. The ETFs are actually an investment
strategy which works as follows. Suppose you invest $100 in the Bull version. The manager of the fund then
borrows another $100, and invests $200 in the index, at the start of the trading day. The total position of
the manager is (200 — 100) = 100. At the end the day, suppose the market goes up by 10%, this gives the
manager a total position of (220 — 100) = 120. Assume you leave your money in the ETF for the following
day. At the start of the next trading day, the manager rebalances, so that he has $240 in the index, and
a total borrowing of $120, so that his total position is (240 — 120) = 120. Let’s approximate this daily
rebalancing by a continuous rebalancing, so we can use equation .

In this example, we have two assets, the risky index and a risk free bank account, which we assume grows
at rate r. (This is unrealistic, no bank is going to loan the fund manager at the risk-free rate).

In this case

b = p

pe = T

gy = 0

Oy = 0
piz=p2a1 = 0. (12.36)

From equations ([12.26)) and (12.36]) we have
2 2
Ellog(Return)] = (wip+ war — |w1|2 7 )t
stdllog(Return)] = (|wi|o) V() , (12.37)
where wy, wo are the weights in each asset, and we have
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For simplicity, let’s let t = 1 in equation (12.37).
Now, let’s suppose that

uw = r+io (12.39)

where A is the market price of risk. Let’s examine the Sharpe ratio of this investment strategy. We will look
at the excess return here, i.e. expected return in excess of the risk-free rate. Our Sharpe ratio in terms of

excess return is (using equations ((12.38| and [12.39) )

|w1|202
WLl + war — —

- T

Sratio = |’LU |O’
1

WIAO — 7|w1|2202
lwi|o
[wilo

= sgn(wy)A — 5

(12.40)
Note that the Bear ETF (w; = —2) only makes sense if we assume that the drift is less than the risk-free
rate, i.e. A < 0. Now, suppose w; = 2, which is the Bull ETF strategy. This gives us

SBull - — X —¢g. (12.41)

ratio

Now, suppose we had an ETF (the Forsyth fund) which rebalanced daily with wy = 1/2. In this case, we
have
SForsyth  _ \ _ % (12.42)
which is always better than equation ((12.41]), especially if the volatility is high. In other words, you could
achieve the same expected gain with a smaller standard deviation by borrowing to invest in the Forsyth
Fund, compared to the Bull ETF.
Why to these Bull ETFs exist? Good question. I am sure it generates lots of fees for the fund managers.

12.3 More on Volatility Pumping

In the last section we considered optimality in terms of the continuously compounded return, i.e. log(P(t)/P(0)).
This is really a type of log utility function. This section is based on the paper “A dual approach to port-
folio evaluation: a comparison of the static, myopic and generalized buy and hold strategies,” Quantitative
Finance Vol 11 (2011) pages 81-99.

You can get further insights here by looking at the actual values of P(t)/P(0). Let’s look at a simple

case for equation (|12.26)), with

pr=p; p2=1;01,=0; 02=0; p1o=po1 =0. (12.43)
From equations and we get (G(t) = log(P(t)))
G(t) = G(0) + (1 — wy)rt + wyput — %wfa% +w10(Z1(t) — Z1(0)) . (12.44)
Some Ito calculus also shows that
dpP
- = ((1 —wl)r—f—wly) dt + wiodZ; . (12.45)

The exact solution to equation ((12.44)) is
P(t)

P(0)

e(l—wl)rt+u11,ut e—w%a2t/2 ewla(Zl(t)—Zl(O)) ) (12.46)
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Now

Sy (t) = Sy (0)ert=o" /2o (Z1(1)=22(0)) (12.47)
or
Sp(t)\ " t—w10? )2t wio(Zy () —Z(1))
_wapt—wio?/2t o . 12.48
(Sl o ¢ e (12.48)

Substituting equation (12.48)) into equation (12.46) gives

w1y
7P(t) = e(l—wl)f’t+w1(1—w1)02t/2)(Sl(t)) ) (12.49)

P0) 51(0)

Suppose S1(t) = S1(0) (i.e. a sideways market), and r = 0, then equation (12.49) gives

P(0)

Pt)  _ oft/2w(-w) (12.50)

This means that in a sideways market, we will get a positive return if 0 < w; < 1 (the pumping effect). On
the other hand, if w; < 0 or wy > 1, we will get a negative return (e.g. leveraged ETF's).

It is also interesting to compare equation with a static portfolio, where we take our initial wealth
P(0) and buy w1 P(0)/S1(0) shares of asset 1, and put (1 —w;)P(0) into the risk free bond (asset 2). In this
case, the static or buy and hold portfolio will yield

S (t)
51(0)

— L = (1—w)e™ +w (12.51)

12.3.1 Constant Proportion Portfolio Insurance

Another idea for providing some sort of insurance on a portfolio is Constant Proportion Portfolio Insurance
(CPPI). In its simplest form, we can consider the possibility of investing in a risky asset (with price S) and
a risk free bond (price B). If B < 0, this represents borrowing. Consider a set of rebalancing times ¢;, with
At = ti+1 — ti. Let

B(t;) = B; = Amount in risk free asset at ¢;
S(t;) =S; = Price of risky asset at t;
a(t;) =«; = Number of units of risky asset at t;
P(t;)= P, = = total portfolio at ¢;
M(t;) = M; = CPPI multiplier at ¢,
F(t;))=F, = CPPIfloorat t; .

(12.52)

A CPPI strategy is determined by specifying a floor F; and a multiplier M;. The state of the strategy is
given by a; and B;. At each rebalancing date ;1 the following reallocation takes place

max(O, Bl-eTAt + aiSZ'+1 - Fi+1)
Sit1
Bis1 = Bie"™ — (g1 — ;) Sip1 (12.53)

Qi1 = Mi+1

Usually M; > 1, so that the strategy becomes more invested in the risky asset as the total wealth (B;e™t +
«;S;+1) increases above the floor. As the wealth decreases, more assets are diverted to the risk free bond,
hence the floor is the lowest possible value of the portfolio (if the rebalancing interval is infinitesimal).
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T 1.0

o A4

w (real world drift) .10

Py (initial wealth) 100

T .02

rebalancing frequency 250
initial cash 100

initial risky asset position aq 0

Table 12.3: Data used in the CPPI strategy experiments.

F|M Mean Standard Deviation | VAR (95%) | CVAR (95%)
0| 1 | 0.021876 0.39973 -0.63697 -0.80533
0] .5 0.04094 0.19986 -0.28857 -0.3724
0 2 -0.13662 0.80046 -1.4576 -1.7951
80 | 2 .037598 0.1809 -0.1563 -0.17154
80 | 4 | 0.0083732 33117 -0.21038 -0.2142

Table 12.4: Results in terms of the log return (12.54)), data in Table 80,000 Monte Carlo simulations.

Consider the case where M; = M = const., F; = F = const.. Then M = 2, F = 0 corresponds to the
Bull ETF. A more conservative constant proportions strategy might be M = .5, F = 0. A typical CPPI
strategy would be F = .85y, M = 2. Consider the data in Table

We will measure the performance of these strategies by examining the statistics of the log return

log(P(T)/P(0)) -

Table gives the results for different choices of M, F. Table indicates that F' = 80, M = 2 is a good
strategy. The leveraged Bull ETF is very bad.

Figure shows the density of the log return for the strategy with F' = 80, M = 2. Note the highly
skewed distribution.

R = (12.54)

12.3.2 Covered Call Writing

Another popular strategy is covered call writing. There are now some ETFs which follow this strategy.
Basically, you own the stock and sell a call on the stock. The optimal strategy turns out to be to sell a
call with a strike just above the current stock price. Using the parameters in Table this strategy was
simulated with a strike of K = 100.1. The results are shown in Table The probability density of the
log return is shown in Figure [I2.6] Note the highly skewed distribution.
If C(t) is the call price, and P(t) is the put price, then Put-Call parity for European options is

Ct)—Pt)+ Ke "It =g (12.55)
A covered call is S — C(t), which is equivalent to
S—C(t) = Ke "T7Y — P(t) , (12.56)

which is long the risk free account Ke~"(T=% and short a put. In other words, owning stock worth K and
selling a call with strike K is equivalent to investing K in a risk free account and selling a put. This is a bet
that the market won’t go down, and hence the investor gains the insurance premium (the put). This results
in the highly skewed return distribution.

114



Probability Density: CPPI
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35+ -
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Log return

Figure 12.5: Probability density (y-axis) of the log return (12.54)), F' = 80, M = 2.

Mean | Standard Deviation | VAR (95%) | CVAR (95%)
0.034853 0.18239 -0.3574 -0.48052

Table 12.5: Results in terms of the log return (12.54)), data in Table 80,000 Monte Carlo simulations.
Covered call, K = 100.1.

Covered call writing is often justified by back testing, i.e. seeing what would have happened by applying
the strategy to historical market data. This amounts to examining a single stochastic price path. From the
probability density shown in Figure we can see that the most frequently observed outcome (the highest
value on the graph) is quite good. This is, of course, not the mean outcome, and does not take into account
the tail of the plot. This explains why backtesting strategies which are very skewed often suggests that these
strategies work well (since the historically observed single stochastic path is most likely one where nothing
bad happens).

In “Derivatives in portfolio management: Why beating the market is easy” (F-S Lhabitant, EDHEC
Business School, 2000), the author suggests that use of covered call writing allows fund managers to pretend
they are providing superior returns in terms of Sharpe ratios. This paper suggests that this is simply due to
the inadequacy of the Sharpe ratio in this situation, since the return distribution is far from normal.

12.3.3 Stop Loss, Start Gain

A simple idea for providing some sort of portfolio insurance is to use stop loss triggers. This can be set
automatically through an online broker. The idea is to set a floor price K, and sell the asset if the stock
price S falls below K. Of course, there is no guarantee that the order will be executed at K. What happens
is that a market order is submitted if the price drops below K and the stock is then sold at whatever bid
price appears on the order book. If the stop-loss is triggered, we assume that the investor simply holds the
cash in a risk free account until the end of the investment period. We call this the pure stop-loss strategy.

Similarly, if one believes that this is a good investment, one could couple this with a start-gain. Once the
stock has dropped below K and has been sold, the investor could then set a start-gain order. If the stock
rises above K, then a market order is submitted, and the stock is purchased at whatever ask price appears
on the order book.

Alternatively, one could simple buy a European put option a with strike K. This would guarantee
that the terminal value of the stock holding would never drop below K. In other words, we take out
initial investment, buy a put, and then invest whatever is left over in the stock. However, this strategy is
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Probability Density Covered Call
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Figure 12.6: Probability density (y-axis) of the log return ([12.54)), covered call strategy. Data in Table
80,000 Monte Carlo simulations. Covered call, K = 100.1.
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Table 12.6: Data used in the stop-loss start-gain strategy experiments. K is the stock price stop-loss trigger.

T 1.0

Py (initial wealth) 100

T .02

rebalancing frequency Every 3 hours
initial cash 100

initial risky asset position 0
Stop loss price trigger K 90

K is the strike price of the European put if the Buy-Put strategy is used.

o | p | Mean [ Standard Deviation | VAR (95%) | CVAR (95%)
Pure Stop-loss
2 | .10 | 0.062856 0.18242 -0.10453 -0.10807
.15 | .10 | 0.077945 0.14964 -0.10252 -0.10585
Stop-loss start-gain
2 | .10 | 0.073376 0.19646 -0.21016 -0.26076
.15 | .10 | 0.085093 0.15126 -0.15222 -0.18997
Buy put
2 | .10 | 0.068787 0.16958 -0.13479 -0.13545
.15 | .10 | 0.079694 0.13723 -0.12048 -0.12095

Table 12.7: Comparison of stop-loss start-gain with buy put strategies. Results in terms of the log return of
the portfolio. Data in Table [I12.6] 80,000 Monte Carlo simulations. GBM with volatility o, real world drift
. Buy-Put strategy includes the cost of buying the put in the portfolio return.

psychologically unappealing, since we have to pay for the put, which represents an immediately realized cost,
and this would reduce the return on the portfolio.

Of course, the stop-loss start-gain strategy accumulates costs since we always sell low (K — €) and buy
high (K +¢).

As an example, we will assume GBM, with the parameters given in Table [[2.6] The stop-loss start-gain
strategy is compared with a buy put strategy in Table [I2.7] The density of this strategy is highly skewed,
but the buy-put strategy definitely protects better against extreme losses. Stop-loss start-gain strategies are
negatively affected by volatility.

12.4 Target Date: Ineffectiveness of glide path strategies

It is often suggested that investors should purchase Target Date (Lifecycle) funds. These funds are for
investors saving for retirement in 20 — 30 years. The idea here is to start off with high proportion in equities
(i.e. 100%), and then gradually rebalance to a large proportion in bonds (i.e. 80%) as the target date is
approached. We will show here that this strategy does not make much sense.

Assume we have two assets, the bond B and risky asset S

ds =
dB

wS dt +oS dZ

rB dt . (12.57)

Let W = S + B be the total wealth. Initiallyy, W = Wy at ¢ = 0. We will evaluate the performance of
different strategies by examining the mean and standard deviation at t = T.
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Probability Density Probability Density
T T T T

25F 1

(a) Buy Put (b) Pure Stop-Loss

(c) Stop-Loss Start-Gain

Figure 12.7: Densities of the log return, Buy Put, Pure Stop-Loss and Stop-Loss Start-Gain. Data in Table
12,6 o = .20.
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Suppose we specify a deterministic glide path, i.e.

_ 5
N
= ()
with continuous rebalancing, then
aw = W dt+ o'W dZ

p=pp+L-—pr; o =po

Let W, = E[W,], then from equation ([12.59) we obtain (see Section [2.6.3| for details)

th = /j/l Wt dt

which gives

Wr =EWr] = Woe'™"
pr=pp+ (1 —pr

per

dG = [2p/ + (0/)’] W? dt +2W?¢’ dZ
= 20+ (¢')?] G dt+2Go’ dZ

Let G = W2. From Ito’s Lemma

Let
G, = E[G,] = E[W?]
then
dGy = [24/ + (0')?] Gy dt + 2G0’ E[dZ]
—
= [20/+(0")?] Gy at
so that

GQGIOT 2u dt-i—foT(U')2 dt

W()QBQ;L*TefoT(U,)Q dt

Gr = E[Gr] = E[WF]

Combining equations ((12.61]) and (12.65)) gives
Var[W] = E[W7] - (E[Wr])?
— W02€2;L*T (602 fOT p(s)? ds 1)

or

Stndrd dev[Wr] = E[WT]\/€02 Jop(s)? ds _q

Now, consider two strategies
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e Glide Path: choose a glide path strategy p = p(t).

e Constant Mix: choose a fixed constant fraction p = p* to invest in equities, where

P = T/o p(s) ds (12.68)

From equation (|12.61]), both these strategies have the same expected value. From equation (12.67)), the
Constant Mix strategy has standard deviation

Stndrd dev|Wr| = E[Wr]Veo®)*T —1 (12.69)

Now,

@)’T = H /OTP(S) dS] T
= [ OTp(S) dsr %
< /OTp(S)Z ds (12.70)

where the last step follows from the Cauchy-Schwartz inequality.
Consequently, it follows from equation (12.67), (12.69) and (12.70) that

Stndrd dev]Wr] < Stndrd dev[Wr] (12.71)
| ——— | ———
Constant Mix Glide Path

while from the definition of p* in equation (|12.68|) and equation (12.61]) we have

EWr] = EWr] (12.72)
N—— N——
Constant Mix Glide Path

We can summarize this as follows

Theorem 1 (Ineffectiveness of Glide Path Strategies) Consider a market with two assets following
the processes . For any continuously rebalanced deterministic glide path strategy p = p(t) where p is
the fraction of total wealth invested in the risky asset, there exists a constant mix strategy p = p*,

T
pr= %/0 p(s) ds (12.73)

such that
o The expected value of the terminal wealth is the same for both strategies.

o The standard deviation of the glide path strategy cannot be less than the standard deviation of the
constant miz strategy

Remark 1 We can get the same result if we assume a jump diffusion process.

Example 1 (Linear glide path) Suppose we use a linear glide path, i.e.

t
p(t> =  Pmax T T(pmin _pmax) 5 te [O,T] (1274)

120



which gives us

1 /7
Pt = T/o p(s) ds
— Pmax +pmin ) (1275)
2
and
T [pmax + i(pmin - pmax)]S T
02/ p(s)? ds = 02[ — }
0 T(pmin - pmax) 0
1 (Phax = Pnin)
2 max min
= o —7= - 12.76
3 Pmax — Pmin ( )
Suppose pmin = 0, then from equation and equation , we obtain
1/2
2,2 T
Stndrd dev[Wy] = E[Wr) <exp("pj;“) - 1) (12.77)
—

Constant Mix

while from equation and equation we obtain

1/2
2 2' T
Stndrd dev|Wr] = E[Wr] (exp(w’;‘x) - 1) (12.78)
—_——

Linear Glide Path

The takeaway message here is that you need to use an adaptive strategy (i.e. one that responds to your
current wealth) in order to beat a constant mix strategy. This requires solution of an optimal stochastic
control problem.

12.4.1 Extension to jump diffusion case

Let the risky asset S follow the process

dS;

o = (W=ME[J-1)di+odZ+(]~1)dg (12.79)

where A is the jump intensity representing the mean arrival rate of the Poisson process

i — {o with probability 1 — \ dt (12.80)

1  with probability A dt

and when a jump occurs, S — JS, with J being a random jump size. The Poisson process, the Brownian
motion, and the jump size process are all independent.
We assume that the bond process follows

dB = rBdt. (12.81)

Let W = B+ S, then, if p = S/W, with continuous rebalancing, then

dw,
W,

= g dt—NpE[J]+ (1 —p)—1] dt+o" dZ +[pJ + (1 —p) —1] dq

W dt — \pE[J — 1] dt + o' dZ + p(J — 1) dq
W=pu+(1l—-—pr ; o =po. (12.82)
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Let W; = E[W,], then
th = ,LL/Wt dt
and

WT:E[WT] = Woe“*T
pt=pp+ (1 —pr

roif

Write equation (12.82)) as

AWy
Wi

= pdt+o dZ+p(J—1)dg
fr=1[pp+ (1 —p)r] = ApE[J —1] .

Now, let Gy = W2. From equation ((12.85)) and Ito’s Lemma for jump processes, we obtain

dG
W; 241+ (0/)?] dt + 20" dZ + [(pJ + (1 — p))* — 1] dg
2
or
dGy . "2 ' 2
- = 24+ (6")*] dt +20" dZ + [(p(J — 1) + 1)° — 1]dg
o

= [24+ (¢))?] dt +20" dZ + [(p*(J — 1)* + 2p(J — 1)]dg
Let Gy = E[G;] = E[W?], so that, from equation (12.87) we obtain
.

g, = 2/ + (0)?] dt + (Ap2E[(J— 1)?] 4+ 2\pE[(J — 1)]) dt

which gives
Gr = Goexp [(Q(p*,u + (1 —=p")r) — 2X\p*E[J — 1])T

4 (02+)\E[(J—1)2])/0Tp2 dr + <2Ap*E[J—1}>T

or

EW7] = (E[Wr])?exp

T
(02 + AE[(J — 1)) /0 p? dt]

From Var[Wr] = E[W2] — (E[Wr])?, we obtain

T 1/2
(02 + \E[(J — 1)2])/ P dt] - 1)
0

Now, using equation ([12.70[), we can easily prove the following result.

Stndrd Dev[Wrp] = E[Wr] (exp
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Theorem 2 (Ineffectiveness of glide path strategies: jump diffusion case) Consider a market with
two assets following the processes (12.79) and (12.81). For any continuously rebalanced deterministic glide
path strategy p = p(t) where p is the fraction of total wealth invested in the risky asset, there exists a constant
mix strategy, with p* being the constant fraction invested in the risky asset, where

pr= %/0 p(s) ds (12.92)

such that
o The expected value of the terminal wealth is the same for both strategies.

e The standard deviation of the glide path strategy cannot be less than the standard deviation of the
constant miz strategy

12.4.2 Dollar cost averaging

Suppose you have a lump sum Wy to invest. You have a target asset mix of p fraction in the risky asset. Is
it better to gradually buy stocks? This is often suggested, since this way you are dollar cost averaging.

Let t* be the period over which you dollar cost average, and T be the target date of your investment.
Then, dollar cost averaging amounts to this deterministic strategy

p(t) = min(?f,ﬁ). (12.93)

However, from Theorem |1} this strategy cannot be better than buying p*W, right away (p* defined in

equation (12.73))).

12.5 Bootstrap Resampling

An alternative to using Monte Carlo simulation to evaluate investment strategies is bootstrap resampling. This
method samples historical returns directly, thus avoiding the need to estimate parameters for a parametric
stochastic model. This is also considered to be superior to the the traditional rolling period method. E|

As a first step, the historical index would be converted to a list of returns, i.e. if .S; is the stock index at
time t; = ¢At, then the log return AX; for period (¢;,t;4+1) would be

This set of returns {AX;} would be the input data for the bootstrap resampling algorithm. As an example,
we will assume that the data is converted to monthly returns, i.e. At = 1/12 years. Of course, any other
sampling period could be used.

A single bootstrap resampled path can be constructed as follows. Divide the total investment horizon of T
years into k blocks of size b years, so that T = kb. We then select k blocks at random (with replacement) from
the historical return data. Each block starts at a random month. A single path is formed by concatenating
these blocks. The historical data is wrapped around to avoid end effects, as in the circular block bootstrap
ﬂ This procedure is then repeated for many paths.

The sampling is done in blocks in order to account for possible serial dependence effects in the historical
time series. The choice of blocksize is crucial and can have a large impact on the results. If we were
interested in an investment strategy where the portfolio was a stock index and a bond index, then we would
simultaneously sample stock and bond returns from the historical data. This would preserve and correlations
between stock and bond returns.

1H. Dichtl, W. Drobetz and M. Wambach, “Testing rebalancing strategies for stock-bond portfolios across different asset
allocations,” Applied Economics, Vol 48 (2016) 772-788.

2D. Politis and J. Romano, “The Stationary Bootstrap”, Journal of the American Statistical Association, Vol 89 (1994)
1303-1313.
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To reduce the impact of a fixed blocksize and to mitigate the edge effects at each block end, we use
the stationary block bootstrap. The blocksize is randomly sampled from a geometric distribution with an
expected blocksize b. The probability that the blocksize b, drawn from a geometric distribution, is &, is

Prib=k = (1-p)*'p; k=12,...
1
== (12.95)

The pseudo-code for block bootstrap resampling is given in Algorithm [I2:1] This algorithm returns a
single bootstrapped path. We would generate many such paths. In the case of a stock and bond portfolio,
then we would this algorithm to simultaneously draw returns from various stock and bond indexes to evaluate
an investment strategy.

Require: Function geo( b ) ; returns draw from a shifted geometric distribution with mean b
Require: Function rand_int( N ) ; returns a uniformly distributed draw from {1,2,..., N}

input: Vector of returns AX; ; ¢ =1,..., N ; Expected block size b ; Number of samples N,
initialize: actual_block_size = 0 ; total_samples = 1 ; sub_block_total = N

while (total_samples < N;) do
if (sub_block_total > actual_block_size) then

actual_block_size = geo( b ) {restart subblock}

index = rand_int( N ) {choose random starting index}
sub_block_total = 1

end if

index = mod( index, N) {circular bootstrap}

out_array( total_samples ) = AX;nder
index += 1 ; total_samples += 1 ; sub_block_total +=1
end while

return out.array(i) ; i =1,..., N,

Algorithm 12.1: A single stationary block bootstrapped sequence of returns.

12.5.1 Data and Investment Portfolio

We assume that the investment portfolio consists of only two assets. One of the assets is a broad stock
market index, and the other asset is a risk-free bond.

The data used in this work was obtained from Dimensional Returns 2.0 under license from Dimensional
Fund Advisors Canada. In particular, we use the Center for Research in Security Prices (CRSP) Deciles
(1-10) index. This is a total return value-weighted index of US stocks. We also use one month Treasury bill
(T-bill) returns for the risk-free assetﬁ Both the equity returns and the Treasury bill returns are in nominal
terms, so we adjust them for inflation by using the US CPI index. We use real indexes since long-term
retirement saving should be attempting to achieve real (not nominal) wealth goals. All of the data used was
at the monthly frequency, with a sample period of 1926:1 to 2017:12.

A crucial parameter for block bootstrap resampling is the expected blocksize. We have carried out our
tests using a range of expected blocksizes. Although the absolute performance of variance strategies is mildly
sensitive to the choice of blocksize, the relative performance of the various strategies appears to be insensitive
to blocksize. We show results for a blocksize of two years in the following.

3We have also carried out tests using a 10 year US treasury as the bond asset. The results are qualitatively similar to those
reported in this section
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Investment horizon (years) 45

Equity market index Value-weighted CRSP deciles 1-10 US market index
Risk-free asset index 1-month T-bill

Historical Period 1926:1 - 2017:12

Initial investment Wy 500

Real investment each year 20.0 (0 <t; <15), —40.0 (16 < t; < 45)
Rebalancing interval (years) 1

Table 12.8: Input data for examples. Cash is invested at t; = 0,1,...,15 years, and withdrawn at t; =
16,17,...,45 years. Units for real investment: thousands of dollars. All indexes are deflated using the US
historical CPI index.

12.5.2 Investment scenario

Table shows the parameters for our investment scenario. Let’s call our investor Bob, whose cumulative
saving and investments totals $500,000 by at age 50. We assume that Bob has with a constant salary of
$100,000 per year (real), and saves 20% of his salary for 15 years (i.e. this would include both employee and
employer contributions to a tax advantaged registered account), until retirement at age 65. Upon retirement,
Bob withdraws $40,000 for 30 years (adjusted for inflation) from his investment account. We assume that
government benefits for Bob (CPP and OAS), will total about $20,000 (in constant dollars), which will mean
that Bob collects a total of $60,000 per year in retirement, which is about 60% of pre-retirement income. Note
that these amounts are all real (inflation adjusted). We do not consider escalating the (real) contribution
during the accumulation phase (which also impacts the desired replacement ratio), although this is arguably
more realistic.

Assuming flat contributions and withdrawals, we can interpret the above scenario as an investment
strategy which allows real withdrawals of twice as much as real contributions. We shall see that this rather
modest objective still entails significant risk. As indicated in Table we assume yearly rebalancingEI

12.5.3 Deterministic Strategies

Defining the fraction invested in the stock index as p, then a common strategy is to simply rebalance to a
constant weight at regular intervals (in this case we are assuming yearly).

Alternatively, target date funds specify a time dependent fraction in stocks p(t), with a high equity
fraction in the early years, and then reducing the equity fraction to and through retirement. The model
glide path (MGP) below is characteristic of a typical target date fund (TDF) path, where we assume that
t = 0 corresponds to age 50.

p(t) = max(pminap*)
. t
P = Pmax + ti(pmin - pmax)
const
Do = 75 3 Prain = 30 ; teomst = 22 (12.96)

This glide path is not the path used by any particular fund, but has the characteristics of a typical TDF.

12.5.4 Criteria for Success

In practice, it is usually the case the investors saving for retirement are most concerned with running out
of savings during retirement. In our tests of various strategies, we will focus on the risk of shortfall, as
measured by

4More frequent rebalancing has little effect for long-term (> 20 years) investors.
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Method Median[Wr)  std[Wp]  Pr(Wr <0] 5% CVAR TimeWtd
Equity Fraction

p=.35 1100 1358 .092 -324 .35
p=.45 1852 2370 .060 -275 45
p=.55 2821 4077 .046 -255 .55
p = .65 4036 6895 .044 -265 .65
p=.75 5512 11476 .044 -303 .75
p=.85 7260 18823 .047 -366 .85
MGP ((12.96) 1661 2105 .073 -335 42

Table 12.9: Scenario in Table p denotes the fraction in the stock index, with yearly rebalancing. Wrp
denotes real terminal wealth after 45 years, measured in thousands of dollars. Statistics are based on 100, 000
bootstrap resamples of the historical data, blocksize 2 years. The historical data is from the CRSP stock
index 1926 : 1 — 2017 : 12. The bond index is the the 30-day Tbill returns over the same period. Both
indexes are deflated using the CPI index, so all results are in real dollars. “MGP” refers to the model glide

path, in equation (12.96)).

e Probability of exhausting savings, i.e. Pr[Wr < 0]. Actuaries call this the probability of ruin.

e Conditional value at risk, denoted by CVAR(x). This is the mean of the worst x% of outcomes. In our
case, we will consider a CVAR at the 5% level. This tells us, in the event that the strategy has poor
results, how bad the result is, on average. This is a bit more informative than simply looking at the
probability of ruin.

12.5.5 Bootstrap results

Tablecompares the bootstrapped results for various strategies. Note that the glide path (MGP) strategy
is not better than a constant weight strategy. This is consistent with the theoretical results in Section
Note that CVAR at the 5% level is negative, which means that if Bob lives for 30 years, then there is a
non-negligible chance that he will run out of savings. However, if Bob has other assets, i.e. a residential
property, then this risk can be hedged by using (if necessary) a reverse mortgage on this asset. A reasonable
risk management approach here is to set the withdrawal rate so that the CVAR risk is less than the value of
Bob’s real estate assets.

Figure shows the percentiles of wealth (as a function of time) for the model glide path (MGP) as
in equatio7 and for the p = .45 case. Both strategies fail (run out of savings) before the end of the
retirement phase at the fifth percentile.

Figure [12.9] shows the percentiles of wealth for the aggressive strategy of a constant weight p = .75 to
and through retirement. Rather surprisingly, in this case the strategy does not fail at the fifth percentile.
However, the CVAR(5%) risk is worse in this case, compared to the p = .45 case. This indicates that simply
looking at probability of ruin does not give an entire picture of the strategy. From a probability of ruin
metric, p = .75 looks superior to p = .45, but this is not reflected in the CVAR(5%) statistic (see Table
12.9)).

12.6 Maximizing Sharpe ratios

The ubiquitous Sharpe ratio is a commonly used measure of investment performance. However, the Sharpe
ratio is prone to manipulation. Any strategy which includes non-linear payoffs (e.g. options) can produce an
apparent outperformance (Dybvig and Ingersoll, [1982; [Lhabitant, [2000; Goetzmann et al., 2002). As noted
in (Spurgon, [2001), selling off the right side of the terminal wealth distribution can improve the Sharpe ratio.
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Figure 12.8: Scenario in Table Statistics based on 100,000 bootstrap resamples of the historical
market returns. Blocksize 2 years.

Such a strategy is easily implemented by owning the underlying asset and selling out of the money calls on
the asset (covered call writing).

Of course, in a complete market, options can be replicated by dynamically trading stocks and bonds.
Consequently any portfolio containing options is equivalent to a dynamic trading strategy. Hence Sharpe
ratios can be maximized by using optimal stochastic control techniques, coupled with a suitable objective
function. An interesting corollary to this observation is the use of stochastic control in fraud detection
(Bernard and Vanduffel, 2014)).

Let r be the risk-free return, and T be the investment horizon. W; is the wealth of a portfolio at time t.
The continuously compounded Sharpe ratio is then defined as

- E[WT] — WQETT

] (12.97)

where E[-] is the expectation, and std[-] is the standard deviation. Note that S is defined in terms of the
terminal wealth and standard deviation at time 7' (Lhabitant], [2000; (Goetzmann et al.| 2002 [Bernard and
Vanduffel, [2014), in contrast to the instantaneous Sharpe ratio, which is defined in terms of averaging short
period returns. Clearly, if we are examining dynamic trading strategies, it does not make sense to average
short period returns in [0, T7].

Consider a market containing a stock index and a risk-free bond. Let the amount invested in the stock
index be S, and the amount in the risk-free bond be B;. We assume that

d

—St = pdt+odZ

Sy

dB;

— = dt 12.98
B, rdt ( )

where p is the stock drift rate, o is the volatility, and dZ is the increment of a Wiener process. Let p be the
fraction of the total portfolio W; invested in the stock. Assuming continuous rebalancing, then the process
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Figure 12.9: Scenario in Table Percentiles of wealth: p = .75. Statistics based on 100,000 bootstrap
resamples of the historical market returns. Blocksize 2 years. Source: author computations.

for Wy is
AW, ds, dB,
= _— 1 — _—
W pg tl-ppH
= (r+plp—r))dt+podZ . (12.99)

Given an initial investment Wy at t = 0, with terminal wealth Wy, we can pose the problem of determining
the optimal control p(W;,t),t € [0,T] in terms of a mean variance objective. Defining a scalarization
parameter x > 0, then the mean variance problem can be formulated as

sup E[Wr| — kVar[Wr] . (12.100)
p()

Varying » in equation (12.100]) traces out the efficient frontier. Problem (12.100) cannot be solved directly
using dynamic programming. From (Zhou and Li, [2000; Li and Ng| [2000)), we learn that we can determine
the control p(-) which maximizes objective function ((12.100)) by solving the alternative problem

i?gE[(W* - Wr)?, (12.101)
(-
where, by varying W*, we trace out the efficient frontier. Note that Problem [12.101f can be solved using
dynamic programmingﬂ

The optimal control for Problem [12.101]is given by (Zhou and Lil [2000; |Li and Ng} 2000} |[Vignal [2014))

o 5 * —r(T—t)
p = —UWt W*e W,

e=£—". (12.102)
o
Let W77 " denote the terminal wealth under strategy 1|12.102|). The efficient frontier is then given by the
straight line (Zhou and Li, 2000; Li and Ng| [2000))

) 1/2
E[WZP' = Woe'™ + <e5 T_ 1> std(WeP*y . (12.103)

5In (2014), it is shown that W; < W*, V¢t under the optimal control.
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Recall that varying W* will move us along the efficient frontier. From equations (12.97)) and ( [12.103)), the
optimal Sharpe ratio is

1/2
St = (eile) . (12.104)

On the other hand, suppose we rebalance to a constant weight, i.e. p = const. in equation ((12.99)). Let
WP denote the terminal wealth under a constant weight strategy p. Then we have

EWE] = WoePn=—)+rT
, 1/2
stdW2] = E[WZ)] (e<”P> T 1) : (12.105)

with Sharpe ratio

1 — e—P(p—)T

1/2
<e(UP)2T — 1)

fﬁ: (N—T)\/T

ag

P =

:T—0o0r p—0. (12.106)

Note that the continuously compounded Sharpe ratio is a function of p in general, and approaches the
instantaneous Sharpe ratio only in the limit as T — 0 or p — 0.
Let

, 1/2
BWE] = Woert 4 (o7 21) a7 (12.107)

This can be interpreted as follows. Given a constant weight strategy with equity fraction p, which generates
std(WP), then E[W "] is the expected terminal wealth under control which has the same the
standard deviation std(WW7) (this follows from equation ).

A convenient way to compare these strategies is through the apparent annualized «, which we define as

log(E[W 7)) — log(E[WP])

o = T , (12.108)

which is the extra annualized expected return generated by strategy compared to the constant
weight strategy with equity fraction p, given that both strategies have the same risk, as measured by
standard deviation. Consistent with |(Goetzmann et al| (2002)), we term of the apparent «, since there
is no stock-picking skill involved here, merely use of a dynamic control.

12.6.1 Numerical Examples

We use data from the Center for Research in Security Prices (CRSP) on a monthly basis over the 1926:1-
2019:12 periodﬂ Our base case tests use the CRSP 30 day T-bill for the bond asset and the CRSP value-
weighted total return index for the stock asset. This latter index includes all distributions for all domestic
stocks trading on major U.S. exchanges. All of these various indexes are in nominal terms, so we adjust
them for inflation by using the U.S. CPI index, also supplied by CRSP. Maximum likelihood fits to the data
are given in Table [12.10}

6More specifically, results presented here were calculated based on data from Historical Indexes, ©2020 Center for Research
in Security Prices (CRSP), The University of Chicago Booth School of Business. Wharton Research Data Services was used in
preparing this article. This service and the data available thereon constitute valuable intellectual property and trade secrets of
WRDS and/or its third-party suppliers.
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w0822 | W,y 1000
o .1842 T 5.0 years
r .0044 | Data CRSP

Table 12.10: Estimated annualized parameters for processes (12.98)), annualized. Value-weighted CRSP
index, 30 day T-bills, deflated by the CPI. Sample period 1926:1 to 2019:12.
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Figure 12.10: Wy = 1000, T' = 5 years. Parameters based on CRSP inflation adjusted data, 1926:1-2019:12.

In Figurewe compare the efficient frontiers for the optimal strategy compared to a constant
weight strategy, and the annualized o as determined by equation . We determine points on the
efficient frontier by varying W* in equation and varying the constant weight p in equation
The frontiers are shown using the data in Table [I2.10] with W = 1000 and 7' = 5 years.

Figure[12.10]shows that the dynamic strategy impressively outperforms a constant weight strategy. How-
ever, this is somewhat misleading. The optimal control is unconstrained, which allows for infinite
leverage and borrowing if insolvent.

A rigorous solution of Problem with no-shorting and no-leverage constraints requires numerical
solution of a Hamilton-Jacobi-Bellman (HJB) equation Wang and Forsyth| (2010). However, it is more
instructive for our purposes to approximate the constrained control using the approach in|[Vignal (2014)). We
constrain the unconstrained control so that there is no-shorting and no-leverage.

. € (Wwre—r@- _yw

= T —
b o, \ € t

p = max(0.0, min(p*,1.0)) . (12.109)

The apparent «, using equation for various values of the constant weight control is shown in Figure
12.11} This curve was computed using Monte Carlo simulation of the wealth process , using 300
timesteps and 64 x 10 simulations. The constraints force a to zero for p = 0 and p = 1.0. The maximum «
occurs when the benchmark strategy has constant weight p ~ 0.6.

Remark 2 (Pre-commitment policy) Strategy|12.109 is the pre-commitment solution, which is not nec-
essarily time consistent. In other words, the investor may have an incentive to deviate from the optimal
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Figure 12.11: Constrained control (12.109)), no-shorting, no leverage. Wy = 1000, T' = 5 years. Parameters
based on CRSP inflation adjusted data, 1926:1-2019:12.

policy determined at time zero at later times. Hence, some authors have labelled pre-commitment polices as
non-implementable. However, consider the the case of a retail investor, who purchases a financial product
from a financial institution. The investor does not trade herself (in the assets underlying the product) during
the lifetime of the contract. Performance of the is product is evaluated in terms of the attainment of goals de-
vised at the inception of the contract. Hence the pre-commitment policy is appropriate in this case.(Bernard
and Vanduffel, |2014|)

Remark 3 (Pre-commitment strategies equivalence to induced time consistent strategy) The con-
trol is formally the pre-commitment policy. However, the the time zero strategy based on the pre-
commatment policy solution of Problem[12.100 identical to the strategy for an induced time consistent policy,
hence is implementablem The induced time consistent strategy in this case is a target based shortfall, Problem
with a fized value of W* ¥t > 0. The concept of induced time consistent strategies is discussed in
Strub et al.| (2019). The relationship between pre-commitment and implementable target based schemes in
the mean-variance context is discussed in|Vignd (2014) and|Menoncin and Vigna (2017).

In the complete market case, dynamic trading in the stock and bond is equivalent to using options in
the trading strategy. Hence, even if options are not directly including in, for example, strategy ,
this is clearly equivalent to use of derivatives. Hence, we can think of any financial product which employs
a dynamic trading strategy as a structured product. In the presence of constraints, the market may not
be complete. However, with some abuse of common terminology, we will refer to such packaged investment
vehicles as structured products, even if the market is incomplete.

12.6.2 Deficiencies of mean-variance (Sharpe ratio) criteria

The apparent « generated by a mean-variance optimal strategy comes about from skewing the terminal
wealth distribution. The right side of the distribution is cut-off (eliminating very large gains), and at the
same time, an increase in left tail risk occurs|Lhabitant| (2000); |Goetzmann et al.| (2002); Forsyth and Vetzal
(2017albl 2019). This can also be viewed as a natural consequence of the control , which increase
the weight in stocks when wealth decreases, and decreases wealth in stocks when wealth increases, i.e. buy
when the market goes down, sell when the market goes up. This has the implication that the investor is
fully invested in bonds after stocks do well, and will not participate in further gains. On the other hand, the
investor increases holdings in stocks when stocks perform poorly. This has the consequence that poor results

7An implementable strategy has the property that the investor has no incentive to deviate from the strategy computed at
time zero at later times (Forsythl [2020)).
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can be expected if the market trends downward over the entire investment horizon. This will generate a
worse result than a constant weight strategy, which has at least some proportion of wealth always invested in
bonds. The opposite is true at large values of wealth. In this case, the optimal strategy is always in invested
in bonds, while the constant weight strategy has some investment in stocks, and can participate in further
stock gains.

In summary, we can see that a major problem with dynamic mean-variance (Sharpe ratio maximizing)
strategies is that variance is a symmetric risk measure, which penalizes upside as well as downside. An easy
way to improve Sharpe ratios is to sell off the upside, which trivially reduces variance. On the other hand,
somewhat counterintuitively, the extreme left tail of the distribution is worse compared to the benchmark
constant weight strategy.

Note that in some cases, an asset allocation strategy based on objective function , see for example
Forsyth and Vetzal| (2019]), may be desirable, based on the CDF of the final wealth distribution. We emphasize
that mean-variance (i.e. Sharpe ratio) criteria are not particularly informative when dealing with dynamic
trading strategies, or, equivalently, portfolios containing options.

12.7 Capitalization Weight vs. Equal Weighted Indexes

Nowadays, most retail customers buy index exchange traded funds (ETFs). A good portfolio for a Canadian
investor, for example, could be constructed using

e A domestic index portfolio (T'SX 60)
e A US stock index (S&P 500)

e An ex-North America index

e A domestic bond index

Of course, the trick is to try to optimally allocate wealth between these four indexes. A simple strategy
is to choose constant weights, and rebalance to those weights at yearly or quarterly intervals.

Most standard ETFs use a capitalization (cap) weighted index. In other words, the proportion of each
stock in the index is just the market capitalization of that stock divided by the total stock market capital-
ization. If there are no complications such as companies going bankrupt, or new companies being added to
the index, then an advantage of a cap weighted index is that once it is set up, very little trading is required
(e.g. reinvestment of dividends).

But there are many other possible ways to construct an index. We are going to look at an equal weighted
index, compared to the usual cap weighted index.

There are two interesting papers on this topic:

1. “Why does an equal-weighted portfolio outperform value-and price-weighted portfolios?” Y. Plyakha,
R. Uppal, G. Vilkov, (2012) SSRN 2724535.

2. “Why has the equal weight portfolio underperformed and what can we do about it? B. H. Tljaard and
E. Mare, Quantitative Finance 21:11 (2021)

Paper [1] (Plyakha et al, 2012) suggests that equal weight indexes outperform cap weighted indexes over
the long term. However, paper [2] (Tljaard et al, 2021) does not disagree, but suggests that the equal weight
index may underperform for short periods, in particular, the last decade.

12.7.1 Stochastic Dominance

How do we compare the performance of various investment strategies, or indexes? Simplistic measures are
things like mean, variance and Sharpe Ratio. However, these are just a few summary statistics of investment
performance. We would like to look at the entire probability distribution function for each strategy.
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Suppose we have an investment strategy, which, starting at time zero, generates wealth W at time T'. Of
course, in the real world, W is a random variable, with probability density p(W). The cumulative distribution
function F(W) is given by

w
F(W) = / p(W') dW’ . (12.110)

— 00

If Wr is a possible value of wealth at time 7', then we can interpret the CDF as
Prob(Wr <W) = F((W), (12.111)

that is, F/(W) is the probability that we end up with less than W dollars. Suppose we would like to obtain
a final wealth of W* dollars. Then, we would like F(W™*) to be as small as possible, i.e. the probability of
ending up with less than W* is very small, which is what we want.

Figure shows the cumulative distribution functions of the final wealth W, for two investment
strategies, A and B, which we denote by F4 (W) and Fg(W). Consider the point on the x-axis W = 10, 000.
We can see that for strategy A, the probability of obtaining less than 10,000 is 0.6, while for strategy B, the
probability of obtaining less than 10,000 is 0.86. Hence, if we want to have a strategy which minimizes the
probability of obtaining less than 10,000, we would prefer strategy A. However, note that for Figure [2.12]
we have that

FAW)<Fg(W); —oc0o<W <0 (12.112)

and there is at least one point W such that FA(W) < Fp (W), i.e. a point where equation holds
with strict inequality. In fact, in Figure the strict inequality holds for many points. So, we can repeat
the argument we went through for W = 10,000 for every value of W along the x-axis. In other words, for
every value of W strategy A has a smaller probability of ending up with less than W compared to strategy
B.

In this case, we say that strategy A stochastically dominates (in the first order sense) strategy B. Any
reasonable investor (i.e. with any reasonable utility function) would always prefer strategy A to strategy B.
Note that this criteria is based on the entire distribution function, not just a few summary statistics. First
order stochastic dominance is easy to spot from the CDFs. If the CDF of strategy A always plots at or
below the CDF of strategy B, then A dominates B.

However, in practice, given two reasonable strategies, it is rare to find that one strategy dominates
another. Often the CDFs cross at various points. For example, Figure shows CDFs for various
strategies. Each of these strategies is reasonable, yet no strategy strictly stochastically dominates another
strategy, which would be typical.

This leads us to the definition of partial stochastic dominanceﬂWe say that strategy A partially dominates
strategy B if

FA(W) < Fg(W); —co<W <W*. (12.113)

This a practical criteria: if W* is quite large (i.e. we would be fabulously wealthy if Wr > W*), then we
really don’t care if strategy A underperforms B for these large wealth values, as long as A outperforms B
for all values of Wp < W*. We are very happy with any amount larger than W*.

We can generalize this a bit more. We can say that A partially dominates B if

Fa(W) < Fg(W); W<W<W*. (12.114)

We have just explained why the upper bound can be a reasonable criteria for partial stochastic dominance.
However, at first sight it seems foolhardy to also apply a lower bound criteria W. This means that we allow
A to have a worse performance than B in the left tail, where results are bad.

8see On the Distribution of Terminal Wealth under Dynamic Mean-Variance Optimal Investment Strategies, P. M. van
Staden, D-M. Dang, P. A. Forsyth, STAM Journal on Financial Mathematics 12:2 (2021) 566—603.
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Figure 12.12: Tlustration of first order stochastic dominance. Cumulative distribution functions for two
strategies, in terms of final wealth W. Strategy A stochastically dominates strategy B (in the first order
sense). Any reasonable investor would always prefer strategy A.

'F Constant
09F Proportion
g (p=0.4)

0.8 a3
o7f

o
=

Prob(W, < W)
o
(6]

oS ¢
IS
T

| Mean CVAR

Mean CVAR
03F Time Cons. Precommitment
o2f
o1
ok et IR ETREE B
0 400 800 1200 1600 2000
W (Thousands)

Figure 12.13: Comparison of CDFs for various strategies. Note that in general, the CDFs cross, and we do
not observe strict stochastic dominance. See P. A. Forsyth, “Multi-period mean-CVAR asset allocation: is
it advantageous to be time consistent?,” STAM Journal on Financial Mathematics 11:2 (2020) 358-384.

However, sometimes this can be reasonable. Suppose we start off with an initial wealth of 1000, and
that strategy A has Med[Wr] = 10,000, which looks quite good. Suppose condition is satisfied with
W =10 and W* = 50,000. We don’t care what happens if we start off with 1000 and end up with more
than 50, 000.

However, A underperforms B in the left tail where W7 < 10. These are the scenarios where essentially
everything has turned bad. We started with 1000, and after years of investing, we are left with only 10.
Basically, we are bankrupt. Under strategy A, perhaps our probability of having, say, five dollars or less, is
twice the probability of strategy B having five dollars or less. So, strategy A has twice the probability of
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being in this extreme left tail compared to strategy B. This sounds bad. But this is all peanuts compared to
our original stake of 1000. So, perhaps in this case, we don’t care about the extreme left tail either. The fact
that in these bad cases, we are more likely to end up with two cents in our pocket from strategy B compared
to one cent from strategy A is cold comfort.

12.7.2 Expected Shortfall
If F(W) is the cumulative distribution function of Wr, with density p(W), then suppose we select a value
W such that
w
F(W) = / p(W)dW' =a; 0<a<1 (12.115)

We define the expected shortfall at level o (ES(a)) as

w / / ’
ES(a) = f_OOW pa(W)dW , (12.116)

which is just the mean of the worst « fraction of outcomes. Note that this is essentially the negative of the
Conditional Value at Risk (CVAR). Since W is the final wealth, a larger value of ES(«) is better. This is
measure of left tail risk.

12.7.3 Data

We are going to compare an equal weight index with a capitalization based index. We will use the Center
for Research in Securities (CRSP) capitalization weighted total return index (includes all dividends and
distributions) ﬂ Similarly, we will also use the CRSP equal weighted index. The equal weighted index has
an equal amount invested in all stocks in the index. This index is rebalanced back to equal weights monthly.
The CRSP data covers the range 1926.00 - 2022.00. We use the monthly data for both series. For the bond
indexes, we consider two cases: a constant maturity 10-year US treasury index EL and a short term 30 day
US T-bill index E These indexes are also for monthly data. We adjust all the indexes for inflation, by
dividing by the CPI (also from CRSP). In other words, all investments are in real dollars.

Note that the 10-year Treasury index was constructed by (i) buying a 10 year treasury at the start of
every month, (ii) selling the 10-year treasury at the start of the next month, and then (iii) immediately
buying a fresh 10 year treasury. The return over the month includes interest and capital gains/losses, all in
constant dollars.

12.7.4 Scenario

In order to model a realistic scenario, we consider an investor who has a portfolio of 60% in the equity index,
and 40% in a bond index. The investor rebalances the investments in the stock and bond index, back to
the 60 : 40 ratio once a year. The investor starts with 1000, with no injection or withdrawals of cash over
the investment horizon, and we examine the statistics of the terminal wealth W at T = 30 years. We
will consider a long term 30 year investment strategy, since this would be typical of an investor saving for
retirement.

9More specifically, results presented here were calculated based on data from Historical Indexes, ©2022 Center for Research
in Security Prices (CRSP), The University of Chicago Booth School of Business. Wharton Research Data Services (WRDS)
was used in preparing this article. This service and the data available thereon constitute valuable intellectual property and
trade secrets of WRDS and/or its third-party suppliers.

10The 10-year Treasury index was constructed from monthly returns from CRSP back to 1941. The data for 1926-1941 were
interpolated from annual returns in Homer and Sylla, “A history of interest rates,” (2005).

11The 30 day T-bill index was obtained from CRSP
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12.7.5 Bootstrap results

We will compare the equal weighted index to the captilization weighted index, using stationary block boot-
strap resampling of the data for the period 1926.00-2022.00 |E| This approach for evaluating investment
policies is entirely data driven E We use the standard algorithnﬂ for estimating the optimal expected
blocksize for each series. The bootstrap procedure concatenates randomly selected blocks of data to account
for possible serial correlation. We use the average of the optimal expected blocksize for each individual time
series, and then simultaneously draw samples from the stock and bond indexes.

Figure [12.14] compares using the cap weighted CRSP index compared to the equal weighted index, in
terms of the CDF's for both strategies. The bond index is a constant maturity 10 year US treasury index.
Figure shows that the portfolio with the equal weighted stock index clearly stochastically dominates
the portfolio with the capitalization weighted stock index. This is a somewhat surprising result, but is
consistent with some previous work.
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Figure 12.14: Initial stake W = 1000, no cash injections for withdrawals, 7" = 30 years. Block bootstrap
resampling, expected blocksize 0.5 years. 60% stocks, 40% bonds, rebalanced annually. Bond index: constant
maturity 10 year US treasuries. Stock index: CRSP capitalization weighted or CRSP equal weighted index.
Data range 1926.00 - 2022.00. All indexes are deflated by the CPI. 105 resamples.

The cumulative, continuously compounded Sharpe ratio is defined as

- E[WT] — WoeTT

where r is the risk-free rate. Note that equation should not be confused with the usual instantaneous
Sharpe ratio, which is estimated using average short term arithmetic returns. In our case, since we carry out
annual rebalancing, the equity fraction between rebalancing dates is not constant, so the usual procedure
does not make sense.

Since we are examining real (adjusted for inflation) quantities, there is no real risk-free asset. However,
the annualized real return of a 30-day T-bill over the entire historical period is approximately zero. Using

12D, Politis and J. Romano, “The Stationary Bootstrap”, Journal of the American Statistical Association, 89 (1994) 1303-
1313.

13H. Dichtl, W. Drobetz, M. Wambach, “Testing rebalancing strategies for stock-bond portfolios across different asset allo-
cations,” Applied Economics 48 (2016) 772-788.

14 A, Patton, D. Politis, H. White, “Correction to: automatic block-length selection for the dependent bootstrap,” Econometric
Reviews 28 (2009) 372-375.
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Equal Weight Cap Weight

E[Wry] 12546 6237
std[Wr] 15664 4639
Med[Wr] 8122 5016
ES(5%) 1431 1280
S 0.73 1.13

Table 12.11: Initial stake Wy = 1000, no cash injections for withdrawals, T' = 30 years. Block bootstrap
resampling, expected blocksize 0.5 years. 60% stocks, 40% bonds, rebalanced annually. Bond index: constant
maturity 10 year US treasuries. Stock index: CRSP capitalization weighted or CRSP equal weighted index.
Data range 1926.00 - 2022.00. All indexes are deflated by the CPL. ES(5%) is the mean of the worst 5% of
the outcomes. S is the continuously compounded Sharpe ratio, as defined in equation .

this value of 7 = 0 in equation we obtain the results shown in Table Even though we have
seen that the equal weight portfolio dominates the cap weighted portfolio, the continuously compounded
Sharpe ratio for the equal weight 60:40 portfolio is actually worse (smaller) than for the 60:40 cap weighted
portfolio.

This is essentially because standard deviation is a poor measure of risk, since it penalizes upside as well
as downside. The equal weighted index generates a much bigger right skew compared with using the cap
weighted index. Most investors would prefer a large right skew, which is penalized by the standard deviation.
The left tail risk, as measured by ES(5%) is larger (better) for the equal weighted portfolio. This is consistent
with our intuition from Figure [12.14

Figure and Table show similar results for 60:40 portfolios, this time the bond index is based
on 30-day T-bills. The results are qualitatively similar to the 10 year treasury case.
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Figure 12.15: Initial stake W = 1000, no cash injections for withdrawals, 7" = 30 years. Block bootstrap
resampling, expected blocksize 2.0 years. 60% stocks, 40% bonds, rebalanced annually. Bond index: 30 day
US T-bills. Stock index: CRSP capitalization weighted or CRSP equal weighted index. Data range 1926.00
- 2022.00. All indexes are deflated by the CPI. 10° resamples.

However, more recent papers suggest that equal weighted portfolios have underperformed. Figure|12.16

shows the bootstrap results, for the 60:40 equal and cap weighted portfolios, using data in the range 1980.00-
2022.00. The bond index is based on 30 day T-Bills. In this case, the use of the equal weighted portfolio
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Equal Weight Cap Weight

E[Wry] 9058 4877
std[Wr] 8653 3091
Med[Wr] 6726 4135
ES(5%) 1484 1184
S 93 1.25

Table 12.12: Initial stake Wy = 1000, no cash injections for withdrawals, T' = 30 years. Block bootstrap
resampling, expected blocksize 2.0 years. 60% stocks, 40% bonds, rebalanced annually. Bond index: 30 day
US T-bills. Stock index: CRSP capitalization weighted or CRSP equal weighted index. Data range 1926.00
- 2022.00. All indexes are deflated by the CPI. ES(5%) is the mean of the worst 5% of the outcomes. S is
the continuously compounded Sharpe ratio, as defined in equation .

still stochastically dominates the cap weighted portfolio, but the effect is very small. Table [12.13] gives some
additional statistics for the past two decades. It appears that the equal weighted portfolio underperforms
for the past decade.
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Figure 12.16: Initial stake Wy = 1000, no cash injections for withdrawals, T" = 30 years. Block bootstrap
resampling, expected blocksize 2.0 years. 60% stocks, 40% bonds, rebalanced annually. Bond index: 30 day
US T-bills. Stock index: CRSP capitalization weighted or CRSP equal weighted index. Data range 1980.00
- 2022.00. All indexes are deflated by the CPIL. 10° resamples.

How can we explain this? The Tljaard et al (2021) paper suggests that this is a short term effect.
However, an equal weighted index will obviously put a lot more weight on small cap stocks, compared to a
capitalization weighted index. Years ago, it was noted that small cap stocks seemed to perform better than
you would expect. In fact, small cap portfolios were one of the original factors in the Fama-French three
factor model of stock returns

A reasonable explanation for the small cap effect would be that analysts ignored small cap stocks, so
nobody was really following them. This allowed skilled stock pickers to do better than you would expect
(a market imperfection). This was first noted in E The usual assumption in academic finance is the no

15E. F. Fama, K. R. French, “The cross section of expected stock returns,” Journal of Finance 47:2 (1992) 427-465.
16see ”The relationship between return and market value of common stocks”, R. Banz, Journal of Financial Economics 9:1
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Data series Annualized Return  Annualized Return
2012.00-2022.00 2002.00-2022.00

Real CRSP cap weighted index 11.79% 6.72%
Real CRSP equal-weighted index 8.78% 7.58%
Real 10 year US treasury index 1.61% 2.33%
Real 30-day US T-bill index -1.58% -1.33%

Table 12.13: Recent historical real returns of CRSP equal and cap weighted stock indexes (100% stocks, no
bonds). Also, the return of the 10 year treasury index and the 30-day T-bill index (0% stocks, 100% bonds).

arbitrage principle, i.e. no free lunch. If the equal weight index outperformance is simply due to the small
cap effect, then, once everyone knows about it, the effect will disappear (i.e. arbitraged away). So, if we
look at the bootstrap results from 1980.00, we see a much smaller effect than on the entire data set from
1926.00. The classic small cap effect paper was published in 1981. Is this just a coincidence?

12.7.6 What about taxes and distributions?

Note that the above indexes assumed that any distributions (e.g. dividends) were immediately reinvested.
In addition, the equal weighted portfolios are re-balanced monthly (back to equal weights). The dividends
and capital gains are usually subject to taxation. This is clearly not a problem if the portfolio is held in a
tax advantaged account, such as an RRSP or TFSA in Canada, or a 401(k) in the US.

However, in a taxable account, how realistic is the assumption that all taxes on gains are deferred? In
Canada, there are swap based index ETFs, which do not distribute any dividends. Effectively, all dividends
are reinvested and tax deferred until the ETF is sold.

It is also interesting to note that in the US, it is perfectly legal for ETFs to use heartbeat transactions,
which essentially defer taxes on any gains from rebalancing. El

12.7.7 Summary: equal weight vs. cap weight

Bootstrap resampling using long term data 1926.00 - 2022.00, shows that equal weighted indexes stochas-
tically dominate cap weighted indexes. However, if we repeat the experiment, this time using data in the
range 1980:00 - 2022:00, the effect almost disappears. Is this a permanent effect, or are the last 40 years
anomalous? Certainly, the last 40 years have had very low inflation, and declining interest rates, which is
historically unusual, and perhaps provided a tailwind for large cap tech stocks. On the other hand, maybe
the small cap effect has actually disappeared, now that there is a large literature on this.

Maybe the answer is to equal weight the cap weight and equal weighted indexes?

(1981) 3-18.
https://www.bloomberg.com/graphics/2019-etf-tax-dodge-lets-investors-save-big/
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13 Further Reading

13.1 General Interest

e Peter Bernstein, Capital Ideas: the improbable origins of modern Wall street, The Free Press, New
York, 1992.

e Peter Bernstein, Against the Gods: the remarkable story of risk, John Wiley, New York, 1998, ISBN
0-471-29563-9.

e Benjamin Graham, The intelligent investor, various editions. Warren Buffet’s bible. There is a Collins
edition, of the 1973 version, with commentary by Jason Zweig.

e Burton Malkeil, A random walk down Wall Street, W.W. Norton, New York, various editions.

N. Taleb, Fooled by Randomness, Texere, 2001, ISBN 1-58799-071-7.
e S. Das, Traders, Guns and Money, Prentice Hall, 2006.
e N. Taleb, The black swan, Random House, 2007.

13.2 More Background

e A. Dixit and R. Pindyck, Investment under uncertainty, Princeton University Press, 1994.

John Hull, Options, futures and other derivatives, Prentice-Hall, 1997, ISBN 0-13-186479-3.

S. Ross, R. Westerfield, J. Jaffe, Corporate Finance, McGraw-Hill Irwin, 2002, ISBN 0-07-283137-5.

W. Sharpe, Portfolio Theory and Capital Markets, Wiley, 1970, reprinted in 2000, ISBN 0-07-135320-8.
(Still a classic).

Lenos Triegeorgis, Real Options: Managerial Flexibility and Strateqy for Resource Allocation, MIT
Press, 1996, ISBN 0-262-20102-X.

13.3 More Technical

e P. Brandimarte, Numerical Methods in Finance: A Matlab Introduction, Wiley, 2002, ISBN 0-471-
39686-9.

Boyle, Broadie, Glassermman, Monte Carlo methods for security pricing, J. Econ. Dyn. Con., 21:1267-
1321 (1997)

P. Glasserman, Monte Carlo Methods in Financial Engineering, Springer (2004) ISBN 0-387-00451-3.

D. Higham, An Introduction to Financial Option Valuation, Cambridge (2004) ISBN 0-521-83884-3.
e P. Jackel, Monte Carlo Methods in Finance, Wiley, 2002, ISBN 0-471-49741-X.
e Y.K. Kwok, Mathematical Models of Finance, Springer Singapore, 1998, ISBN 981-3083-565.

S. Neftci, An Introduction to the Mathematics of Financial Derivatives, Academic Press (2000) ISBN
0-12-515392-9.

R. Seydel, Tools for Computational Finance, Springer, 2002, ISBN 3-540-43609-X.

D. Tavella and C. Randall, Pricing Financial Instruments: the Finite Difference Method, Wiley, 2000,
ISBN 0-471-19760-2.

140



e D. Tavella, Quantitative Methods in Derivatives Pricing: An Introduction to Computational Finance,
Wiley (2002) ISBN 0-471-39447-5.

e N. Taleb, Dynamic Hedging, Wiley, 1997, ISBN 0-471-15280-3.

e P. Wilmott, S. Howison, J. Dewynne, The mathematics of financial derivatives: A student introduction,
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